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Chapter - 1

Accounting for Partnership
FIRMS - Fundamentals

SOLVED PRACTICAL PROBLEMS
. 1. In the absence of Partnership Deed, what are the rules relating to

(@) Salaries of partners, (b) Interest on partners’ capitals,

(c) Interest on partners’ loan, (d) Division of profit and

(e) Interest on partners’ drawings ?

. (a) Not allowed, (b) Not allowed, (c) 6% per annum, (d) Equal, (e) Not
allowed

-2. Following differences have arisen among F, Q and R. State who is correct
in each case:

(@) P used T 20,000 belonging to the firm and made a profit of T 5,000. Q
and R want the amount to be given to the firm?
(b) Q used¥ 5,000 belonging to the firm and suffered a loss of ¥ 1,000. He
wants the firm to bear the loss?
(c) P and Q want to purchase goods from A Ltd., R does not agree?
(d) Q and R want to admit C as partner, P does not agree?
Ans. (a) P must pay X 25,000; (b) Q must pay ¥ 5,000;
(¢) Goods may be bought from ALtd; (d) Ccannotbe admitted;

A, B and C are partners in a firm. They do not have a Partnership Deed.
Lﬁe::d of the first year of the commencement of the firm, they have faced the

g problems—
) A wants that interest on capital should be allowed to the partners but B
and C do not agree.

(b) B wants that the partners should be allowed to draw salary but A and C

do not agree.

) C wants that the loan given by him to the firm should bear interest @
10% p.a. but A and B do not agree.

A and B having contributed larger amounts of capital, desire that the
profits should be divided in the ratio of their capital contribution but C does not
agree.

tate how you will settle these disputes if the pariners approach you for the
purpcse.

. (a) A’s claim is not accepted,

) B’s claim is not accepted,
; ‘jc) C's claim is not accepted only 6% p.a. should be allowed by way of interest
on loan, .

Profits or losses should be distributed among the partners equally. The claim,
made by A and B is not accepted.

. 4. Jaspal and Rosy were pariners with capital contribution of T 10,00,000
and K 5,00,000 respectively. They do not have a partnership deed. Jaspal wants

At
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“\that profits of the firm should be shared in their capital ratio. Rosy convinced
Jaspal that profits should be shared equally. Explain how Rosy would have

convinced Jaspal for sharing the profit equally.
ol. In the absence of partnership deed, According to Indian partnership Act,
1932, Profit should be shared equally.

. 5. Harshad and Dhiman are in partnership since 1st April, 2017. No
parinership agreement was made. They contributed T 4 ,00,000 and 1,00,000
respectively as capital. In addition, Harshad advanced an amount of ¥ 1,00,000
to the firm on 1st October, 2017. Due to long illness, Harshad could not participate
in business activities from 1st August to 30th September, 2017. The profit for the
year pnded 31st March, 2018 amounted to ¥ 1,80,000. Dispute has arisen between
H d and Dhiman,

Harshad Claims
i) He should be given interest @ 10% per annum on capital and loan;
i) Profit should be distributed in proportion of capital;
Dhiman Claims
i) Profits should be distributed equally;
(1) He should be allowed ¥ 2,000 p.m. as remuneration for the period he
d the business in the absence of Harshad;
(i) Interest on Capital and loan should be allowed @ 6% p.a.
ou are required to settle the dispute between Harshad and Dhiman. Also
pre Profit and Loss Appropriation Account.
ol. Woking Note—In the absence of partnership agreement
(i) Interest on pariner's Loan will be allowed at 6% p.a.
(#) Profit should be shared equally.
Profit and Loss Appropriation A/c

Dr. as on March 31, 2018 Cr.
Particulars ¢ Particulars (4

To Appropriation of Net By Profit & Loss A/c

Profit:[in1:1] (Net Profit for the Year)

Harshad 88,500 1,80,000

Dhiman 88,500{ 1,77,000| Less: Int. on Harish Loan 3,000 | 1,77,000

[1,00,000 x 6% (6/12)]
Total 1,77,(][]0[ Total 1,77,000

Q. 6. A and B are partners from 1st April, 2017, without a Parinership Deed
and they introduced capitals of ¥ 35,000 and T 20,000 respectively. On 1st October,
2017} A advances a loan of T 8,000 to the firm without any agreement as to interest.
The Profit and Loss Account for the year ended 31st March, 2018 shows a profit
of T 15,000 but the partners cannot agree on payment of interest and on the basis
of division of profits.

ou are required to divide the profits between them giving reasons for your.

meﬂ%md.

- |



Profit & Loss Appropriation Account % ]
Particulars 3 Particulars =

To Interest on A’s Loan By Profit for the year 15,000

800&] x'6% x 6/12 240
To Net Profits trans. to Cap. A/c

A =14,760/2 = 7380

B =114,760/2 = 7380 14,760 .

15,000 15,000

Q. 7. A and B are partners in a firm sharing profits in the ratio of 3 : 2. They
had advanced to the firm a sum of ¥ 30,000 as a Ioan in their profit-sharing ratio
of 1st October, 2017, The Parinership Deed is silent on interest on loans from
P . Compute interest payable by the firm to the partners, assuming the
firm éloses its books on 31st March.
Sol. According to the provision of the Indian Partnership Act, 1932 interest @
6% p;a. is payable on the amount of loan given by partners. In the present case
interest shall be payable for 6 months, i.e., from 1st Oct to 31st March next
Iﬁterest payable to A = 30,000 x 3/5 x 6/100 x 6/12 = ¥ 540
wterest payable to B = 30,000 x 2/5 x 6/100 x 6/12 =¥ 360
. 8. A and B are partners in a firm sharing profits equally. They had advanced
to the firm a sum of X 30,000 as aloan in their profit-sharing ratio on 1st October,
2017 e Partnership Deed is silent on the question of interest on the loan from
ers. Compute the interest payable by the firm to the partners, assuming the
flrm oses its books on 31st March each year,
1. Interest to Each Partner’s Loan = 30,000 x (1/2) x 6% % (6!12)
= T 450
Q.9.Xand Y are partners sharing 'profits and losses in the ratio of 2 : 3 with
" capitals of T 2,00,000 and ¥ 3,00,000 respectively. On 1st October, 2016, X and Y
granted loans of ¥ 80,000.and T 40,000 respectively to the firm. Show distribution
of profits/losses for the year ended 31st March, 2018 in each of the following
alternative cases—
Jase-1. If the profits before interest for the year amounted to ¥ 21,000
ase 2. If the profits before interest for the year amounted to ¥ 3,000
ase 3. If the profits before interest for the year amounted to ¥ 5,000
ase 4. If the loss before interest for the year amounted to ¥ 1,400
Sol. Case1:

Dr.  Profit & Loss Appropriation Account Cr.
Particulars L 4 Particulars L4
To Interest on Partners’ Loans By Profit for the year 21,000

X =80,000 6% x 6/12 =2,400
Y =40,000 x 6% = 6/12=1,200 | 3,600
To | Capitals A/c— Net Profit
X=17,400x 2/5=6,960 !
Y =17,400 x 3/5=10,440 17,400

21,000 21,000




_\5“;?3 Case2: ;g :
Dr. Profit & Loss Appropriation Account cn
' Particulars T Particulars tE 9
To Interest on Partners Loans By Profit for the year 3,000
X = 80,000 x 6% x 6/12 = 2,400 By Capitals A/c — Net Loss
Y =40,000 x 6% x 6/12=1,200 | 3,600 X =600 x 2/5 =240
' : Y =600 x 3/5=360 600
3,600 3,600
- Case3:
Dr. Profit & Loss Appropriation Account Cr.
Particulars (4 Particulars X
To Injterest on Partners’ Loans By Profit for the year 5,000
X = 80,000 x 6% x 6/12 =2,400
Y +40,000% 6% x 6/12=1,200 | 3,600
To Capitals A/c~ Net Profit
X =1,400 x 2/5 =560
Y=1,400=3/5=840 | 1,400
5,000 - 5,000
Case4:
Dr. Profit &Loss A/c Cr.
Particulars T Particulars T
To Balance b/d 1,400 By NetLossc/d
To Interest on Partners Lons x (5,000 = 2/5) 2,000
x 2400 ¥ (5,000 x 3/5) 3,000
y 1200 | 3,600 ,
Topal 5000| Total 5,000

Q. 10. Bat and Ball are Partners sharing profits in the ratio of 2: 3 with capitals
E ,20,000 and ¥ 60,000 respectively. On 1st October, 2017, Bat and Ball granted

of ¥ 2,40,000 and ¥ 1,20,000 respectively to the firm. Bat had allowed the
firm to use his property for business for a monthly rent of ¥ 5,000. The losses for

the year ended 31 March 2017, before any interest amounted to ¥ 9,000. Show

distribution of profit/loss.
Sol. : -
Dr. Profit & Loss Appropriation Account Cr.
- Particulars T Particulars [
To Loss during the year 9,000 ( By Capital A/c—Net loss
To Rent Paid (5,000 x 12) 6,000 ‘Bat=79,800x2/5= 31,920
To Interest on Loan Ball =79,800 < 3/5=47.880 | 19,800
Bat = 2,40,000 % 6% = 6/12 7,200
Ball =1,20,000 x 6% = 6/12 3,600
79,800 79,800




.11.A and B are partners. A’s capital is €1,00,000 and B’s Capital is ¥ 60,000, 4

% r—Q[
terest on capital is payable @ 6% p.a. B is entitled to a salary of T 3,000 per 3

month, Profit for the current year before interest and salary to B is ¥ 80,000.
Prepare Profit and Loss Appropriation Account.
Sol. .
Dr. Profit & Loss Appropriation Account Cr.
Particulars . < Particulars T
To Interest on Capital: By Net Profit b/d 80,000
A=1,00,000x6% =6,000
B= 62,000 x 6% =3,600 |. 9600
To B’s Salary = 3,000 x 12 36,000

To Capital A/c - Net Profit:
A =34,400 x % =17,200

B=34,400x % =17,200 34,400
80,000 80,000
Q.[12. X, Y and Z are pariners in a firm sharing profits in 2 : 2 : 1 ratio. The

The Partnership Deed provides that interest on capital is to be allowed @ 10%
p-a. Accordingly, interest on capitals is ¥ 50,000, T 50,000 and T 25,000 re5pechvely

Zisto
ended

be allowed a salary of 2,000 per montli. The profit of the firm for the year
31st March, 2018 after debiting Z's salary was ¥ 4,00,000.

Prepare Profit and Loss Appropriation Account.

So
Dr.

I
Profit & Loss Appropriation Account Cr.

Particulars Particulars 4

To Interest on Capital By Profit for the year 4,00,000

X=5
Y=5
Z=2
et

=]
< ¥ O
nZmn

2
2
2

I

Z

00,000 x 10% = 50,000
00,000 = 10% = 50,000
50,000 x 10% = 25,000 | 1,25,000
Profits trans. to Cap.Alc
75,000 x 2/5= 1,10,000
75,000 x 2/5= 1,10,000
75,000x1/5= _55,000( 2,75,000 e =
4,00,000 4,00,000

Q.
80,000

13, X and Y are partners sharing profits in the ratio 3 ; 2 with capitals of ¥
and ¥ 60,000 respectively. Interest on capital is agreed @ 5% p.a. Y is to be

allowed an annual salary of ¥ 6,000 which has not been withdrawn. Profit for the
year ended 31st March, 2018 before interest on capital but after charglng Y's salary
amounted to T 24,000.

A.
Mana

rovision of 5% of the profit is to be made in respect of commission to the
er. Prepare an account showing the allocation of profits.

L |



"2 5 sal. i
! Profit & Loss Appropriation Account Cr
Particulars L4 Particulars T
To Interest on Capital By Profit for the year 24,000
X=80,000x=5%= 4,000 (After Y’s Salary)
Y =60,000 x 5% = 3,000 7,000
To Manager’s.commission
(24,000 + 6,000) % 5% 1,500
To Net Profits trans. to Cap. A/c
A=15500x3/5 = 9,300
B =15,500 x2/5 = 6,200 15,500
24,000 24,000

Q. 14. Prem and Manoj are partners in a firm sharing profits in the ratio of 3
:2, Partnership Deed provided that Prem was to be paid salary of X 2,500 per
month and Manoj was to get a commission of ¥ 10,000 per year. Interest on capital
was to be allowed @ 5% p.a. and interest on drawings was to be charged @ 6%
p.a. Interest on Prem’s drawings was € 1,250 and on Manoj's drawings was ¥ 425.
Interest on Capitals of the pariners were ¥ 10,000 and ¥ 7,500 respectively. The
firm earned a profit of 90,575 for the year ended 31st March, 2018.

Prepare the Profit and Loss Appropriation Account of the firm.

Seol. Profit & Loss Appropriation Account
Dr. for the year ended 31st March, 2018 Cr.
Particulars T Particulars T

To Interest on Capital By Profit for the year 90,575

P (2,00,000 x 5%) 10,000 By Interest on Drawing

Manoj (1,50,000 x 5%) Z7.500 | 17,500 Prem 1,250
To Prem’s salary (2,500x12) 30,000 Manoj 425 1,675
To Manoj’s commission 10,000
To Net Profit trans. to Cap. A/c

Prem (34,750 x 3/5) 20,850

Manoj (34,750 x 2/5) 13,900 | 34,750

92,250 | 92,250

Q.15. Reema and Seema are partners sharing profits equally. The Partership

Deed|provides that both Reema and Seema will get monthly salary of ¥ 15,000
each, Interest on Capital will be allowed @ 5% p.a. and Interest on Drawings will
be charged @ 10% p.a. Their capitals were ¥ 5,00,000 each and drawings during

the year were ¥ 60,000 each.

e firm incurred a loss of ¥ 1,00,000 during the year ended 31st March,

2018.

pare Profit and Loss Appropriation Account for the year ended 31st March,

2018.



Profit and Loss Appropriation A/c

- ‘&.
g. for the ended March 31, 2018 Ciﬁt_
. Particulars L 4 Particulars T W
To Profit & Loss A/c 1,00,000 | By Int. on Drawings :
(Net Loss for the year) Reema 3,000
[60,000 x 10% (6/12)]
Seema 3,000 6,000
[60,000 x (10%) x (6/12)]
By Net Loss trans. to
Partners [1:1]
Reema 47,000
Seema 47,000 | 94,000
Total 1,00,000 | Total 1,00,000

Q. 16. Bhanu and Partap are partners sharings profits equally. Their fixed

capitals as on 1st April, 2017 are T 8,00,000 and T 10,00,000 respectively. Their
drawings during the year were ¥ 50,000 and ¥ 1,00,000 respectively. Interest on
capital is a charge and is to allowed @ 10% p.a. and interest on drawinig is to be

repare Profit and Loss Appropriation Account.
L. Profit and Loss Appropriation A/c -

dulgoed @ 15% p.a. Profit for the year ended 31st march, 2018 was T 1,20,000.

Dr. for the year ended March 31, 2018 Cr.
Particulars LS Particulars %
To Interest on Capital By Profit & Loss A/c 1,20,000
Bhanu 80,000 (Net Profit for the year)
[8,00,000  (10%)] By Interest on Drawings :
Pratap 1,00,000 | 1,80,000 Bhanu 3,750
[10,00,000 x (10%)] (50,000 x (15%) x (6/12)]
Pratap 7,500 | 11,250
[1,00,000 = (15%) x 6/12]
By Net Loss transferred on
inl:1
Bhanu 24,375
Pratap 24,375 | 48,750
Total 1,80,000 | Total 1,80,000

.17. Amar and Bimal entered into partnership on 1st April, 2017 contributing
¥ 1,50,000 and T 2,50,000 respectively towards capital, The Partnership Deed
provided for interest on capital @ 10% p.a. It also provided that Capital Accounts
shall be maintained following Fixed Capital Accounts method. The firm earned
net profit of ¥ 1,00,000 for the year ended 31st March, 2018,

ass the Journal entry for interest on capital.



TISol, Calculation of interest on capital—
v Arqar =1,50,000 = (10/100) = X 15,000
Bimal =2,50,000 = (10/100) = ¥ 25,000

Journal
Date . Particulars LF| Dr.(?) |Cr.()
Profit & Loss Appropriation A/c ' Dr. 40,000
To Amar’s Current A/c 15,000
To Bimal's Current A/c 25,000
(Being L.O. capital at 10% p.a. charged on capital)

Q. 18. Kamal and Kapil are partners having fixed capitals of ¥ 5,00,000 each
as on 31st March, 2017. Kamal introduced further capital of T 1,00,000 on 1st
0ctohe£, 2017 whereas Kapil withdrew T 1,00,000 on 1st October, 2017 out of

capital
Interest on capital is to be allowed @ 10% p.a.
The firm earned net profit of T 6,00,000 for the year ended 31st March, 2018.
Pass the Journal entry for interest on capital and prepare Profit and Loss
Appropriation Account.
Sol. Calculation of Interest on Capital —
For Kamal = (5,00,000 = 10%) + (1,00,000 x 10% = 6/12)
: = 50,000+ 5,000 = ¥ 55,000
For Kapil = (5,00,000 x 10%) - [1,00,000 x 10% x (6/12)]
= 50,000 - 5,000 = ¥ 45,000

Journal
Date| Particulars LF| Dr.R) |Cr.R)
() | |Profit & Loss App. A/c Dr. 1,00,000
To Kamal’s Current A/c 55,000
To Kapil’s Current A/c 45,000
(Being Interest on capital at 10% p:a. given
to pariners)
Profit & Loss Appropriation A/c
‘as on March 31, 2018
Particulars T Particulars I
To Interest on Capital By Profit & Loss A/c 6,00,000
Kamal 55,000 "
Kapil 45,000| 1,00,000
To Net Profit: (1: 1)
Kamal 2,50,000
Kapil 2,50.000( 5,00,000
TIJL 6,00,000 Total 6,00,000

2



vra . 19. Simran and Reema are partners sharing profits in the ratio of 3 ; z;‘

VThei capitals as on 31st March, 2017 were ¥ 2,00,000 each whereas Currenls
Ac ts had balances of ¥ 50,000 and ¥ 25,000 respectively. Interest is to be' |
ed @ 5% p.a. on balances in Capital Accounts. The firm earned net profit of
T3, {‘}E 000 for the year ended 31st March, 2018.
ass the Journal entries for interest on capital and distribution of profit. Also
prepare Profit and Loss Appropriation Account for the year.

ol. Journal
Date Particulars LF| Dr.(%) |Cr. ()
(i) || Profit & Loss App. A/c Dr. 20,000
To Simran’s Current A/c [2,000,000 = 5%] 10,000
To Reema’s Current A/c [2,00,000 x 5%)] 10,000
(Being Interest on Capital given to Partners)
(i) || Profit & Loss App. Alc Dr. 2,80,000
To Simran’s Current A/c [2,80,000 x (3/5)] 1,68,000
To Reema’s Current A/c [2,80,000 x (2/5)] 1,12,000
(Being dist. of profit b/w parinersin3:2)

Profit & Loss Appropriation Alc
as on March 31, 2018

Particulars L4 Particulars T

To Interest on Capital By Profit & Loss A/c 3,00,000

Simran 10,000

Reema 10,000, 20,000
To Net Profit: (3:2)

Simran 1,68,000

ema 1,20,000] 2,80,000

'I'ota}zﬂ 3,00,000 | Total 3,00,000

.20, Anita and Ankita are partners sharing profits equally. Their capitals,
maintained following Fluctuating Capital Accounts Method, as on 31st March,
2017 were X 5,00,000 and X 4,00,000 respectively. Partnership Deed provided to
allow interest on capital @ 10% p.a. The firm earned net profit of X 2,00,000 for
the year ended 31st March, 2018.

gass the Journal entry for interest on capital.

ol. Journal
Date Particulars LF| Dr.() | Cr. )
(@) || Profit & Loss App. A/c Dr. 90,000
To Anita’s Capital A/c [5,00,000 x 10%] 50,000
To Ankita’s Capital A/c [4,00,000 x 10%)] 40,000
(Being Interest on capital at 10% p.a. given
to partners)




21. Ashish and Aakash are partners sharing profit in the ratio of 3 : 2.
ir C pital Account showed a credit balance of ¥ 5,00,000 and ¥ 6,00,000
respectively as on 31st March, 2018 after debit of drawings during the year of ¥
1,50,000 and ¥ 1,00,000 respectively. Net profit for the year ended 31st March was
% 5,00,000. Interest on capital is to be allowed @ 10% p.a.
Pass the journal entry for interest on capital and prepare Profit and Loss
Appropriation Account.

Sol. Calculation of opening capital
Particulars ' Ashish | Aakash
Closing Balance 5,00,000 | 6,00,000
Add; Drawings 1,50,000 | 1,00,000
Opening Balance 6,50,000 | -7,00,000
: ' Journal
Date Particulars ; LF| Dr.(X) | Cr. ()
() Profit & Loss App. A/c Dr. 1,35,000
To Ashish’s Capital A/c [6,50,000 x 10%] 65,000
To Aakash'’s Capital A/c [7,00,000 x 10%] 70,000
(Being Interest on capltal at10% p.a. given
to partners)
Profit & Loss Appropriation A/c
Particulars ; L4 Particulars %
To Interest on Capital By Profit & Loss Afle - 5;00,000
As}ish 65,000
Aakash 70.000| 1,35,000

To Net Brofit ¢/d
Ashish [3,65,000 x (3/5)] 2,19,000
Aakash [3,65,000 x (2/5)] 1,46,000

Tot 5,00,000 Total 5,00,000

Q. 22. Naresh and Sukesh are partners with capitals of ¥ 3,00,000 each as on
31st March, 2018, Naresh had withdrawn ¥ 50,000 against capital on 1st October,
2017 and also ¥ 1,00,000 besides the drawings against caplta]. Sukesh also had
drawings of ¥ 1,00,000.

Interest on capital is to be allowed @ 10% p.a.

Net profit for the year was T 2,00,000, which is yet to be distributed.
Pass the Journal entries for interest on capital and distribution of profit.
Sol. Calculation of opening capital -

Particulars . Naresh | Sukesh
Closing Balance 3,00,000 | 3,00,000
Add : Drawings Naresh [50,000 + 1,00,000] 1,50,000 —
Sukesh — | 1,00,000
4,50,000 | 4,00,000




(Being Net Profit distribute b/w the partners)

1ak
are

Working Note—Interest on Capital '

= 22,500 + 20,000 = X 42,500
(i)) Sukesh =4,00,000 x 10% = T 40,000

() Naresh = [4,50,000 x 10%  (6/12)] + [4,00,000 x 10% x (6/12)]

Q. 23. On 1st April, 2013, Jay and Vijay entered into partnership for supplying
yoratory equipments to government schools situated in remote and backward
2as. They contributed capitals of T 80,000 and T 50,000 respectively and agreed

to share the profits in the ratio of 3: 2. The partnership Deed provided that interest

on capital shall be allowed at 9% per annum. During the year the firm earned a
profit of ¥ 7,800. Showing your calculations clearly, prepare ‘Profit and Loss
Appropriation Account’ of Jay and Vijay for the year ended 31st March, 2014.
Sol. Profit & Loss Appropriation A/c
as on March 31, 2014
Particulars L4 Particulars L4
To Interest on Capital By P& LA/c 7,800
Jay (7,800 x 8/13) 4,800
Vijay (7,800 = 5/13) g 3,000
Total 7,800 Total 7,800

g

4,

Working Note—(i) Int. on Capital to
Jay= 80,000 % 9% =¥ 7,200
Vijay = 50,000 x 9% =X 4,500

500=8:5

Total Int. on Capital =X (7,200 +4,500) = 11,700 is more than the available profit
7,800. So, Amount of profit will distribute in actual Interest Ratio i.e. = 7,200 :

Q.24. A, B and C are partners in a firm. A and B are to get annual salary of €

1,20,000 p.a. each as they are fully involved in the business. Net profit far the
year is ¥ 4,80,000. Determine the share of profit to be credited to each partner.

' 3

‘ Journal £i
Date Particulars Dr.®) | Cr. (ﬁa
@ | Profit & Loss App. Alc Dr. 82,500
To Naresh’s Capital A/c 42,500
To Suresh’s Capital Afc 40,000
(Being Interest on Capital at 10% p.a. given
to pariners)
(i) | Profit & Loss App.Alc : Dr.| | 1,17,500
" To Naresh’s Capital A/c [1,17,500  (1/2)] “| 58750
. To Sukesh’s Capital A/c 58,750



W 7S6l. Calculation of share of profit

Particulars ' L4
Net Profit for the year i ‘ 4,80,000
Less : Salary to Partners
A 1,20,000
B 120,000 2,40,000
Net Profit for distribution 2,40,000

So, share of each partner = 2,40,000/3

=¥ 80,000

Q. 25, A, B and C are partners sharing profits and losses in the ratio of 2: 2::
1 respectively. A is entitled to a commission of 10% on the net profit. Net profit
for the year is ¥ 1,10,000. 3

Determine the amount of commission payable to A.

Sol. Commission payable to A= ¥ 1,10,000 x 10%

=¥ 11,000

Q.26 X, Yand Z are partners sharing profits and losses equally. As per
Partnership Deed, Z is entitled to a commission of 10% on the net profit after

charging
2,20,000.

such commission. The net profit before charging commission is

Determine the amount of commission payable to Z.
Sol, Commission payable to Z = ¥ 2,20,000 = (10/110)

Q. 27

y =% 20,000 _ .
. A, B, C and D are partners in a firm sharing profits as 4:3:2:1

respectiv;ly. It earned a profit of T 1,80,000 for the year ended 31st March, 2018.

Asperth

Partnership Deed, they are to charge.a commission @ 20% of the profit

after charging such commission which they will shareas 2:3:2:3.
You are required to show appropriation of profits among the partners.

Sol. Profit & Loss Appropriation Account
Dr. for the year ended 31st march, 2018 Cr.
Particulars (4 Particulars 4
To Commission = 1,80,000 x 20/120 By Profit for the year 1,80,000
‘A=30,000x2/10= 6,000
B=30,000%3/10= 9,000
C=30,000x%2/10= 6,000
D =30,000 » 3/10 = 9.000 30,000

To Capitals A/c — Net Profit

A =150,

B=1,50,000 % 3/10 = 45,000

C=1,50

D =1,50,000 x 1/10 = 15,000 | 1,50,000

000x 4/10= 60,000

000%2/10= 30,800

1,80,000 1,80,000




onth'and commission of 10% of the net profit after partners’ salaries but before |
ging commission. Y is entitled to a salary of ¥ 25,000 p.a. and commissionof
10% of the net profit after charging all commission and partners’ salaries.
profit before providing for partners’ salaries and commission for the year ended
31st March, 2018 was ¥ 4,20,000.
Show distribution of profit.

- : —
EL'Q. 28. X and Y are partners in a firm. X is entitled to a salary of X 10,000 per

Sol. Profit & Loss Appropriation Account
Dr. for the year ended 31st march, 2018 Cr.
Particulars (4 Particulars T
To Salary A/c By Profit for the year 4,20,000

X= (10,000 = 12) = 1,20,000
Y=(25000x1) =_25000 |1,45,000
To X’s Commission
(4,20,000-1,45,000) = 10% 27,500
To Y’s Commission
(4,20,000-1,45000-27500) x 10/110 | 22,500
b Capitals A/c — Net Profit

X =2,25,000 x %4 =1,12,500
Y =2,25,000 x % =1,12,500 2,25,000

4,20,000 4,20,000

Q. 29. Ram and Mohan, twg partners, drew for private use ¥ 1,20,000 and
80,000. Interest is chargeable @ 6% per annum on the drawings. What is the
mount of interest chargeable from each partner ?

Sol. Calculation of interest on Drawings
Ram =T 1,20,000 x 6% x ¥2= ¥ 3,600
Mohan = X 80,000 x 6% x 2= ¥ 2,400
Note: Assumed that drawings are made in the middle of the year.
Q. 30. B and M are partners in a firm. They withdrew ¥ 48,000 and ¥ 36,000
espectively during the year evenly at the middle of every month. According to
the partnership agreement, interest on drawings is to be charged @ 10% per
annum,
Calculate the interest on drawings of the partners using appropriate formula.
Sol.Interest on B's drawings =48,000 x 10% x 6/12 = ¥ 2,400
Interest on M’s drawings = 36,000 x 10% x 6/12 =% 1,800
Q. 31. A and B are partners sharing profits equally. A drew regularly T 4000
n the beginning of every month for six months ended 30th September, 2018.
alculate interest on drawings at 5% per annum for a period of six months.
Sol. Interest on A's Drawings
=3 4000 x 6 x 5% x 315/12 = A350

Calculation of period for Drawing = (6 +1)/2 = 3.5 months

Q.32. A and B are partners sharing profits equally. A drew regularly ¥ 4000
t the end of every month for six months ended 30th September, 2018. Calculate
nterest on drawings at 5% per annum for a period of six months.

=

B - o

=

R

=l




2 rEol. Interest on A:\'S Drawings

=% 4000 x 6 x 5% x 2% /12=T 250

5+0)

(Calculation of period for Drawing Sy
Q. 33. Calculate interest on drawings of Mr. Ashok @ 10% p.a. for the year

ended 31st March 2018, in each of the following alternative cases—
Casg 1 If he withdrew ¥ 7,500 in the beginning of each quarter
Case 2 If he withdrew T 7,500 at the end of each quarter
‘Casg 3 If he withdrew X 7,500 during the middle of each quarter.
Sol/Interest on drawings = Total Drawings x Rate x Average Period

=2.5 months)

Average Period = (Time left after first drawing + Time left after last drawing)/2
Total drawing = T 7,500 x 4 = 30,000

Case 1:if he withdrew in the beginning of each quarter

Average Period = (12 + 3) /2= 7.5 months

Interest on drawings= ¥ 30,000 x 10% % 7.5/12 =¥ 1,875

Case 2 : if he withdrew at the end of each quarter
Average Period = (9 +0) /2=4.5 months

Interest on drawings = T 30,000 x 10% x 4.5/12= ¥ 1,125
Case 3: if he withdrew during the middle of each quarter

Av&age Period = (10,5 + 1.5)/2 = 6 months
Interest on drawings = T 30,000 x 10% x 6/12 = ¥ 1,500
Q. 34. Kanika and Gautam are partners doing a dry cleaning business in
Lucknow, sharing profit in the ratio 2 : 1 with capitals T 5,00,000 and ¥ 4,00,000
respectively. Kanika withdrew the following amounts during the year to pay the

hostel expenses of her son.

_1st April
1st June
1st November
1st Decewnber

T 10,000
T 9,000
T 14,000
T 5,000

Gautam withdrew T 15,000 on the first day of April, July, October and January
to pay rent for the accommodation of his fanuly He also paid ¥ 20,000 per month
as rent for the office of partnership which wasina nearby shopping complex.

" Calculate interest on drawings @ 6% p.a.

Sol] Calculation of "Interest on Drawings"

(a) [Fof Kanika Base date 31/3

Date < Period Product
1/4 10,000 12 months 1,20,000
1/6 9,000 10 months 90,000

1/11 14,000 5 months 70,000

1/12 5,000 4 months 20,000

3,00,000




Interest=3,00,000 = f 1500

.8 1
100 12
(b) For Gautam—As amount withdrawn in the beginning of each Quarter, So

Interest= (15,000 x 4) =% 2,250

100 12

Q. 35. A and B are partners sharing profit and Loss in the ratio of 3: 2 having
Capital Account balances of ¥ 50,000 and ¥ 40,000 on 1st April 2017, On st July,
ﬁ? A introduced ¥ 10,000 as his additional capital whereas B introduced only ¥
1,000, Interest on capital is allowed to partners @ 10% p.a.
Calculate interest on capital for the financial year ended 31st March, 2018.
Sol. -

Interest on A's capital

On beginning capital = ¥ 50,000 x 10% = ¥5,000
On additional capital = ¥ 10,000 x 10% x 9/12 =% 750
Total interest = ¥ 5,750
Interest on Bs capital

On beginning capital = ¥ 40,000 x 10% =¥ 4,000
On additional capital = T 1,000 x 10% x 9/12 % 75
Total interest =3 4,075

Q.36. Ram and Muhan are partners in a business. Their capitals at the end of
the year were T 24,000 and ¥ 18,000 respectively. During the year, Ram’s drawings
and Mohan’s drawings were ¥ 4,000 and ¥ 6,000 respectively. Profit (before
charging interest on capital) during the year was ¥ 16,000. Calculate mterest on
capital @ 5% p.a. for the year ended 31st March, 2018.

Sol. Since, Interest on Capital is given at opening Balance of Capitals.
Therefore, let us calculate opening capitals first and then interest.

Particulars Ram Mohan
Closing Capitals 24,000 18,000
Add : Drawings 4,000 6,000
Total 28,000 24,000
Less : Profits 8,000 8,000
Opening Capitals 20,000 | 16,000
Interest on Capitals :

Ram = ¥ 20,000 x 5% = ¥ 1,000
Mohan = 316,000 x 5% =T 800

Q. 37. Following is the extract of the Balance Sheet of Neelkant and Mahadev
as/on 31st March, 2018 :




Balance Sheet
as at 31st March, 2018
Particulars T Particulars L

Neelkant's Capital 10,00,000 | Sundry Assets 30,00,000
Mahadev's Capital 10,00,000
Nee t's Current A/c 1,00,000
Mahadev' Current A/c 1,00,000
Profit and Loss Appropriation | 8,00,000 |

Afe (March 2018) . HE

Total 30,00,000 | Total _30,00,000

During the year, Mahadev's drawings were T 30,000. Profits during the year

ended

31st March, 2018 is ¥ 10,00,000. Calculate interest on capital @ 5% p.a. for

the year ending 31st March, 2018,

Sol. Note—Balance of Partners' current A/c is given in the Question. So, the
balance of Partners' Capital A/c be taken as fixed capital.

Now, Interest on capital

()| To Neelkant's Capital = ¥ [10,00,000 = 5%] =X 50,000
(i7)| To Mahadev's Capital = ¥ [10,00,000 x 5%] = ¥ 50,000
. Q. 38. From the following Balance Sheet of Long and Short, calculate interest
on capital @ 8% p.a. for the year ended 31st March, 2016 :
' Balance Sheet '
as at 31st march, 2016
Liabilities i  Assets z
Long's|Capital A/c 1,20,000| Fixed Assets ' 3,00,000
Short’s Capital A/c 1,40,000( Other Assets 60,000
General Reserve 1,00,000
3,60,000 3,60,000

During the year, Long’s drawings were T 40,000 and Short's drawings were ¥
50,000. Profit for the year was T 1,50,000 out of which T 1,00,000 transferred to

%

|

General Reserve. .
Sol. Calcuiation of Interest on Long’s Capital : T
Long’s Capital as on 31st March 2018 T 1,20,000
Add : Drawing during the year - 40,000
Less: Profit added [% (¥ 1,50,000- ¥1,00,000] % 25,000
¥ 1,35,000
. 8 Sabe
Interest on Capital : 8% p.a. = EXL%JUOU =¥ 10,800
Calculation of Interest on Short’s capital :
Short’s Capital as on 31st March 2018 1,40,000
Adgd : Drawings during the year % 50,000
, ‘o : : 1,90,000
Less : Profit added [% (% 1,50,000 — X 1,00,000)] (25,000)
1,65,000




s |
Interest on Capital 8% p.a.= 7— % 165,000= 13,200 |

e e

. 39. X and Y contribute 20,000 and < 10,000 respectiveiy. They decide io
allow interest on capital @ 6% p.a. Their respective share of profits is 2: 3 and the
net profit for the year is ¥ 1,500. Show distribution of profits

(@) where there is no agreement except for interest on capitals and
(b) where there is an clear agreement that the interest on capital asa cha:ge.
ol. (@) Where there is no agreement except for interest on capital:

Dr. Profit & Loss Appropriation Account Cr.
Particulars , Particulars i
To Interest on Capital By Profit for the year 1,500
X= 1000
Y= - 500 1,500
1,500 1,500
Working Note— Interest on Capitals

X=%20,000x6% = 1,200 -
Y=%10,000x6% = _ X 600
Total = 1,800

The amount due to partners will be as follows :

X= ¥1,500%1,200/1,800 = ¥ 1,000

Y=31500%x600/1800 =3 500
(b) Where there is an agreement that the interest on capital will be allowed
even if it involves firm in loss.

Sol.
Dr. Profit & Loss Appropriation Account Cr.
Particulars i Particulars T
To Interest on Capital : By Profit for the year 1,500
X=1,200 By Capitals A/c— Net Loss
Y= _600 1,800 - X=2/5thx300=120
Y =3/5th x 300 =180 300
1,800 1,800

Q. 40. A and B started business on 1 April, 2017 with capital of ¥ 15,00,000
and £ 9,00,000 respectively. On 1 Oct, 2017 they decided that their capital should
be ¥ 12,00,000 each, The necessary adjustments in capitals were made by
introducing or withdrawing by cheque. Interest on capital is allowed @ 8% per
annum, compute the interest on capital for the year ended 31 March, 2018.

Sol. Calculation of Interest on Capitals

Periods : AR B(X)

1.4.2017 t0 30.9.2017 |15,00,000 x 8% x 6/12 = 60,000 | 9,00,000 x 8% x 6/12 = 36,000
1.10.2017 to 31.3.2018 | 12,00,000 x 8% x 6/12 = 48,000 | 12,00,000 x 8% x 6/12 = 48,000
1,08.000 84.000




Z\f & 41.X and Y are partners in a firm sharing profits and losses in the ratio o
3:2. On 31st March, 2018 after closing the books of account, their Capital Accoun
stood at € 4,80,000 and ¥ 6,00,000 respectively. On 1st May, 2017, X introduced an
additional capital of ¥ 1,20,000 and Y withdrew T 60,000 from his capital. On 1st
October, 2017, X withdrew ¥ 2,40,000 from his capital and Y introduced ¥ 3,00,000.
Interest on capital is allowed at 6% p.a. Subsequently, it was discovered that

- interest on capital @ 6% p.a. had been omitted. The profit for the year ended 31st
March, 2018 amounted to ¥ 2,40,000 and the partners’ drawings had been—X ¥
1,20,000 and Y—T 60,000, Compute the interest on capital if the capitals are (a)

fixed, and (b) fluctuating.
Sol. When Capital are Fixed—
Calculation of Opening Capital

Particulars i = X Y
Closing Capitals 4,80,000 6,00,000
Add : Withdrawal of Capital 2,40,000 60,000

7,20,000 6,60,000

Less :'Addi. Capital 1,20,000 3,00,000

Qpening Capital 6,00,000 3,60,000
- Calculation of Interest on Capital

Particulars X ¥

Interest on Opening Capital 36,000 21,600
x (6,00,000 x 6%)
(3,60,000 x 6%)
Add : Interest on Additional Capital 6,600 9,000
x [1,20,000 x 6% x (11/12)] :
¥ [3,00,000 x 6% x (6/12)]
42,600 30,600
Liess : Interest on withdrawal (7,200) (3,300)
x [2,40,000 x 6% x (6/12)]
y [60,000 x 6% x (11/12)]
Interest on Capital - 35,400 27,300
(b) When Capital are fluctuating—
Calculation of Opening Capital

Particulars / X Y
Closing Capital 4,80,000 6,00,000
Add : Withdrawal of Capital 2,40,000 60,000

Drawings - 1,20,000 60,000
8,40,000 7,20,000

Less : Additional Capital 1,20,000 3,00,000
Share of Profit 1,44,000 96,000
QOpening Capital 5,76,000 3,24,000




' Calculation of Interest on Capital ;
Particulars X Y
Interest on Opening Capital 34560 19,440
x [5,76,000 % 6%] :
| ¥[3,24,000 x 6%]
Add : Interest on Additional Capital . 6,600 - 9,000
x [1,20,000 x 6% x (11/12)]
¥ [3,00,000 x 6% x (6/12)]
41,160 28,440
Less : Interest on Withdrawal 7.200 3,300
x [2,40,000 x 6% x (6/12)]
y [60,(]0;0 x 6% x (11/12)]
Interest on Capital 33,960 25,140

. Q/42. C and D are pariners in a firm. C has contributed ¥ 1,00,000 and D

€ 60,000 as capital. Interest is payable @ 6% p.a. and D is entitled to a salary of
€ 3,000 per month. In 2017-18, the profits was T 80,000 before interest and salary.
Divid& the amount between C and D.
Sal.
Dr. . Profit & Loss Appropriation Account - Cn
Particulars i Particulars t

To Interest on Capital By Profit for the year 80,000

C=1,00,000 x 6% = 6,000

D=60,000=6%= 3.600 9,600
To D’s Salary (3,0C0 x 12) 36,000

To Net Profits trans. to Cap. A/c
'C=234,400/2=17,200
D =34,400/2 = 17,200 34,400
' 80,000 80,000
'I'He:refore, “C” will get ¥ (6,000 + 17,200) = T 23,200 and "D” will get ¥ [3,600 +
36,000+ 17,200] = ¥ 56,800
Q.43. Amitand Vijay started a partnership business on 1st April, 2017. Their
capital contributions were ¥ 2,00,000 and ¥ 1,50,000 respectively. The partnership
deed provided that—
(a) Interest on capital be allowed @ 10% p.a.
(b) Amit to get a salary of T 2,000 per month and ‘Vi]ay T 3,000 per month.
(c) Profit are to be shared in the ratio of 3: 2.
Profit for the year ended 31st March 2018 before above appropriations was
T 2,16,000. [nterest on drawings amounted to ¥ 2,200 for Amit and ¥ 2,500 for
Vijay.
pare Profit and Loss Appropriation Account.




- Sol. . R
Dr. Profit & Loss Appropriation Account %a '
Particulars Z " Particulars T
To Interest on Capital By Profit for the year '2,16,000
Amit = 2,00,000 x 10% = 20,000 By Interest on Drawings
Vijay = 1,50,000 x 10% = 15,000 35,000 Amit= 2200
To Salary . ; Vijay = 2500 4,700

Amit=12 % 2,000 = 24,000
Vijay = 12 x 3,000 = 36,000 60,000
To Net Profit trans. to Cap. A/c
Amit=1,25,700 x 3/5=75,420
V

jay = 1,25,700 = 2/5 = 50,280 | 1,25,700
2,20,700 2,20,700

Q. 44. Show how the following will be recorded in the Capital Accounts of

the Pariners Sohan and Mohan when their capitals are fluctuating
' ! Sohan (¥) Mohan (%)
Capitals on 1st April, 2017 4,00,000 3,00,000
Drawings during 2017-18 50,000 30,000
Interest on Capital 5% 5%
Interest on Drawings 1,250 750
Share of profit for 2017-18 60,000 50,000
Partner’s Salary 36,000 -
Commission 5,000 3,000
Sol. :
Dr. Partner’s Capital Account Cr.
Particulars Sohan (T)| Mohan (T) Particulars Sohan ()| Mohe ‘_}3}
To Drawings 50,000 30,000| By Balanceb/d - 4,00,000, 3,00 000
To Interest on DramngsJ 1,250 750 By Int. on Capital 20,000 15,000
To Balance ¢/d 4,69,750| 3,37,250| By Partner’s Salary 36,000 -
: By Commission 5,000 3,000
By Net Profit 60,00C 50,000
5,21,000| 3,68,000 5,221,000, 3,68,000

Q. 45. Sajal and Kajal are partners sharing profits and losses in the ratio of

2:1. On1st April 2017 their Capitals were; Sajal - ¥ 50,000, Kajal — T 40,000.

Prepare the Profit and Loss Appropriation Account and Partners Capital

Accounts at the end of the year after considering the following items:

(a) Interest on Capital is to be allowed @ 5% per annum,
(b) Intereston the Loan advanced by Kajal for the whole year, the .amount of

Loan being ¥ 30,000

Kaj

(c) Interest on pariners’ drawing @ 6% per annum. Drawings Sa]al ¥10,000;
al ¥ 8,000,



-_Lj;((d) 10% of the divisible profit is to be transferred to Reserve.
The net profit for the year ended 31st March 2018, X 68,460.
Sol.
Dr. - Profit & Loss Appropriation Account Cr.
Particulars T Particulars <
To Interest on Capital By Profit for the year
Sajal = 50,000 x 5% = 2,500 I [70,260 x 1,800] 70,260
Kajal = 40,000 = 5% = 2,000 4,500| By Interest on Drawings
' | Sajal=10,000 x 6% x 6/12 = 300
To (70,800-4,500-1800) x10% | 6,450| Kajal = 8,000 x 6% = 6/12= 240 540
To Net Profits trans. to Capital A/c
Sajal = 58,050 x 2/3 = 38,700
Kajal = 58,050 x 1/3 = 19,350 58,050
69,000 69,000
Dr. Partner’s Capital Account Cr.
Particulars Sajal (¥)| Kajal (T Particulars  |Sajal () | Kajal (%)
To Drawings 10,000 8,000| By Balance b/d 50,000{ 40,000
ToIn t on Drawings 300 240| By Int. on Capital 2,500 2,000
To.Balanpe c/d 80,900 53,110 By Net Profit 38,7001 19350
91,200 61,350 91,200 61,350

Q. 46 On 1st April 2017, A and B entered into partnership contributing T

60,000

d T 45,000 respectively. They agreed to share profits and losses in the

ratio of 3 : 2. B is-allowed a salary of ¥ 12,000 per year. Interest on capital is to be

allowed @ 10% p.a. During the year, A withdrew T 9,000 and B T 18,000 as.

drawings. The interest on drawings paid by A and B was T 150 and. 210,
respectively. Profits for the year ended 31st March 2018 before the above
adjustments was T 35,000. Show distribution of profits by preparing Profit and

Loss Appropriation Account of the firm. Prepare Partner’s Capital Account also.
Sol.
Dr. Profit & Loss Appropriation Account Cr,
Particulars T Particulars T
To Interest on Capital By Profit for the year 35,000
A =60,000 x 10% = 6000 By Interest on Drawing
B = 45,000 x 10% = 4500 10500 A 150
To B’s salary 12,000 B ‘210 360
To Net Profits:trans. to Capital A/c
A=12,860%3/5=7716
B=12,860 x2/5=5144 12,860
35,360 35,360

am .,



T Partner’s Capital Account Cr.,
NV [Particulars AQD] B Particulars AD [ B
To Drawings 9,000/ 18,000) "y Balance b/d E 60,000 45,(]0(}3
To Interest on By Int on Capital 6,000 4,500
Drawings 150 210| By Partner’s Salary —| 12,000
To Balance c/d. | 64,566] 48,434 By Net Profit 7,716| 5,144
73,716/ 66,644 73,716 | 66,644
Q. 47. A and B are partners sharing profits and losses in the ratio 0£3:1.On

1st April 2017, their capitals were: A T 50,000 and B ¥ 30,000. During the year
ended 31st March 2018 they earned a net profit of T 50,000. The terms of
pattnership are :
Interest on capital is to be allowed @ 6% p.a.

(b) A will get a commission at 2% on turnover.

(c) B will get a salary of T 500 per month.

(d) B will get commission of 5% on profits after deduction of all expenses
includi gsuch commission.

Partners’ Drawings for the year were; A 8,000 and B ¥ 6,000. Tumnver for the
year was T 3,00,000.

er considering the above facts, you are required to prepare the Profit and
Loss Appropriation Account and Partner’s Capital Accounts.

Sol.
Profit and Loss Appropriation Account
Particulars o Particulars z
To Interest on Capital By Profit b/d - 50,000
A = 50,000 x.6% = 3,000
B=30,000%6%= 1800| 4,800
To As ission A/c(3,00,000%2%) 6,000

=12 x 500 = 6,000 i
= (50,000 — 4,800 - 6,000

—6,000) x5/105=1581 | 7,581
To Capital A/c— Net Profif ¢/d g
A=01,619%%=23714

B=231,619 x V= _7905 31,612

- 50,000 | 50,000
Partner’s Capital Account

Particulars A® | B Particulars AR | B(®)
To Drawings A/c 8,000| 6,000 By Bal. b/d : 50,000| 30,000
To Bal. ¢/d . 74,714 | 41,286 By Interest A/c | 3,000 1,800
: By Commission A/c 6,000' 1581
By Net Profit 23,714| 7,975
By Salary Afc — | 6,000
82,714 | 47,286 | 82,714| 47,286




¥¥™0!48. A, B and C were partners in a firm having capitals of ¥ 50,000, ¥ 50,000 4/
“and ¥ 1,00,000 respectively. Their Current Account balance were A : ¥ 10,000; B =y
¥ 5,000 and C: T 2,000 (Dr) According to the Parinership Deed, the partners™
were entitled to an interest on Capital @ 10% p.a. C being the working pariner
was entitled to a salary of T 12,000 p.a. The profit were to be divided as—

(a) The first T 20,000 in proportion to their capitals.

(b) Next T 30,000 in the ratio 0f5:3:2.

(c) Remaining profits to be shared equally.
The firm earned net profit of T 1,72,000 before charging any of the above
items.

; Pﬁpm the Profit and Loss Appropriation Account and Pass the necessary

Jo entry for the appropriation of profits.

Sol. - Profit & Loss Appropriation Account
Particulars L4 Particulars T
To Interest on Capital By Profit for the year -1 1,72,000

A=50,000x10%= 5,000
B =50,000 ¥10% = 5,000
C=1,00,000 x 10% = 10,000| 20,000

To C's{Salary : 12,000
To Net Profits trans, to Cap. A/c

A= 50,000

Bs 44,000

Ce= . 46,000 | 140,000

; 1,72,000 1,72,000
Distribution of Profits
Particulars ' A®) B(X) | C®)

The first 20,000 in proportion to their capitals 5,000 5,000 | 10,000
Next T 30,000 in-the ratio of 5:3:2 15,000 9,000 6,000

Remaining profits (¥ 90,000) to be shared equally | 30,000 | 30,000 | 30,000
: 50,000 | 44,000 | 46,000

Date Battiexlis LE| Dr. ® | Crn(®

P& LApp. Alc Dr. 1,40,000
To A’s Current Afc 50,000
To B’s Current A/c - 44,000
To C's Current A/c | 46,000
(Being Balance of P&L App. A/c distribute in
agreed ratio)

0, 49. A and B are partners sharing profits in the ratio of 3 : 2 with capitals of
¥ 50,000 and ¥ 30,000 respectively. Interest on Capital is agreed @ 6% p.a. B is to
be allowed an annual salary of T 2,500. During the year profit prior to interest on
capital, but after charging B's salary amounted to T 12,500. A provision of 5% of the
profits is to be made in respect of Manager’s Commission. :



'z’k are an account showing the allocation of profits and Partners’ Capital
Acco

mi
So
Dr. Profit & Loss Appropriation Account : Cr.
Particulars 4 Particulars L 4
To Interest on Capital By Profit for the year
A=50,000x6%= 3,000 12,500+ 2,500 15,000
B=30,000x6%= 1800 4,800
To B’s Salary 2,500

To Manager’s com= (15,000 %5%) 750
To Net Profits trans. to Cap. A/c
A=6950x3/5= 4,170

B=6/950x2/5= 2,780 6,950

15,000 15,000
Dr. Partner’s Capital Account Cr.

Particulars AR®)| B Particulars AR| B
ToBalancec/d 57,170, 37,080 ByBalanceb/d 50,000| 30,000
; By Interest 3,0000 1800
By Salary , 2,500
By Net Profit 4,170| 2,780
57,170 37,080 57,170| 37,080

Q.50. P, Q and R are in partnership and as at 1st April, 2015 their respective
capitals were : T 40,000, T 30,000 and X 30,000. Q is entitled to a salary of ¥'6,000
and R ¥ 4,000 p.a., payable before division of profit. Interest is allowed on capital
@5 % p.a. and is not charged on drawings. Of the divisible profits, P is entitled
to 50% of the first T 10,000, Q to 30% and R to 20%, rest of the profit are shared
equally. The profits for the year ended 31st March, 2018, after debiting partner’s
salaries but before charging interest on capital were ¥ 21,000 and the partners
had dllawu ¥ 10,000 each on account of salaries, interest and profit.

pare Profit and Loss Appropriation Account for the year ended 31st March,
2018 showing the distribution of profit and the Capital Accounts of Partners.
Sol.

pr. ~ Profit and Loss Appropriation Account Cr.
__ Particulars L Particulars T
To Interst on Capital | ByProfitb/d 21,000

P [ 40,000 x 5% = 2,000
Q T 30,000 x.5% = 1,500
RT 30,000 x 5% = 1,500 5,000

To Capital A/c- Net Profit ¢/d

P =i 7,000
Q T‘ 5,000
R 4,000 16,000
T : 21,000 21,000

L

-

o2



Eivision of Net Profits

Particulars PO Q®[ RO

Qut of T 10,000 in ratio5:3:2 5,000.| 3,000 | 2,000"
Out of T 6,000 equally 2,000 | 2,000 | 2,000
_ 7,000 | 5,000 | 4,000
Dr. ‘Partner’s Capital Account : Cr.

Particulars P QE®E | R(| Particulars | P(D | Q@ |R®)
To Drawings A/c | 10,000| 10,000 10,000 By Bal, b/d 40,000 | 30,000 | 30,000

ToBal. ¢/d 39,000 32,500| 29,500( By InterestA/e | 2,000 | 1,500| 1,500
By Salary A/e — | 6,000 4,000

By NetProfit | 7,000| 5,000| 4,000

49,000| 42,500 39,500| . | 49,000 | 42,500 | 39,500

Q.51. A, B and C are partners sharing profits and losses in the ratio of A 1/2,
B 3!1*0 C1/5 after providing for interest @ 5% on their respechve, capitals, viz,, A
T 50:;“:) B 30,000 and C ¥ 20,000 and allowing B and C a salary of ¥ 5,000 each
per annum. During the year ended 31st March, 2018. A has drawn ¥'10,000 and B
and C in addition to their salaries have drawn T 2,500 and ¥ 1,000 respectively.
The Profit and Loss Account for the year ended 31st March 2018 showed a net
profit of T 45,000 before charging (4) interest on capital, and (b) partners’ salaries.
On 1st April 2017, the balances in the Current Account of the partners were A
(Cr.) 4,500, B (Cr.) ¥1,500'and C (Cr.) T 1,000. Interest is not charged on Drawings
or Current Account balances. Show the Partner’s Capital and Current Accounts
at 31st March 2018 after division of profits in accordance with the partnership
agreement.

Sol. : : :
Dr. Profit and Loss Appropriation Account Cr.
~_Particulars T - Particulars T
To Interest on Capital By Profit for the year 45,000
A=50,000%5%= 2,500 ' '
B = 30,000 x 5% = 1,500
C=20,000 x 5% = 1000 | 5,000
To Salaries A/c
B 5,000
C 5000 | 10,000
To Net Profit trans. to Cap. Afe-
A30000x% = 15,000
B 30,000=3/10 = 9,000
C30,000x1/5 = 6,000 ( 30,000
45,000 45,000




T Partner’s Current Account : Cr.
Particulars | A | B® | C(®)-| Particulars | A | B(O | C(D)

ToDrawings | 10,000 7,500| 6,000| By Balanceb/d| 4500| 1,500 1,000
To Balance c/d 12,000| 9,500( 7,000| By Intereston 2,500 1,500r 1_,000

Capital ,
By Salary -| 5,000 5,000
By Net Profit | 15,000 | 5,000] 6,000
22,000 17,000{ 13,000 : 22,000 | 17,000{ 13,000
Dr. .- Pariner’s Capital Account Cr.

Particulars A® | B®| c® | Particulars |[A® | B | CE®)
To Balance c/d | 50,000 | 30,000 | 20,000| By Balance b/d | 50,000 | 20,000 20,000

Q.52. Ali and Bahadur are pariners in a firm sharing profits and losses as Ali
70% and Bahadur 30%. Their respective capitals as at 1st April, 2017 stand as Ali
T 25,000 Ed Bahadur ¥ 20,000. The pariners are allowed interest an capitals @

5% p.a. Drawings of the partners during the year ended 31st March, 2018
amounted to T 3,500 and T 2,500 respectively.’ .

Profit for the year, before charging interest on capital and annual salary of
Bahadur @ ¥ 3,0000 amounted to ¥ 40,000, 10% of divisible proht is to be
transferred to Reserve.

You are asked to show Partners' Current Accounts and Capital Accounts
recording above transactions.

Sol.| - Profit and Loss A?pmpnatlon Alc
Dr. for the'year ended March 31, 2018 Cr.
Particulars . A T Particulars g

To Inberést on Capital : By Profit & Loss A/c 40,000

Ali [25PODG x5%] 1,250 [Profit for the year]

Bhad [20,000 x 5%] 1,000 2,250
To Sala (Bahadur): 3,000
To Resge[(m 000-5250)x10%]| 3,475 |
To Net Profit trans. to [7 : 3] :

Ali [31275 x (7/10)] 21,892

Bahadur

[31,275 x (3/10)] 9,383 | 31,275

Total 40,000 | Total 40,000

“Partners’ Cureent A/c
Particulars | - Ali | Bahadun] __ Particulars Ali | Bahadur

To Drawings 3,500 2,500 | By Intereston Cap. | 1,250 1,000
To Balance c/d 19,642 | 10,883 | By P& LApp. Afc | 21,892 9,383
; By Salary — 3,000

Total | 23142 13383 | Total | 23,142| 13,383




P—— Pariners' Capital A/c

-

Particulars Ali | Bahadun Particulars Al | B
To Balance ¢/d | 25,000 | 20,000 | By Bala:ice b/d 25,000 |
tal 25,000 | 20,000 | Total 25,000| 20,000

itals stood as: Amal ¥ 40,000, Bimal ¥ 30,000 and Kamal ¥ 25, 000. It was

|LQ 53, Amal, Bimal and Kamal are three partners. On 1st April, 2017, their
Ca

decided that—

(a) they would receive interest on Capital @ 5% p.a.
(b) Amal'would geta sala.ry of X 250 per month,
(¢) Bimal would receive commission at 4% on net profit after deducting

commission interest on capital and salary, and

the General Reserve.

(d) After deducting all of these 10% of the profit should be transferred to’

- | Before the above items were taken into account, the pmﬁtfortheyear ended 31st
Mztd-l?.{}ls was T 33,360. Prepa:e the Profit and Loss Appropriation Account and
the C

apital Accounts of the Partners.
.| Sal,
Dr. Profit and Loss Appropriation Account Cr.
Particulars L4 Particulars L4
To Interest on Capital By Profit b/d 33,360
Amal=40,000x5% = 2,000
=30,000 x 5% = 1,500
Kamal = 25,000 x 5% = . 1250 4,750
To 's Salary = 12 x 250 3,000
To Bimal's Commission=25,610 x 4/104 985
To General Reserve = 24,625 x 10% 2,462
To Capital A/c—Profit
; =7.388
Bimal =7388
Kamal = 7,387 22,163
‘ 33,360 33,360
Dr. Pariner’s Capital Account Cr.
Particulars | Amal |Bimal |Kamal Particulars | Amal |Bimal |Kamal
%) (4] (€3] [£9) (4] ®
Te Bal. c/d . 52,388 | 39,873| 33,637 | By Bal. b/d 40,000 | 30,000| 25,000
= By Inter_e:st Afc| 2,000| 1,500| 1,250
By Salary Afc | 3,000 —_ —
By Comm. Ale - 985 —
_ By Net Profit 7,388 | 7,388 7,387
52,388 | 39,873| 33,637 ' 52,388 | 39,873| 33,637
Q. 54. Amit, Binita and Charu are three partners. On 1st April, 2017, their

decided that—

Ci%ltal stood as; Amal ¥ 1,00,000, Bimal ¥ 2,00,000-and Charu ¥~ 0.000. It was:



“{a)_they would receive interest on Capital @ 5% p.a.
(6) Amit would geta salary of T 10,000 per month,
(c) Binita would receive commission @ 5% of net profit after deduction of

commission, and

(d) 10% of the net profit would be transferred to the General Reserve.

Before the above items were taken into account, the profit for the yearended
31st March, 2018 was ¥ 5,00,000. Prepare Profit and Loss Appropriation Account
and the Capital Accounts of the Partners.

Sol. Profit & Loss Appropriation A/c
as at March, 31, 2018
. Particulars L 4 Particulars T
To Interest on Capital : By Profit & Loss A/c 5,00,000 -
Amit 5,000
Binita 10,000
Charu . 15,000 30,000
To Salary (Amit) ¢ 1,20,000
To Comm. (Binita) 23,810
[5,00,000 x 5/(105)]
To General Reserve 50,000
_ [5,00,000 = 10%]
To Net divisible Profit (1:1:1)
Amit 92,063
Binita 92,063
Charu 92,064 | 2,76,190
Total 5,00,000| - Total 5,00,000
Dr. Partners Capital A/c Cr.
Particulars| Amit | Binita | Charu Particulars | Amit | Binita | Charu
() () ) (%) ) (%)
ToBal. ¢/d 3,17,063| 3,25,873| 4,07,064| By Bal. b/d 1,00,000( 2,00,000} 3,00,000
By Int. on cap. 5,000, 10,000] 15,000
By Salary 1,20,000 = =
By Comm,. —| 23,810 -
ByP&LApp.Alc| 92,063 92,063 92,064
317063'325373 407054I 31’?063‘325873 4,07,064

Q. 55. Anita, Bimla and Cherry are three parl:ners On 1st April, 2017, their

Capital stood as : Anita T 1,00,005, Biinla %

decided that—

(a) they would receive interest on Capital @ 5% p.a.,
(b) Anita would get a salary of T 5,000 per month,
() Bimla would receive commission @ 5% of net profit after deduction of

commissiPn, and

2,0¢,000 and Cherry T 3,00,000. It was



(d) 10% of the divisible profit would be transferred to the General Resefv
Before the above items weie taken into acce' :nt, the profit for the year en |
31st March, 2018 was T 5,00,000. Prepare Prufit. nd Loss Appropriation Ac
d the Capital Accounts of the Pariners.

Sol. ' Profit and Loss Approprition A/c
as at March 31, 2018 _
Particulars - T ‘ Partic .ars ,

To Interest on Capital By Profit & Loss A/c 5,00,000

‘Anita 5,000

Bimla 10,000

Cherry 15,000| 30,000
To Salary (Anita) 60,000
Td? Comm. [5,00,000 x 5/105]23,810 -

To General Reseve )
[(5,00,000-1,13,810) x 10%] 38,619

To Net divisible Profit
Anita 1,15,857
Bimla 1,15,857
Cherry 1,15,857| 3,47,571
Total 5,00,000f Total 5,00,000
Dy, Partners Capital A/c Cr.
Particulars | Anita| Bimla| Cherry Particulars| Anita | Bimla |Cherry
-. (X) ) ) ) ® | ©®
To Bal. ¢/d 2,80,857| 3,49,667| 4,30,857 | By Bal. b/d 1,00,000{ 2,00,0003,00,000
By Int. on Cap. 5,000 10,000 15,000
By Salary 60,000( — -
By Comm. | —| 23810 -
: ; By P&L App. A/c| 1,15,857|1,15,857|1,15,857
~ Total 2,80,857| 3,49,667 4,30,857 Total 2,80,857| 3,49,667|4,30,857

Q.56. Anshul and Asha are partners sharing profits and losses in the ratio of

3: 2. Anshul being a non-working partner contributed ¥ 8,00,000 as her capital.
ha being a working partner did not contribute capital. The partnership Deed

provides for interest on capital @ 5% and salary to every working pariner @ T

2,000 per month. The net profit before providing for interest on capital and

partner’s salary for the year ended 31st March 2018 was ¥ 32,000,

Show distribution of capital profits.

Sol.
Dy. Profit & Loss Appropriation Account Cr.
Particulars 4 Particulars T
To Interest on Anshul’s Capital By Profit b/d 32,000
32,000 x 5/8 20,000

To Asha’ Salary = 32,000 x 3/8 | 12,000
32,000 . 32,000




L
“\Working Note : Interest on Anshul’s Capital = ¥ 8,00,000 x 5% = X 40, 090
Asha’s Salary =12 x ¥ 2,000 = ¥ 24,000

Since the available profit ¥ 32,000is less than Interest on Anshul’s capital and Asha’s
salary (40,000 +24,000) = 64,000. Hence the available prnﬁt;s tobe distributed in the ratio
of 40,000} 24,000=5:3.

Q. 57. X and Y entered into partnership on 1st April, 2017 and contributed
€ 2,00,000 and T 1,50,000 respectively as their capitals. On 1st October, 2017, X
provided T 50,000 as loan to the firm. As per the provisions of the Partnership
Deed

0% of Profits before charging Interest on Drawings but after makfng
ations to be transferred to General Reserve.
terest on capital at 12% p.a. and Interest on Drawings @ 10% p.a.

is entitled to a commission of 5%on sales. Sales for the year were ¥
3,50,000.

" (v) Profitand Loss to be shared in the ratio of their capital contribution up
to¥ 1,75,000 and above T 1,75,000 equally.

The |profit for the year ended 31st March, 2018, before providing for any
interest was ¥ 4,61,000. The drawings of X and Y were T 1,00,000 and T 1,25,000
respectively. ;

Pass the necessary Journal entries relating to appropriation out of profits.
Prepare Profit and Loss Appropriation Account and the Partners’ Capital Accounts,

Sol, Journal

Date . Particulars L/F L 4 4

(i) | Profit & Loss A/c Y e 1,500
To Interest on Loan [50,000 x 6% * (6/12)] . 1,500
(Being Interest on Loan at 6% p.a. charged) -
(i) | Profit &Loss A/c Dr. 4,59,500
To P&L App. A/c [4,61,000 - 1,500] 4,59,500
(Being balance amount of profit transferred) :
(if) | Profit & Loss App. A/c Dr. 42,000
; To x’s Capital A/c [2,00,000 x 12%] 24,000
To y's Capital A/c [1,50,000 x 12%]) 18,000
(Being Interest on capital given to partner
at12% p.a.)

(iv) | Profit & Loss App. A/ Dr. 1,50,000
" To x's Capital A/c (5,000 x 12) : 60,000

To y's Capital A/c (22,500 x 4) 90,000
(Being Salary given to partners) '
(v) | Profit & Loss App. Alc Dr. 17,500

(Being comm. on sales given to “x”)

to get monthly salary of ¥ 5,000 and Y to get salary of ¥ 22,500 per ]

To x’s Capital A/c [3,50,000 x 5%)] 17,500

Py W W



i < r3
/" (w)| Profit & Loss App. Afc Dr. 50,000 44
To General Reserve ok
[(4,59,500 - 2,09,500) % 20%) 50,000
(Being 20% of remaining profit transfer to
General Reserve)
(oii) | ’s Capital A/c[1,00,000 x10% x (6/12)]  Dr. 5,000
- y’s Capital A/c [1,25,000 x 10% * (6/12)] Dr. 6,250
To Profit & Loss App. A/c 11,250
(Being Interest on Drawings at 10% p.a. charged), '
(viti) | Profit & Loss App. A/c Dr. 1,75,000
To x's Capital A/c [1,75,000 x (4/7)] 1,00,000
.To y/'s Capital A/c [1,75,000 x (3/7)] 75,000
(Being divisible profit upto ¥ 1,75,000 givenin 4:3)
(ix) | Profit & Loss App. Alc : Dr. 36,250
[(2,00,000 + 11,250) - 1,75,000]
To x’s Capital Afc [36,250  (1/2)] 18,125
To y's Capital A/c [36,250 x (1/2)] 18,125
(Being refnaining divisible profit ¥ 36,250 given
equally)
Profit & Loss Apprapriation A/c
as at March, 31, 2018
Particulars T Particulars = T
To Interest on Capital By|Profit & Iloss A/c 4,59,500
| T 24,000 By Interest on Drawings
y 18,000 42,000 x 5,000
_To Salary L 6,250 11,250
x 60,000
¥ 20,000 | 1,50,000
To Comm. (x) 17,500
To General Reserve 50,000
To Net divisible Profit
x [1,00,000 +18,125] 1,18,125
y [75,000 +18,125] 1= 95,125 -
Total 4,70,750 Total 4,70,750
Partners Capital A/c
Particulars x . Particulars x ¥
To Drawings 1,00,000 | 1,25,000 | ByBank A/c 2,00,000 | 1,50,000
To Int. on Draw. 5,000 6,250.( By Int. on Cap. 24,000 18,000
To Balance ¢/d 3,14,625 | 2,19,875| By Salary 60,000 90,000
By Commission 17,500 —
_ By P& LApp.A/c| 1,18125| 93,125
Total 4,19,625 | 3,51,125 '}'otal 4,19,625| 3,51,125




2_&1\ Q.58, P and Q were partners in a firm sharing profits and losses equally. |
ir fixed capitals were ¥ 2,00,000 and ¥ 3,00,000 respectively. The Partnership |
Deed provided for interest on capital @ 12% per annum. For the year ended 31st
March; 2016, the profits of the firm were distributed without providing interest
on capital.
ﬁs necessary ad;ustment entry to rectify the error. _
5

Working Note—
_ . Statement Showing Adjustments
" Particulars : P Q Firm
Dr. Cr. Dr. | Cr. Dr. Cr.
Interest on Capital Now rectified — | 24,000 —| 36,000 60,000 —
at12% p.a. - -
t of Interest adjusted in 1:1| 30,000 — | 30,000 - — | 60,000
Gross total 30,000 | 24,000 | 30,000| 36,000| 60,000| 60,000
Difference will be (Dr.) to P and — | 6,000{ 6,000 - - —
(cr)toQ 5 -
30,000 | 30,000 | 36,000 36,000| 60,000| 60,000
Adjusting Journal Entry '
Date Particulars LF|Dr.R) | Cr.()
() : P's Current A/c - Dr. 6,000 |.
fo Q's Current A/c - 6,000
(Being adjustment entry passed)

 Q.59. Keya, Mona and Nisha shared profits in the ratio of 3:2: 1. The
profits for the last three years were ¥ 1,40,000, T 84,000 and ¥ 1,06,000 respechvely
These profits were by mistake shared equally for all the three years. It is now
decided to correct the error. Give necessary Journal entry for the same.

Sal. Statement Showing Adjustments
Particulars Reya Mona Nisha Firm
| Dr. & Cr. )| Dr. ® [ cr. @) [Dr. @ [ cr. (O [Dr. ) [Cr. O
Profit wrongly Credited| 1,10,000 1,10,000 1,10,000 -~ |330,000
Profits to be Credited 1,65,000 1,10,000 . 55,000) 3,30,000
Adjustments 55,000 55,000
Total 1,65,0001,65,000} 1,10,000|1,10,000{ 1,10,000}1,10,000{ 3,30,000{ 3,30,000
: Adjusting Journal Entry :
Date Particulars : . |LF| Dr.(®) |Cr.(D)
Nisha's Capital A/c Dr. 55,000 |
To Reya's Capital A/c - 55,000
(Being adjustment made due to changes)




'Zg Q[ 60. Profits earned by a partnership firm for the year ended 31st March,
2017 distributed equally between the partners — Pankaj and Anu - mthout'é
allowing interest on capital. Interest due on capital was Pankaj T 3,000 and Anu "
€ 1,000. Pass the necessary adjustment entry/entries.

Sol. ' Statement Showing Adjustments
Particulars Pankaj ~ Anu Firm
Dr.(®) [Cr.(D [Dr.(® [Cr. (®) |Dr. (O] Cr. O
Interest on Capital to be credited 3,000 1,000 4,000
Balance to be debited in1:1 2,000 2,000 4,000
Adjustments 1,000 1,000
To 3,000] 3,000 2,000 2,000 4000 4000
_ Adjusting Joumal Entry
Date Particulars LF(Dr.(®| Cr.(D
Anu’s Capital A/c Dr. 1,000
To Pankaj’s Capital A/c 1,000
(Being interest on Capital credited on adjustment)

Q. 61. Azad and Benny are equal partners. Their capitals are ¥ 40,000 and ¥
80,000 respectively. After the accounts for the year have been prepared, it is
discovered that interest @ 5% p.a. as provided in the parinership agreement has
not been credited to the Capital Accounts before distribution of profits. It is
demdtd to make an adjustment entry in the beginning of the next year. Record
the necessary Journal entry.

Sol. Statement Showing Adjustments
Particulars Azad Benny Firm
' Dr. Cr. Dr. Cr. Dr. Cr.
Interest on Capital Now Credited —| 2,000 —| 4000| 6000 —

tof Interest adjustin1:1 | 3,000 —| 3,000 - —| 60000
total 3,000| 2,000 3,000 4,000 6,000 6,000
ce will be adjusted to be —| 1,000{ 1,000 - - -
: (Or)| (Cr) :
Total | 3,000{ 3,000| 4,000{ 4,000 6000 6,000
Adjusting Journal Entry '
Date Particulars LF| Dr.(¥)| Cr. (D)

(i) | Azad's Capital/Current A/c ' Dr. 1,000

To Benny's Capital/ Current A/c 1,000
(Being adjustment entry will be passed)




T 3
£ > Q.62 Ram and Mohan are equal partners. Their capitals are T 4,000 and E"

8,00 respectively. After the accounts for the year are prepared, it is discovm%.'
that interest @ 5% p.a. on capital as provided in the partnership Deed has not

been/credited to the capital account before distribution of profits. It is decided to i
make an adjusting entry in the beginning of next year. Give the necessary
adjustment entry.

ol. Statement Showing Adjustments
Particulars Ram Mohan Firm
Dr.®) | Cr. () |Dr. (D) [Cr. (X) | Dr. D) |Cr. R)
Interest on Capital to be credited 200 400 600
Balance to be debitedin1:1 300 300 600
Adjustments 100 100
To 3000 300f 400 400f 600| 600
Adjusting Journal Entry
Date Particulars LF| Dr.(®)| Cr. ()
Ram’s Capital A/c Dr. 100 -
To Mohan’s Capital A/c 100
(Being interest on Capital credited on adjustment)

Q. 63, Ram, Mohan and Sohan sharing profits and losses equally have capitals

of T 1,20,000, ¥ 90,000 and T 60,000. For the year 31st March, 2018 interest was

credited to them at 6% instead of 5%. Give adjustment journal entry.
Sol. ® Statement Showing Adjustments

Particulars Ram

Mohan

Sohan

Firm

Dr. (%) |Cr. (X) | Dr.

@(Cr. (D

Dr. (T)| Cr.(R)| Dr. (B)|Cr. (D)

Interest on Capital
Credited wrongly - 7,200 5,400

To

B

Adj
To

credited 6,000
to be credited 1:1:1 900
tments 300

4,500
~ 900

3,

600

300

3,000]13,
900, 2,700

_ 116,200
500

7,200| 7,200 5,400

5,400

3,

900 | 3,900| 16,

200] 16,200

Adjusting Journal Entry

Date

Particulars

LF| Dr. (@

Cr. X

Ram’s Capital A/c
To Sohan’s Capital A/c
(Being interest on capital adjusted)

Dr.

300

300

Note : It is assuming that given capital of partner’s is fixed.



TS Q.64.Ram, Shyam and Mohan were partners in a firm sharing profits zlg f
0,

losses in the ratio of 2:1: 2. Their capitals were fixed at T 3,00,000, ¥ 1,00,000, €
2,00,000. Forthe year 31st March, 2018 interest on capital was credited to them
9% instead of 10% p.a. The profits for the year before charging interest was T
2,50,000. Show your working notes clearly and pass necessary adjustment entry.
Sol. Adjustments Tables

Particulars Ram Shyam Mohan Firm
Dr. (9|Cr.0) [Dr.®)|Cr.(D) [DL.D) [Cr.(D) [Dr.O|Cr(D)

on Capital @1% 3,000 ~| 1,000 -| 2,000] 6000 -
Debitedinratio2:1:2 | 2,400 ~-|[1200( ~| 2400 - -| 6,000
d

s |

Adjustments 600 - - 200 -| 400 - -
: 3,000| 3,000 { 1,200| 1,200| 2,400| 2,400| 6,000| 6,000
{;djusting Journal Entry
Date ) Particulars LF| Dr@®)| Cr.)
Shyam’s Current A/c ) Dr. " 200
Mohan’s Current A/c - -Dr. 400
To Ram'’s Current A/c 600
(Being adjustment entry passed)

Q. 65. Mita and Usha are partners in a firm sharing profits in the ratioof2:3.
Their Capital Account as on 1st April; 2015 showed balances of ¥ 1,40,000 and ¥
I,ZI:}JOU respectively. The drawings of Mita and Usha during the year 2015-16

¥ 32,000 and T 24,000 respectively. Both the amounts were withdrawn on
1st January 2016. It was subsequently found that the following items had been
omitted while preparing the final accounts for the year ended 31st March, 2016 :

(a) Interest on Capital @ 6% p.a-
(b) Interest on Drawings @ 6% p.a.
(b) Mita was entitled to a commission of ¥ 8,000 for the whole year.
Showing your working clearly, pass a rectifying entry in the books of the
Sol. Statement Showing Past Adjustments
Particulars Mitra Usha Firm
Dr. Cr. Dy. Cr. Dr. Cr.
(i) Interest on Capital Now | =~ —| 8,400 —°| 7,200{ 15,600 -
Credited
(i7)| Interest on Drawing now 480 —| 360 — —| 840
Debited
(ifi) | Commission to Mitra —| 8,000 — —| 8,000 -
Sub-total 480( 16,400 360 ( 7,200| 23,600 840




—W leference will be Adjust 9,104 —| 13,656 - —| 22,760 {
.?tal ' 9,584 | 16,400| 14,016 | 7,200{ 28,600 23,600 b
(o) Different will be Adjusted 6,816 - —| 68186
tobe (Cr) ] (Dr))
Adjustment Entry
Date Particulars LF [Dr.(¥) | Cr.R)
() | Usha's Capital A/e Dr. 6,816
To Mitra's Capital A/c 6,816
(Being adjustment entry will be passed)
'Q, 66. Mohan, Vijay and Anil are partners, the balances of their capital

, the profits for the year ended March 31, 2016, T 24,000 had already been

credited to partners in the proportion in which they shared profits. Their drawings

were ¥ 5,000 (Mohan), T 4,000 (Vijay) and ¥ 3,000 (Anil) during the year.

Subsequently the following omissions were noticed and it was decided to bring

them into account. (i) Interest on capital @ 10% p.a. (ii) Interest on drawings Mohan

T 250 Vi}ay T 200 and Anil ¥ 150. Make necessary corrections thmugh a journal
‘entry and show your workings clearly.

ac;:%ts being X 30,000, T 25,000 and ¥ 20,000 respectively. In arriving at these

Sal. Statement Showing Adjustments
Particulars Mohan Vijay Anil Firm
Dr. (%) Cr(%) |Dr.(X) | Cr. (V)] Dr.(X)|Cr.(R) |Dr.(D)|Cr.(T)
Interest on Capital 2,700 2,100 1,500] 6,300
Interest on Drawings 250 200 150 , 600
Balance to be debited | 1,900 1,900 1,900 5,700
Adjustments 550 550
Total . 2,700| 2,700| 2,100 | 2,104 2,050] 2,050| 6,300] 6,300
: Adjusting Journal Entry
Date Particulars = LE|Dr. @ Cr.(D
Anil’s Capital Afc x Dr. 550
To Mohan's Capital A/c 550
(Being interest on capital & Drawing adjusted)
Working Notes:
Calculation of opening Capital and Interest thereon
Particulars Mohan Vijay Anil
Closing Capitals 30,000 25,000 20,000
Add: Drawings 5,000 4,000 3,000
- 35,000 29,000 23,000
Less: Profits 8,000 8,000 8,000
Opening Capitals ' 27,000 21,000 15,000
Interest @ 10% 2,700 : 2,100 1,500




‘.
A d. 67. Piya and Bina are partners in a firm sharing profits and losses in the.
ratio of 3 : 2. Following was the Balance Sheet of the firm as on 31 March, 2016 =0 =

Balance Sheet

Liabilities o - Assets _ "%
Capitals : Sundry Assets 1,20,000
Piy 80,000
Bi 40,000| 1,20,000
1,20,000 1,20,000

Th profits T 30,000 for the year ended 31st March, 2016 were divided between
the pﬁrtners without allowing interest on capital @ 12% p.a. and salary to Piya @

1,000 per month. During the year Piya withdrew ¥ 8,000 and Bina withdrew T
4,000 Showing your working notes clearly, pass the necessary rectifying entry.
Spl. Working Note—.
() Calculation of opening Capital
Particulars ' Piya | Bina
’Ld Closing Capital 80,000| 40,000
: Drawings : 8,000 4,000
88,000 44,000
‘Léss : Net Profitin3:2 18,000 12,000
Opening Capital 70,000 32,000
(i) Statement Showing Past Adjustment
Particulars Piya . Bina Firm
Dr. Cr. Dr. Cr. Dr. | Cr
(i) Interest on Capital at (12%)| .—| 8400 —| 3,840 12,240 -
Credited '
(i) Salary to Piya Credited —| 12,000 — — | 12,000 -
(ii}) Balance Profit Credited —| 3,456 —| 2304| 5760 -
(3:2)
(i) Profit already distributed | 18,000 —| 12,000 = — 130,000
ow (Dr.) '
ub-total 18,000 23,856 | 12,000 6,144 | 30,000( 30,000
(v) Difference will be adjusted | 5,856 — —| 5,856 — —
be: (Cr) — —| (Dr) - =
Total 23,856 | 23,856 12,000| 12,000 | 30,000 30,000
_ Adjustment Entry
Date Particulars LF|Dr. (%) | Cr.R)
(¥ Bina's Capital A/c i Dr. 5,856 :
To Piya's Capital A/c . . 5,856
(Being adjustment entry will be passed)




1,71 Q.68. The firm of Harry, Porter and Ali, who have been sharing profits in the .;
ratio of 2: 2: 1, have existed for some years. Ali wants that he should get equal |
share in the profits with Harry and Porter and he further wishes that the change
in the profit-sharing ratio should come into effect retrospectively were for the
three years, Harry and Porter have agreement on this account, The profits for the
last three years were—

“Year  2015-16 2016-17 2017-18
Profit () 2,20,000 2,40,000 2,90,000

Show adjustment of profits by means of a single adjustment Journal entry.
Sal. Working Notes—

(i) Total Profit for last three years
=¥ [2,20,000 +2,40,000 + 2,90,000] = T 7,50,000
Particulars Harry | Portar Ali
Profit distribution Previously in [2:2:1] 3,00,000 | 3,00,000 | 1,50,000
Profit distribution in New Ratioof [1:1:1] 2,50,000 | 2,50,000 | 2,50,000
Difference in Profit adjust. will be 50,000 | 50,000 | 1,00,000
Dr. Dr. Cr.
Journal
Date Particulars LF| Dr.()| Cr.R)
() | Harry's Capital a/c Dr. 50,000
Portar's Capital A/c Dr. 50,000
To Ali's Capital A/c 1,00,000
(Being rectification entry will be Passed)
Q! 69. On 31st March, 2018, after the closing of the accounts, the capital

accounts of P, Q and R stood in the books of the firm at T 40,000, T 30,000 and ¥
20,000 respectively. Subsequently, it was discovered that interest on capital @ 5%
. had bT:en omitted. The profits for the year ended 31st March, 2018 amounted to T

60,000land the partners’ drawings had been P—3 10,000, Q—% 7,500 and R— 4,500.

The profit-sharing ratio of F, Q and R is 3: 2:: 1. Give necessary adjustment entry.
Sol. Calculation of Opening Capital

Particulars : PR) a0/ R®)

Closing capital 40,000 30,000 20,000

Add : Drawings 10,000 7,500 4,500

.Total . 50,000 37,500 24,500

Less : Share of profits 30,000 20,000 10,000

Opening capital 20,000 17,500 14,500




a0 Adjustment Table ;’?
- Particulars P ' R Firm 3|
. Dr. (%) | Cr.(R) | Dr.(R)| Cr.(3) |Dr.(X) |Cr.(R) |Dr.R) [Cr.R)
Profit Wrongly credited| 30,000]  -{20,0000  -[10,000 1 —|e0,000
Interest to be credited —| 1,000 - - 875 - 725/ 2,600 -
Profit to be distributed —128,700 -19,133 -| 9,567|57,400 —
Adjustment -| 300 8 - 292 - - -
Tot 30,000(30,000 | 20,008| 20,008 {10,292 | 10,292 60,000 | 60,000
ADJUSTMENT ENTRY
Date _ Particulars LE| Dr.(%)| Cr. (D)
P’s Capital A/c Dr. 300 :
To Q's Capital A/c 8
To R’s Capital Afc 292
(Being interest on capital and profit adjusted)

Q.

70. A, B and C were partneis. Their capitals were A~X 30,000; B-X 20,000

and C-X 10,000 respectively. According to the Parinership Deed, they were entitled

to an

interest on capital @ 5% p.a. In addition B was also entitled to draw a salary

of T 500 per month. C was entitled to a commission of 5% on the profits after
charging the interest on capital, but before charging the salary payable to B. The
net profits for the year were ¥ 30,000 distributed in the ratio of capitals without
providing for any of the above adjustments: The profits were to be shared in the

ratioE:S 322
Pass necessary ad]ustment entry showing the working clearly.
Sol. Statement Showing Adjustments to be made
Particulars A’s Current Alc|B’s Current Alc|C’s Current Ale|  Firm
Dr.(%) [Cr.(})| Dr.) [Cr.(B) | D1 (R) | Cr(D)| Dr(D) | Cr.R)
1. Profit already '
distributed (3:2 : 1)| 15,000 —| 10,000 —| 5,000 - — {30,000
fit should be
distributed : - _ ]
Interest on Capital —1 1,500 —1 1,000 —| - 500| 3,000 -
Sal — — 6,000 - —| 6,000 -
Commission
5 i - -
——x30,000-3, = = = = = 2
[100 0-3 000] ‘ 1,350( 1,350
Net Profitdistributed| . —| 9,825 —| 5895 —|3930{19,650] —
(5:3:2) 15,000/11,325( 10,000{12,895| 5,000 | 5,780| 30,000/ 30,000
Balarice tobe Adjusted| 3,675 (Dr.) | 2,895 (Cr.) 780 (Cr.) NIL
(Net Effect) ~
I




28 Adjusting Journal Entry ;f
"Date Particulars LE] Dr. ®[Cr(®
A's Current AJc Dr. 3,675
To B’s Current Aje 2,895
To C’'s Current A/c 780
(Being adjustment entry passed)

Note : It is assumed that partners have fixed Capitals.
Q, 71. Mannu and Shristhi are pariners in a firm sharing profit in the ratio 3

: 2. Following is the balance Sheet of the firm as on 31st March, 2018 :

Balance Sheet
as at 31st March, 2018 .
Liabilities T Assets T
MamE'ls Capital 30,000 Drawings
Shristhi's Capital 10,000 | 40,000 Mannu 4,000
Shristhi 2,000 6,000
Other Assets 34,000
40,000 40,000

fit for.the year ended 31st March, 2018 was 5,000 which was divided in

the agreed ratio, but interest @ 5% p.a. on capital and @ 6% p.a. on drawings was
inadvertently enquired. Adjust interest on drawings on an average basis for 6
months. Give the adjustment entry.

(i Calculation of opening Capital
Particulars Mannu  Shristhi
Closing Capital 30,000 10,000
: Net Profit dist. in [3 : 2] 3,000 2,000
Opening Capital 27,000 8,000
(i Statement Showing Past Adjustment
Particulars Mannu Shristhi Firm
Dr. Cr. Dr. Cr. Dr. Cr.
() Profit already distributed 3,000 — | 2,000. - —| 5,000
now Debited
(if) Interest on Capital as (5%) — | 1,350 — 400 | 1,750 —
Credited :
(iii) Interest on Drawing at (6%) 120 — 60 - = 180
Debited
(iv) Balance Profit (Cr.)in3:2 — | 2,058 —| 1,372 | 3,430 =
otal 3,120 | 3,408 | 2,060 | 1,772 | 5,180| 5,180
() [Pifference will be Adjusted 288 - - 288
to be (Cr) (Or) [
1



-

~ Adjustment Entry %:;
Date Particulars ' LF|Dr.Q) |Cr.()
()| | Shristhi's Capital A/c Dr. 288 .
To Mannu's Capital A/c - 288
(Being adjustment entry will be passed)

Q. 72. A, B and C are partners in a firm: Net profit of the firm for the year
ended 31st March, 2018 is T 30,000, which has been duly distributed among the

mers, in their agreed ratio of 3 : 1: 1 respectively, It is discovered on 10th
April, 2018 that the undermentioned transactions were not passed through the
books of account of the firm for the year ended 31st March, 2018.

ﬁa) Intrest on Capital @ 6% per annum, the capital of A, B and C being €
SU,UFU, ¥ 40,000 and T 30,000 respectively.

b) Interest on drawings: A X 350; B T 250; C T 150.

(c) Partnership Salaries: A T 5,000; B € 7,500.

d) Commission due to A (for some special transaction) ¥ 3,000.

ou are required to pass a journal entry, which will not affect Profit and

Loss Account of the firm and rectify the position of partners inter se.
Sol. . Statement Showing Adjustments

Particulars A B Cc Firm

Dr. (®)|Cr.(D) | Dr.(T) |Cr.R) |Dr.(R) | Cr.(T) | Dr.(D) | Cr (D)
Profit cr. wrongly | 18,000 —| 6,000 —| 6,000 - — 30,000
[r}t. on Capital : —| 3,000 —| 2,400 —| 1,800 7,200 -
Int. on draw 350 - 250 —| 150 - — 750
Salaries to A and B —1 5,000 —| 7,500 - —{12,500{ —
Commission to A —| 3,000 - — — —| 3,000 -
Balance 4,830 1,610| 1,610, 8050

tal 18,350{15,830| 6,250|11,510| 6,150| 3,410|30,750| 30,750
Adjustments —1 2,520| 5,260 - —| 2,740
Adjusting Journal Entry
Date Particulars : LE|Dr.(®|Cr. )
A’s Capital A/c . Dr 2,520
C's Capital A/c Dr. 2,740

To B's Capital A/c 5,260
(Being adjustment made due to changes.)

Q. 73. On 31st March, 2014, the balances in the Capital Accounts of Saroj,
Mahinder and Umar after making adjustments for profits and drawings, etc.,
were ¥ 80,000, T 60,000 and ¥ 40,000 respectively. Subsequently, it was discovered
that the interest on capital and drawings has been omitted.

(a) The profit for the year ended 31st March, 2014 was T 80,000.




=)

uring the year Saroj and Mahinder each withdrew a sum of ¥ 24,000 in

e;ual talements in the end of each month and Umar withdrew ¥ 36,000.
() The interest on drawings was to the charged @ 5% p.a. and interest on
capital was to be allowed @ 10% p.a.
(d) The profit-sharing ratio among partnerswas 4:3: 1.
Showing your workings clearly, pass the necessary rectifying entry.
Sol. Working Note—
(i) Calculation of opening cap:tal
Particulars Saroj | Mahinder| Umar
Closing Capital () “80,000| 60,000 40,000
Add } Drawings (%) 24,000| 24,000 36,000
1,04,000| 84,000 76,000
Less | Profit (in4:3:1) 40,000| 30,000 10,000 -
opening capital 64,000 54,000 66,000
Interest on capital (10% P.a) (%) 6,400 5,400 6,600
Interest on Drawing (5% Pa.) (%) 550 550 900
(#7) Statement Showing Adjustment of Interest on Capital & Drawings.
* Particulars Saroj Mahinder Umar Firm
T" Dr. Cr. Dr. Cr. Dr. Cr. Dr. Cr.
Int. on Capital — | 6,400 — | 5,400 — | 6,600 | 18,400 —
Int. on Draw. 550 | —| sso| —| 90| —| —| 2000
Adjusted Amt. | 8,200 — | 6,150 —| 2,050 - —1| 16,400
Total 8,750 | 6,400 | 6,700 | 5400} 2,950 | 6,600 (18,400 18,400
Rectification - | 2,350 — 1 1,300 | 3,650 - - -
Dr. Dr. Cr.
Journal
Date Particulars LE Dr.(Q)|Cr.(D
Saroj's Capital Afc Dr. 2,350
Mahinder's Capital A/c Dr. 1,300
To Umar's Capital A/c 3,650
(Being rectification entry Passed)
Q. 74. The Capitals of A, B and C as on 31st March, 2018 amounted to €
90,000, ¥ 3,30,000 and T 6,60,000 respectively. The profits amounting T 1,80,000
for the year 2017-18 were distributed in the ratio of 4: 1: 1. after allowing interest

on Capital @ 10% p.a. During the year, each partner withdrew T 3,60,000.
The Partnership Deed was silent as to pmht—shanng ratio but provided for

Pass the necessary adjustment entry showing the working clearly.

mterea}on capital @ 12%.



5 Sol. (i) Calculation of opening Capital -3
\ ' ‘ A B c ¥
Let Opening Capital of x y z 4
+ Interest on capital at (10%) 0.1x 0.1y 0.1z
+ Net Profit of (¥ 1,80,000) 1,20,000 30,000 30,000
in4d:1:1 A
(-) Drawings . 3,60,000  3,60,000 . 3,60,000
it is equal to Clossing Capital 90,000  3,30,000  6,60,000
50, opening capital of
A :x+0.1x +1,20,000 - 3,60,0600= 90,000
x=[90,000 + 3,60,000 — 1,20,000}/ 1.1
= ¥ 3,00,000 '
B:y +0.1y+ 30,000 - 3,60,000= 3,30,000
y= T [3,30,000 + 3,60,000- 30,000}/ 1.1
= ¥ 6,00,000
C:z+0.1z+30,000-3,60,000= 6,60,000
z= T [6,60,000 - 3,60,000 - 30,000]/1.1
= ¥ 9,00,000
Statement Showing Past Adjustment
Particulars A B C, Firm
Dr. ok T D | ERadDE"EeE | D | ER
(i) Wrong Amount 30,000 —| 60,000 — | 90,000 - —|1,80,000
terest at. (10%) (Dr)
() Wrong Amt. of Profit {1,20,000 —| 30,000 — | 30,000 - —|1,80,000
(4:1:1). :
(ii) Interest on Capital 36,000 —| 72,000 — |1,080001216,000 -
t (12%) (Cr.) .
(iv) Balance Net Profit —| 48,000, —| 48,000 — | 48,000(144,000 —
[1:1:1](Cr)
ub-total 150,000| 84,000] 90,000{120,000 {120,000 |156,000860,000(360,000
(v) Diff. will be Ajust —| 66,000, 30,0000 — | 36,000 s s =
o be (Dr) (Cr) (Cr)
Total 150,000)150,000 120,0QD'IZG,DUD {156,000 {156,000360,000 360,000
Adjustment Entry '
Date Particylars LF| Dr.R) | Cr.(R)
({)| | A'sCapital A/c Dr. 66,000
To B's Capital A/c 30,000.
To C's Capital A/e 36,000
(Being adjustment entry will be passed) -




Q. [5.- The Capital Accounts of A and B stood at T 4,00,000 and T 3,00,000
respectively after necessary adjustments in respect of the drawings and the net
profits for the year ended 31st March 2018. It was subsequently discoveted that
5% p.a. interest on capitals and also drawings were not taken into account in
arriving at the distributable profit. The drawings of the pariners had been A
12,000 drawn at the end of each quarter and B ¥ 18,000 drawn at the end of each
half ye -

The profits for the year as adjusted amounted to T 2,00,000. The partners
share profits in the ratio of 3 : 2. You are required to pass Journal entries and
show adjusted Capital Accounts of the partners.

Sol. . Calculation of Opening Capital
Particulars A B
Closing Capital 4,00,000 3,00,000
Add : Drawings 12,000 % 4 48,000 18,000 x 2 36,000
Total | 448,000 - 3,36,000
Less ; | Profit 2,00,000 x3/5 .| 1,20,000| 2,00,000 = 2/5 80,000
Opening Capital 3,28,000 2,56,000
Interest on Capitals Interest on Drawings
A ={3,28,000 x5%= T 16,400 A = 48,000 x 5% % 4.5/12 =% 900 .
B=256,000x5% = ¥ 12,Bﬂb B =36,000x5% x 3/12 =450
Journal Entries
Date : Particulars LF| Dr. ®| Cr.(®
Profit & Loss Adjustment A/c Dr. 29,200
To A’s Capital A/c - 16,400
To B's Capital A/c ! 12,800
(Being interest on capitals credited to partners)
A’s Capital Afe Dr. 900
B's Capital A/c - Dr. 450
To Profit & Loss Adjustment A/c 1,350
(Being interest on drawings debited to partners)
A’s Capital A/c (27,850 x 3/5) " Dr 16,710
B’s Capital A/c (27,850 x 2/5) Dr. 11,140
To P & L Adjustment A/c (29200 — 1350) 27,850
(Being loss on adjustment debited to partners)

4
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Iﬁ. Partner’s Capital Account _ . C‘f.'l
Particulars A®| BE) Particulars A® | B (t@_ﬁ
To P/L Adjustment A/c ByBalanceb/d | 4,00,0003,00,000~
,(Interest on drawings) 900 450 | By P/L Adjust. A/c X
To P/L Adjustment A/c interest on capitals 16,4001 12,800
s oni adjustment) | 16,710, 11,140
To Balance ¢/d 3,98,790,3,01,210
4,16,400/3,12,800 4,16,400,3,12,800

.76.X and Y are partners sharmg profits and losses in the ratio of 3: 2. They
employed Z as their Manager to whom they paid a salary of ¥ 7,500 per month. Z
had eposited € 2,00,000 on which interest was payable @ 9% p.a. At the end of
the ccolmtmg year (i.e., 31st March, 2018) 2017-18 (after division of the year's
profits), it was decided that Z should be treated as a partner with effect from 1st
Aprﬁ 2014 with 1/6th share of profits, his deposit being considered as capital

ing interest @ 6% p.a. like capitals of other partners. The firm's profits and
losses after allowing interest on capitals were 2014-2015 : Profit X 5,90,000; 2015-
16 : Profit T 6,26,000; 2016-17 : Loss T 40,000 and 2017-18: Profit T 7,80,000.
ecord necessary Journal entries to give effect to the above.
Note—Interest on capital is to be allowed as a charge.
Sol. Working Notes
(7) Amount Payable to 'Z' (As Manager) = Salary + Interest on Loan
= T [(7,500 x 12 x 4) + (2,00,000 x 9% x 4)] .
= ¥ (3,60,000 + 72,000) = ¥ 4,32,000
if) Amount Payable to 'Z' (As Partner) = Interest on Capital + Profit
= ¥ [(2,00,000 x 6% x 4)] + [(19,56,000 + 4,32,000 — 48,000) x 1/6]
= T (48,000 + 3,90,000) = ¥ 4,38,000
(1)) Amount of Adjustment = T (4,38,000 - 4,32,000)
, = ¥ 6,000 :
(lv) Amount Debited to x — (6,000 x 3/5) =¥ 3,600
— (6,000 x 2/5) =T 2,400

Journal
Date Particulars L.E|Dr. X)|Cr.R)
(1) | Z's Loan A/c . Dr. 2,00,000
To Z's Capital A/c 2,00,000
(Being amount of Loan Convert into Capital) '
(if) | x's Capital Afc Dr. 3,600
- | ¥'s Capital Afc Dr. 2,400
To Z's Capital A/c - 6,000
(Being amount of Adjustment made) '




Z}n Q 77. A and B are partners sharing profits in the ratio of 2: 1. They decided 1{
to admit C, their manger, as a pariners from 1st April, 2017, giving him 1/5th &
share of profit. C, while a manager, was getting a salary of ¥ 50,000 p.a. plus a
commission of 10% of the net profit after charging such salary and commission.
It was also agreed that any excess amount which C receives as a partner (over his
salary and commission) will be borne by A. Profit for the year ended 31st March,
2018 amounted to T 6,44,000, before payment of salary and commission. Prepare
Profit and Loss Appropriation Account.
Sol. Working Note—
(i) “C” (As Manager) = ¥ 50,000 + [6,44,000 — 50,000 = (10/110)]
, = ¥ 50,000 + 54,000 = £ 1,04,000
(if} “C” (As Partner) = 6,44,000 x (1/5) = ¥ 1,28,800
(iif) Deficiency borne by "A” = ¥ 1,28,800 - 1,04,000
= ¥24,800

Profit and Loss Appropriation A/c

as at March, 31, 2018

Particilirs T Particulars 7

To Divisible Profit c/d | By Profit & Loss Afc ~| 6,44,000

A [(6/44,000-1,04,000) x (2/3)]
3,60,000
Less : To‘C’ 24,800 | 3,35,200|.
B [(6,44,000 - 1,04,000) = (1/3)] | 1,80,000
C [50,000 + 54,000] 1,04,000
Add : From “A" 24800 | 1,28,800

Total 6,44,000| Total 6,44,000

Q. 78.X and Y are partners in a firm sharing profits in the ratio of 3 : 2. They
have a manager, Z, who gets ¥ 10,000 p.m. salary plus commission of 5% of the
profit after cha.rging his salary and commission. Now, they decide to admit Z as
a partner, gnrmg him 1/5th share in the profits of the firm. Any excess amount
whl Z receives as a partner (over his salary and commission) will borne by X.
fit for the ended 31st March, 2018 amounted to ¥ 8,40,000 after charging
Z’s salary. Prepare Profit and Loss Appropriation Account showmg the division
of profit for the year.
Sol. Wurkmg Note—
() “Z” (As Manager) = ¥ (10,000 x 12) +[8,40,000 x (5/105)]
- ) = ¥1,20,000 + 40,000 =¥ 1,60,000
(il) “Z" (As Partner) = T [(8,40,000 +1,20,000) x (1/5)]
: = ¥1,92,000
(1':'? Deficiency = ¥ (1,92,000 - 1,60,000) = ¥ 32,000




Profit & Loss Apprapriation A/c -ﬁ ; ':
. as at March 31, 2018 oh
Particulars z ~ Particulars T 9
To Divisible Profit By Profit & Loss A/c 9,60,000
x [(9,60,000 - 1,60,000)x (3/5)] | - [8,40,000 +1,20,000]
: 4,80,000
s:To"Z" 32,000 | 4,48,000

y (9,60,000 —1,60,000) x (2/5)] | 3,20,000

1,60,000
d : From “x" 32,000 | 1,92,000

T.Lta] ' 9,60,000] Total 9,60,000

Q. 79. A, B and C were in parinership sharing profits and losses in the ratio

of 4:2:1 respectively. It was provided that C’s share in profit for a year would

not

belessthan ¥ 7,500.The profit for the year ended 31st March, 2018 amounted

to ¥ 31,500. You are required to show the appropriation among the partners. The
Profit and [.oss Appropriation Account is not required.

Sol. Appropriation of Profit T
A (31,500 —7,500) x 4/6 16,000
B ( 31,500-7,500) x 2/6 8,000
e (Minimum Amount) : Z.500
31,500
Alternatively: A=31,500 x 4/7 = 18,000
LesstoC=3,000%x2/3 = 2000 16,000
B =231,500 x 2/7 = 9,000
LesstoC=3,000x1/3 = 1000 8,000
' C=231,500%1/7 = 4500

Add from A=2,000 :
Add from B=1.000 3.000 _7.500
_ - 31,500
Q. 80. A and B are pariners sharing profits in the ratio of 3: 2, C was admitted

Lesf : transfered to C 400 | 17,600

for 1/6th share of profit with a minimum guaranteed amount of ¥ 10,000. At the
.close of first financial year the firm earned a profit of ¥ 54,000. Fmd out the share
of profit which A, B and C will get.

Sol. Profit and Loss Appropriation Account
Dr. ; : Cr.

Particulars A W Particulars . €

‘To Net profit trans. to Cap. A/c By Net profit b/d 54,000
A (54,000 x 3/6) 27,000
Less : transfered to C 600 | 26,400
B (54,000 x 2/6) 18,000




%_ ;,0%0 x1/6) 9,000
Add ;: From A (1000 x 3/5) 600

From B (1000 x 2/5) 400 | 10,000
54,000 54,000

Q. 81. X, Y and Z entered into partnership on 1st October, 2017 to share profits
and losses in the ratio of 4:3: 3. X, personally Guaranteed that Z's share of proﬁt
after charging interest on capital @ 10% p.a. would not be less than ¥ 80,000 in
any year. The capltal contributions were : X—¥ 3,00,000, Y—¥ 2,00,000 and Z—X
1,50,000.

The Profit for the year ended 31st March, 2018 amuunted to  1,60,000, Prepare
Profit and Loss Appropriation Account.

Sol. P & L Appropriation A/c
" | Particulars I Particulars T
To Interest on Capital ByP&1A/c 1,60,000

x (3,00,000 x 10% x 6/12) 15,000
" - y(2,00,000*10% = 6/12) | 10,000
Z (1,50,000 % 10% x 6/12) 7,500
To Net pt. trans. to cap. A/c

X 51,000
(1,27,500 % 4/10)
Less :to z's 1.750| 49,250
y's (1,27,500 x 3/10) 38,250
2's (1,27,560 x 3/10) 38,250
Add : From 'x' 1750 40,000
[(80,000 x 14)- 38,250]
Total 1,60,000] Total 1,60,000

Q.i82. A, B and C are partners in a firm. Their profit sharing ratiois 2:2: 1.
Huwe1 rer, Cis guaranteed'a\nunmtum amount of ¥ 10,000 as share of profit every
year. Any deficiency arising on that amount shall be met by B. The profits for the
two years ended 31st March 2017 and 2018 were T 40,000 and X 60,000 respectively.

Prepare P/L Appropriation A/c for the two years.

Sol. Profit and Loss Appropriation Account
Dr. for the year ended 31st march, 2017 Cr.
Particulars : L4 Particulars g
To A =140,000 x 2/5 16,000 | By Profits for the year 40,000
ToB=40,000x2/5 =16,000
Less:to C = 2,000| 14,000(.
ToC=40,000x1/5 . = 8,000
Add : from B = 2,000| 10,000
‘ 40,000 40,000
: ,

ALt



™

- Profit and Loss Appropriation Account £
Dr.. for the year ended 31st march, 2016 o
Particulars T Particulars T 4
To Al= 60,000 x 2/5 24,000| By Profits for the year 60,000
To B{= 60,000 x 2/5 24,000 -
To Q= 60,000 x1/5 12,000
: 60,000 60,000

Q. 83. A,BandCareparhersshanngproﬁtsintheratioofs 4:1.Cis given

antee that his minimum share of profits in any given year would be at
leas X 5,000. Deficiency, if any, would be borne by A and B equally. The prof:its
for the year 2017-18 amounted to T 40,000, Pass necessary Journal entries in the

books of the firm,

Adjusting Journal Entry
Date Particulars L.F| Dr. (%) Cr.(®)
P&LApp.Alc _ Dr. 40,000
To A’s Capital A/c 19,500
To B’s Capital A/c 15,500
To C's Capital A/c 5,000
(Being profit distributed among partners)
Appropriation of Profit
) T
A =40,000 x 5/10 = 20,000
Less to C=1,000 x 1/2 = 500 19,500
B =40,000 x 4/10 £ 16,000
Less to C=1,000 x 1/2 = 500 15,500
C=40,000 x 1/10 = 4,000
Add: From A= 500
Add: From B=500 1.000 5,000
- 40,000
Q. 84. Vikas and Vivek were partners in a firm sharing profits in the ratio of
3:2. On1st April, 2017 they admitted Vandana as a new partner for 1/8th share

e profits with a guaranteed profit of ¥ 1,50,000. The new profit-sharing ratio
between Vikas and Vivek will remain the same but they decided td bear any
deficiency on account of guarantee to Vandana in the ratio 2: 3. The profit of the

for the year ended 31st March, 2018 was T 9,00,000,

are Profit and Loss Appropriation Account of Vikas, Vivek and Vandana

Sol. Working Note—
(i) Total Profit=% 9,00,000

for i.he year ended 31st March, 2018.

Share of Vandana = € 9,00,000 x (1/8) = ¥ 1,12,500
of Vikas =¥ (9,00,000-1,12,500) x 3/5 = X 4,72,500
of Vivek = ¥ (9,00,000 - 1,12,500) x 2/5 = ¥ 3,15,000



Z\:’Q:’a Deficiency =  1,50,000 —1,12,500 = ¥ 37,500
' borne by Vikas = ¥ 37,500 x (2/5) = 15,000
by Vivek = 37,500 x (3/5) = T 22,500
Profit and Loss Appropriation A/c
Dr. as at March 31, 2018 Cr.
 Particulars 'R Particulars g
To Divisible Profit By Profit & Loss A/c 9,00,000
Vi 472,500
Less : to Vandana 15,000 | 4,57,500
Viv 3,15,000
Less : to Vandana 22,500 2,92,500
Vandana 1,12,500
Add ; From Vikas 15,000
qu[:Vivek 22,500 | 1,50,000
To 9,00,000| Total 9,00,000

Q. 85. Pranshu and Himanshu are partners sharing profits and losses in the
ratio of 3 : 2 respectively. They admit Anshu as partners with 1/6 share in the
profit of the firm. Pranshu personally guaranteed that Anshu's share of profit
would not be less than X 30,000 in any year. The net profit of the firm for the year
ending 31st March, 2013 was ¥ 90,000.

Prepare Profit and Loss Appropriation Account. (Al 2014 O)
Sol. Profit and Loss Appropriation Account
Particulars T | Particulars T
To Net Profit transferred By Profit & Loss A/c 90,000
Pranshu (90,000 x 3/6) 45,000
Less : to Anush 15,000 | 30,000
Himanshu (90,000 x 2/6) 30,000
Ansi'lu (90,000 = 1/6) 15,000
Add : Brom Pranshu 15,000 30,000
Total 90,000 Total 90,000

Q./86. A, B and C are partners in a firm sharing profits in the ratio 3:2: 1.
They earned a profit of T 30,000 during 2017-18. Distribute the profitamong A, B
and Cif: ;

(@) C’s share of profit is guaranteed to be ¥ 6,000 minimum.
(b} Minimum profit payable to C amounting to ¥ 6,000 is guaranteed by A.
(c) Guaranteed minimum profit of 6,000 payable to C is guaranteed by B.-

(d) Any deficiency after making payment of guaranteed ¥ 6,000 will be borne

byATldB in the ratio of 3: 1.

i,



PTSoL.

\ " Casea: Appropriation of Profit

A =30,000 = 3/6

Less : to C=1,000 x 3/5
B = 30,000 x 2/6

Less: C=1,000%2/5
C=230,000x1/6

Add : From A

Add ; From B

A=30,000x 3/6
Less:to C

B =30,000 x 2/6

C=30,000x1/6
Add : From A

A =30,000 % 3/6

B =30,000 x 2/6
Less : to C.

C=230,000x=1/6
Add :From B

A =30,000 = 3/6
Less : to C (1,000 x 3/4)
B =30,000 x 2/6
Less : to C (1,000 x 1/4)
C=30,000x1/6
Add : From A (1,000 x 3/4)
Add': From B (1,000 x 1/4)

[ |

Caseb: Appropriation of Profit

=

Casec: _ Appropriation of Profit -

Ciged: Appropriation of Profit

15,000
600
10,000
400
5,000
600
400

15,000
1,000
10,000
5,000

1,000

15,000
750
10,000
250
5,000
750
250

At L,

14,400

9,600

6,000
30,000

14,000
10,000

6,000
30,000

14,250

9,750

6,000
30,000

Q. 87. A and B are in partnership sharing profits and losses in the ratio of 3 :

2. They decided to admit C, their manager, as a partner with effect from 1st April
2017, giving him one-fourth share of profits. C, while a manager, was in receipt
of salary of ¥ 27,000 per annum and a commission of 10% of the net profits after

g such salary and commission.

terms of the partnership deed, any excess amount, whlch Cwill be entitled
to receive as a pariner over the amount which would have been due to him if he
continued to be the manager, would have to be personally borne by A out of his



share of profit. Profit for the year ended 31st March, 2018 amounted to € 2,25, uod‘
“VYou required to show the Profit & Loss Appropriation Account for the yeﬁ:
ended 31st March 2018.

Sol.
' Dr. Profit & Loss Appropriation Account Cr.
Particulars i < Particulars T
To A = [1,80,000 x (3/5)}=1,08,000 By Profit for the year 2,25,000
Less:to C =_11,250|. 96,750 3
To B{=1,80,000 x 2/5 72,000
To C= Salary = 27,000

Add: Commission
(1,98,000 x10/110) = 18,000
Addi from A (Balancé)= 11.250| 56,250
- 2,25,000 2,25,000
Profit after Salary =  2,25,000 — 27,000 = ¥ 1,98,000 :
Profit after Salary & Commission = ¥ 1,98,000 - 18,000 = ¥ 1,80,000
Q. 88. Asgar, Chaman and Dholu are partners in a firm. Their capital accounts
stood at € 6,00,000, ¥ 5,00,000 and T 4,00,000 respectively on 1st April 2017, They
shared Profit and Losses in the proportion of 4 : 2 : 3, Pariners are entitled to
st on capital @ 8% per annum and salary to Chaman and Dholu @ ¥ 7,000
. per month and ¥ 10,000 per quater respectively as per the provision of the
Partnership Deed.
holu’s share of profit (excluding interest on capital but including salary) is
teed at a minimum of 1,10,000 p.a. Any deficiency arising on that account
8 be metby Asgar. The profits for the year ended 31st March, 2018 amounted
to T 4,24,000.
pare Profit and Loss Appropriation Account for the year ended 31st March,

PR s R e—

8.
Sol,
Dr. Profit & Loss Appropriation Account Cr.
as at March 31, 2018
Particulars . [ 4 Particulars L4
To lﬂlt. on Capital : ‘ ByP&LA/c ' 4,24,000
gar 48,000
éizman 40,000
Dholu 32,000 | 1,20,000
To Salary : :
(7000 = 12) 84,000 | .
D:Eolu (10,000 x 4), _40,000 | 1,24,000
To Net Profit :
*Asgar 80,000

I



ﬂt[ Dholu 10,000 |* 70,000

1an . 40,000 |.

Dholu 60,000
Add : Deficiency

[¥ 1,110,000 — (40,000 + 60,000)

borne by Asgar 10,000 70,000

| 4,24,000 4,24,000

Q. 89. Ankur, Bhavna and Disha are partners in a firm. On 1st April 2017, the

50,000|p.a. and a commission of ¥ 3,000 per month to Disha as per thé provision
of the Partnership Deed.

Bhavna’s share of profit (excluding interest on capital) is guaranteed at not
less than 1,70,000 p.a. Disha’s share of profit (including interest on Capital but
excluding commission is guaranteed at not less then ¥ 1,50,000 p.a. Any deficiency
arising on that account shall be met by Ankur. The profits of the firm for the year
ended 31st March, 2018 amounted to ¥ 9,50,000.

Tpa:e ‘Profitand Loss Appropriation Account for the year ended 31st March
2016.

Sal.
Dr. Profit & Loss Appropriation Account Cr.
as at March 31, 2018
: Particulars — Particulars T
To Int. on Capital : 3 ByP&LA/c 9,50,000
Ankur 84,000
Bhavna 36,000
Dis : 24,000 | 1,44,000
To Bhavna's Salary 50,000
To Disha’s Commission (3000x12) | 36,000
To Net Profit :
4,20,000
6,000 | 4,14,000
1,80,000
1,20,000

[X 1,50,000-(1,20,000 +24,000)
borne by Ankur 6,000 | 1,26,000

' . 9,50,000| 9,50,000
Q. 90. Ankur and Bobby were into the business of providing software

solutions in India. They were sharing profits and losses in the ratio 3 : 2, They
admi | Rohit for a 1/5 share in the firm. Rohit, an alumni of IIT, Chennai would




‘v’%el them to expand their business to various South African countries where l@
_ had|been working earlier. Rohit is guaranteed a minimum profit of T 2,00,000

for

e year. Any deficiency in Rohit's share is to be borne by Ankur and Bobby -

in tlée ratio 4 : 1. Losses for the year were T 10,00,000. Pass the necessary Journal
enires. ;
Sol. Working Note— (i) Total amount of Loss transferred to Rohit—
= ¥ [2,00,000+ (10,00,000 x 1/5)] = ¥ (2,00,000 + 2,00, 000) = ¥ 4,00,000
(i) Deficiency borne by—Ankur = ¥ (4,00,000 x 4/5) = ¥ 3,20,000
Bobby = ¥ (4,00,000 x 1/5) = T 80,000
Adjusting Jounal Entry 3
Date Particulars LE| Dr. ®) Cr.(T)
() | Ankur's Capital Afc Dr. 4,80,000
Bobby's Capital A/c Dr. 3,20,000
Rohit's Capital A/ec Dr. 2,00,000
To Profit & Loss Afc 10,00,000
(Being Loss for the year transferred)
(i) | Ankur's Capital A/c Dr. 3,20,000
Bobby’s Capital A/c Dr. 80,000
To Rohit's Capital Afc 4,00,000
(Being deficiency borne transferred)
Q. 91, Ajay, Binay and Chetan were partners sharing profits in the ratio of 3
: 3:2. The Partnership Deed provided for the following—
(i) Salary of T 2,000 per quarterto Ajay and Binay.
(ii) Chetan was entitled to a commission of X 8,000.
(#i) Binay was guaranteed a profit of X 50,000 p.a.
- |The profit of the firm for the year ended 31st March, 2015 was T 1,50,000

which was distributed among Ajay. Binay and Chetan in the ratio of2:2:1,

>d

-

without taking into consideration the provisions of Partnership Deed. Pass
nec.L.ssary rectifying entry for the above adjustments in the books of the firm.
Show your workings clearly. § (Delhi 2016C)
Sol.  Statement Showing Past Errors and their Adjustments
Ajay Binay Chetan Firm
Dr. Cr. Dr. Cr. Dr. Cr. Dr. Cr.
60,000 - 60,000 — 30,000 - © — | 150,000
- 18,000 - 8,000 — - 16,000 -
- - - - - 8,000 8,000 -
- 47,250 - 47,250 - 31,500 | 1,26,000 -
1,650 = o 2,750 1,100 = - —
61,650 55,250 | 60,000 58,000 31,100 39,500 | 1,50,000 | 1,50,000
— 1 6400 | - 2,000 8,400 - — -
' Dr. Dr. Cr. - - -



f ; Journal &
Y Date - Particulars LE| Dr. ®)|Cr. (ﬁ,
" [ Ajay’s Capital A/c Dr. 6,400 4
Binay’s Capital Afc Dr. 2,000
To Chetan'’s Capital A/c 8,400
(Being adjustment of errors & ommission made)

Q. 92. F, Q and R entered into partnership on 1st April, 2015 to share profits
and losses in the ratio of 12 : 8 : 5. It was provided that in no case R’s share in
pquit be less than X 30,000 p.a. The profits and losses for the period ended 31st
March were—2015-16 Profit T 1,20,000; 2016-17 Profit T 1,80,000; 2017-18 Loss
% 1,20,000. E

- | Pass the necessary Journal entries in the books of the firm.
Sol, Journal
Date Particulars - | LE| Dr. (D|Cr.D)
2014-15 '
(9) | Profit & Loss App. Alc Dr. | - |1,20,000
To P's Capital A/c [1,20,000 x (12/35)] : 57,600
To Q's Capital A/c [1,20,000 x (8/25)] 38,400
To R’s Capital A/c [1,20,000 x (5/25)] , 24,000
_|(Being Distribution of Profit madein 12: 8: 5)
(i) | P's Capital A/c [6,000 x (12/20)] Dr. 3,600
Q’s Capital A/c [6,000 x (8/20)] Dr. 2,400
To R's Capital A/c [30,000 —24,000] 6,000
(Being deficiericy of R's Share borne by P and Q)
Journal
* Date Particulars LE| Dr. (®|Cr.(3)
2015-16 '
() | Profit & Loss App. Afc Dr. 1,80,000
To P’s Capital A/c [1,80,000 x (12/25)] 86,400
“To Q's Capital A/c [1,80,000 x (8/25)] 57,600
To R’s Capital A/c [1,80,000 x (5/25)] 36,000
(Being distribution of Profit madein 12: 8:5)
, : Journal
‘Date Particulars LE| Dr.(%)|Cr. (D
2016-17
() | P'sCapital A/c [1,20,000 x (12/25)] Dr. 57,600
Q's Capital A/c [1,20,000  (8/25)] Dr. 38,400
R’s Capital A/c [1,20,000 = (5/25)] Dr. 24,000
To Profit & Loss A/c 1,20,000
(Being I oss of the year transfer to partners) , '




'leq P's Capital A/c [54,000 x (12/20)] Dr. 32,400
\ Q's Capital A/c [54,000 x (8/20)] Dr. 21,600
To R's Capital A/c . 54,000
(Being deficiency of Rsbomeby Pand Qin 12:8)

Q. 93. Three Chartered Accountants A, B and C form a partnership, profits
being shared in the ratio of 3: 2: 1 subject to the following: (i) C’s share of profits
guar, gfed to be not less than T 15,000-p.a., (i) B’ gives guarantee to the effect
that

8 fee eamned by him for the firm shall be equal to his average gross fee of
the preceeding five years when he was carrying on profession alone (which on
an average works out at ¥ 25,000). The profit for the first year of the partnership
are ¥ 75,000. The gross fees earned by B for the firm ¥ 16,000. You are required to
show Frofit and Loss Appropriation A/c (after giving effect to the above.)

Sol. ;

Dr. Profit & Loss Appropriation Account Cr.
Particulars [ ¢ Particulars 4

ToA=84000x3/6 = 42,000 .| By Profit for the year - 75,000

Less: foC=1,000x3/5= 600 41,400| By B (25,000 - 16,000) 9,000

ToB=84,000x2/6 = 28,000
Less: to C=1,000%2/5= 400 | 27,600

ToC=84,000x1/6 = 14,000
Add: from A= 600

- Add: from B =400 1.000| 15,000

84,000 84,000

This, A's Share =T 41,400
B's Share = ¥ 27,600 — 9,000 = € 18,600
C’s Share = € 15,000



Chapter - 2
GOODWILL : NATURE & VALUATION

| SOLVED PRACTICAL PROBLEMS —
, 1. Goodwill is to be valued at three years” purchase of four years’ average
profits. Profits for last four years ending on 31st March of the firm were—
15— T 12,000; 2016— T 18,000; 2017— T 16,000; 2018— T 14,000.
culate amount of Goodwill.
Sol. Average Profit = (12,000 + 18,000 + 16,000 + 14,000)/4
= 60,000/ 4= 15,000
Goodwill = Average Profits x 3 years’ purchase
¥ = ¥ 15,000 x 3= 45,000
9. 2. The profit for the five years ending on 31st March, are as follows—
(ear 2014—3 4,00,000; Year 2015—% 3,98,000; Year 2016—3 4,50,000; Year
2017-% 4,45,000 and Year 2018— X 5,00,000.
Cﬁ.lculatfe: goodwill of the firm on the basis of 4 years' purchase of 5 years'
e profit.
Spl. Total Profit of 5 Years = ¥ [4,00,000 + 3,98,000 + 4,50,000
(+4,45,000 +) 5,00,000]
= ¥21,93,600
Average Profit of 5 Years = T [21,93,000/5]
= ¥ 4,38,000
Goodwill = Average Profit x No. of year Purchase
= T (4,38,600 x 4)
= ¥ 17,54,400
3& 3. Calculate value of goodwill on the basis of three years’ purchase of
average profit of the preceding five years which were as follows—

Year . 2017-18 2016-17 | 2015-16 2014-15 2013-14
Profit (T) 8,00,000 15,00,000 | 18,00,000 | 4,00,000 (Loss) | 13,00,000

ol. Average Profit= (8,00,000+15,00,000 + 18,00,000— 4,00,000 +13,00,000)/5
=¥ 50,00,000 /5= ¥ 10,00,000
Goodwill = Average Profits x.3 years’ purchase
=¥ 10,00,000 = 3 = ¥ 30,00,000
. 4, Calcualate the value of firm’s goodwill on the basis of one and half
yeamr. purchase of the average profit of the last three years. The profit for first
year ¥ 1,00,000, profit for the second year was twice the profit of the first
year and for the third year profit was one and half times of the profit of the
second year. -
L. Profit of
I \Year = ¥ 1,00,000
H]Year= ¥ 1,00,000 x 2 =T 2,00,000

Ai
(ii

Year =% 2,00,000 x 1.5= ¥ 3,00,000
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Z[1,00,000+2,00,000+3,00,000]
3

ow Average Profit=

£2,00,000
Average Profit x 1.5
= ¥2,00,000 = 1.5 =% 3,00,000

.5. A and B are partners sharing profits in the ratio of 3: 2. They decided to

adnu Casa partner from 1st April, 2018 on the following terms—
C will be given 2/5th share of the profit.
n::Ll ) Goodwill of the firm will be valued at two years purchase of three years’

normal average proﬁt of the firm,

fit of the previous three years ended 31st March were—

18— Profit ¥ 30,000 (after debiting loss of stock by fire ¥ 40,000).

2017—Loss ¥ 80,000 [mcludes voluntary retirement compensation paid ¥
1,10,000).

2016—Profit T 1,10,000 (mcludmg a gain (Profit) of T 30,000 on the sale of
fixed assets.

u are required to value the goodwill.
Sol. Adjusted Normal Profits

Goodwill

For the year ended 31.3.2018 = ¥ 30,000 + 40,000 =¥ 70,000
Fpr the year ended 31.3.2017 = ¥ (-80,000) +1,10,000 =T 30,000
For the year ended 31.3.2016 = ¥ 1,10,000 — 30,000 = T 80,000

Average normal Profit= (70,000 + 30,000 + 80,000)/3
= 1,80,000 /3 =¥ 60,000
oodwill = Average Normal Profits x 2 }'ears’ purchase
= ¥ 60,000 x 2=% 1,20,000

.6. X and Y are partners sharing profits and losses in the ratio of 3: 2. They
admited Z into partnership for 1/4th share in goodwill. Z brings in his share of
goodwill in cash. Goodwill for this purpose is to be calculated at two years’
P e of the average normal profit of past three years. Profits of the last three
years ended 31st March, were—

16 - Profit T 50,000 (including profit on sale of assets < 5,000).

17 - Loss ¥ 20,000 (including loss by fire T 30,000).

%18 Profit ¥ 70,000 (including insurance claim received ¥ 18,000 and interest
investment and Dividend received X 8,000). -
alculate valne of goodwill, Also, calculate goodwill brought in by Z.
ol. 2016=% 50,000 -5,000= X 45,000
2017 =¥ (~20,000) + (30 000) = ¥ 10,000
2018 =¥ 70,000 — 18,000 — 8,000 = T 44,000
Average Profit = (45,000 + 10,000 + 44,000) / 3
=99,000 /3 =X 33,000
Goodwill = Average Profits x 2 years’ purchase
= ¥ 33,000 x 2 =X 66,000

shall bring as goodwill = 66,000 x %4 = X 16,500
.7. A and B are partners in a firm sharing profits and losses in the ratio of
2:1, They decided to take C into partnership for 1/4th share on 1st April, 2016.
is purpose, goodwill is to be valued at four times the average annual profit

on




" of

the previous four or five years whichever is higher. The agreed pmﬁtagﬁf;
gaodwill purpose of the past five years are pE
Year 2013-14 2014-15 | 2015-16 2016-17 2017-18'|
Profit (%) 14,000 15,500 *10,000 16,000 15,000
Find the value of goodwill.

. ~ 15,000+16,000+10,000+15,500
Sol. Previous 4 years’ Average Profit = 2

= 56,500 /4 =7 14,125
15,000+16,000+10,000 +15,500+14,000
5

Previous 5 years Avg. Profit =

= 70,500 /5=14,100
Higher is 14,125. So
Goodwill = Avg. Annual Profit x 4 year Purchase = T 14,125 x 4= 56,500
Q. 8. Sumit purchase Amit’s business on 1st April, 2018. Goodwill was decided

to be valued at two years’ purchase of average normal profit of last four years.
The profits for the past four years were— ;
Year Ended | 31stMarch | 31stMarch | 31stMarch | 31st March
2015 2016 2017 2018
Profit (%) 80,000 1,45,000 1,60,000 2,00,000

Books of Accounts revealed that—
(i) Abnormal loss ¥ 20,000 was debited to Profit and Loss Account for the

year ended 31st March, 2014,

of

- (if) A fixed asset was sold in the year ended 315t March, 2015 and gain (profit)
F X 25,000 was credited to Profit and Loss Account.
(iii) In the year ended 31st March, 2016 assets of the firm were not insured
ue to oversight. Insurance premium not paid was ¥ 15,000.
Calculate the value of goodwill.
Sol. Normal Profit of Year ended March 31
2015 = ¥ 80,000 + 20,000 = T 1,00,000
2016 = T (1,45,000 - 25,000) = X 1,20,000
2017 =¥ (1,60,000 - 15,000) = ¥ 1,45,000
2018 = ¥ 2,00,000 :

" Total Normal Profit= % (1,00,000+ 1,20,000 + 1,45,000 + 2,00,000)

= ¥ 5,65,000
Average Normal Profit= T 5,65,000/4 =¥ 1,41,250
Goodwill= ¥ 1,41,250 x2=X 2,82,500

Q.9.X and Y are pariners in a firm, They admit Z into partnership for equal

share. It was agreed that goodwill will be valued at three years’ purchase of
verage profit of last five years. Profits for the last five years were— -

Year Ended |31st March | 31st March|31st March | 31st March | 31st March
2014 2015 2016 2017 2018
Profit (T) 90,000 (loss)| 1,60,000 1,50,000 65,000 1,77,000

Books of Account of the firm revealed that—



Z ,E) | e firm had gain (profit) of ¥ 50,000 from sale of machinery sold in the
year ended 31st March, 2015. The gain (profit} was credited in Profit and Loss
Accoun

(i) There was an abnormal Ioss of T 20,000 incurred in the year ended 31st
March, 2016 because of a machine becoming obsolete in accident.

(iif) ?verhauhng cost of second hand machinery purchased on 1st July, 2016
amounting to ¥ 1,00,000 was debited to Repairs Account. Depreciation is charged
@ 20% p,a. on Wntten Down Value Method.

Calculate the value of goodwill. t

Sol. StateLient Showing Normal Profits
" Particulars '31-3-14 | 31-3-15 | 31-3-16 |31-3-17 | 31-3-18
Balance b/d (50,000) | 1,60,000 | 1,50,000 | 65,000 | 1,77,000
Less ; Ab, Gain — | (50,000) - — —
(90,000) | 1,10,000 | 1,50,000 | - 65,000 1,77,000
Add : Ab. Loss : - — | 20,000 —| - -
(90,000) | 1,10,000 | 1,70,000 ( 65,000| 1,77,000
Add | Repairs - - — | 1,00,000 —
(90,000) | 1,10,000 | 1,70,000 | 1,65,000 ( 1,77,000
Less : Depreciation - —| - —|@s5000)| (17,000)
(90,000) | 1,10,000 | 1,70,000 | 1,50,000 | 1,60,000

Total Normal Profit= ¥ [(90,000) + 1,10,000 + 1,70,000 + 1, 50,000 + 1,60,000]
=  5,00,000
Average Profit= ¥,5,00,000/5 = ¥ 1,00,000
Goodwill = ¥ 1,00,000 = 3 =¥ 3,00,000
Q. 10. Profit of a firm for the year ended 31st March for the last five year
were—

Year ended | 31-3-2014 | 31-3-2015 | 31-3-2016 | 31-3-2017 - | 31-3-2018
Profit (X) | 20, 000 24,000 30,000 25,000 + 18,000

Cal¢ulate value of gaodmll on the basis of three years’ purchase of Weighted
Averagﬂ Profit after assigning weight 1, 2, 3, 4 and 5 respectively to the profits for

years ended 31st March, 2014, 2015, 2016, 2017 and 2018.
Sol.
Calculations for Weighted Average Profits and Goodwill

Year Profits (@) -~ | .. Weights Products (%)
2014 20,000 1 20,000
2015 24,000 2 48,000
2016 30,000 3 90,000
2017 ' 25,000 4 1,00,000
2018 18,000 5 90,000

Total 15 3,48,000




Weighted Average Profits = ¥ 3,48,000 /15 = ¥ 23,200
Goodwill =¥ 23,200x3 =T 69,600 i+
Q. 11. A and B are partners sharing profits and losses in the ratio of 5: 3. dllL

1st April, 2018, C is admitted to the partnership for 1/4th share of profits. For this
purpose, goodwill is to be valued at twoyears’ purchase of last three years’ profit

rallowing partners’ remuneration). Profits to be weighted 1:2: 3, the greatest

weight being given to last year. Net profit before partners’ remuneration were
2015-16; T 2,00,000; 2016-17 : T 2,30,000; 2017-18 : T 2,50,000. The remuneration of
the partners is estimated to be T 90,000 p.a. Calculate amount of goodwill.

Sol,Weighted Average Profit =(2,00,000 x 1 + 2,30,000 = 2 +2,50,000 x 3)
7 (1+2+3)-90,000
= 14,10,000 / 6 - 90,000 = X 1,45,000
Goodwill = Weighted Average Profits x 2 years’ purchase
= ¥ 1,45,000 = 2 =X 2,90,000
Q. 12. Manbir and Nimrat are partners and they admit Anahat into
ership. It was agreed to value goodwill at three years’ purchase on Weighted

P
Average Profit Method taking profits of last five years. Weights assigned to each

ye

asl, 2, 3,4 and 5 respectively to profits for the year ended 31st March, 2014 to

2018. The profits for these years were—T 70,000, ¥ 1,40,000, T 1,00,000, T 1,60,000
and T 1,65,000 respectively.

2014,

The books of account revealed following informations.
(f) There was an abnormal loss of T 20,000 in the year ended 31st March,

(i{) There was an abnormal gain (profit) of T 30,000 in the year ended 31st

March, 2015. "

(iii) Closing Stock as on 31st March, 2017 was overvalued by T 10,000.
Calculate the value of goodwill. '
Sol. Weighted Normal Profit of 31st March,
2014 = ¥ (70,000 + 20,000) x 1 =T 90,000
2015 =¥ (1,40,000 - 30,000) x2 = ¥ 2,20,000
2016 =X 1,00,000 % 3 3,00,000
2017 =T (1,60,000-10,000)x4 = T 6,00,000
2018 =X (1,65,000+10,000)x5 = X 8,75,000

Total Weighted Normal Profit =X 20,85,000

Average W. Normal Profit= ¥ 20,85,000/15
= T£1,39,000
- Goodwill = ¥ 1,39,000 x 3 =< 4,17,000

Q. 13. Calculate the goodwill of a firm on the basis of three years' purchase

of the weighted average profit of the last four years, The appropriate weights to
be used and profits are—
Year | 201415 2015-16 2016-17 |  2017-18
Profit (¥) 1,01,000 1,24,000 1,00,000 1,40,000

Weight 1 2 3 4




i

a scrutiny of the accounts, the following matters are revealed—

On 1st December, 2016, a2 major repair was made in respect of the plant
incurring ¥ 30,000 which was charged to revenue. The said sum is agreed to be
capitalised for goodwill calculation subject to adjustment of depreciation of 10%
p-a. on reducing balance method.

(i) |The closing stock for the year 2015-16 was overvalued by ¥ 12,000.

(iii) To cover management cost, an annual charge of ¥ 24,000 should be made
for the purchase of goodwill valuation.

(iv) |In 2015-16, a machine having a book value of € 10,000 was sold for ¥
11,000 but proceeds were wrongly credited to Profit and Loss Account, No effect
has been given to rectify the sAme. Depreciation’is charged on machine @ 10%
p-a. on reducing balance method.

Sol. (i) Statement Showing Adjustment of Profit
Particulars 2014-15 |2015-16 | 2016-17 | 2017-18
‘Net Profit (Given) . 1,01,000 |1,24,000 |1,00,000 |1,40,000
Add :| Cost of Major Repair - — | 30,000 —
Add :| Over Valuation of Op. Stock - - | 12,000 -
Add ;| Profit on Sale of Machine - 2,000 - -
; - 11,01,000 |1,26,000 |1,42,000 |1,40,000
Less :| Annual Charge of Mat. Cost (24,000) | (24,000) ((24,000) | (24,000)
Over-Valuation of Clos. Stock — | (12,000) = -
Sale Proceeds of Machine — | (11,000) - |. -
Dep. on Plant at (10%) - — | (1,000) | (2,900)
Add :| Dep. on Machine at (10%) = 1,000 900 810
Adjusted Profit 77,000 | 78,000 {1,17,900 |1,13,910
(id) Calculation of Weighted Profit
Year Profit Weight W. Profit
2014-15 72,000 1 77,000
2015-16 78,000 2 1,56,000
2016-17 1,17,900 < i 3,53,700
2017-18 1,13,910 4 4,55,640
10 10,42,340
Weighted Average Profit= 10,42,340/10 =% 104,234

@ 15% ¢
Sol.

Goodwill= ¥104,234 x3=¢ 3,12,702

Q. 14, Gupta and Bose had a firm in which they had invested ¥ 50,000. On an
average, the profits were ¥ 16,000. The normal rate of return in the industry is
15%. Goodwill is to be valued at four years’ purchase of profits in excess of profits

on the money invested, Value the goodwill.
Average Profits= ¥ 16,000
Normal Profits=_ ¥ 50,000 x 15% =¥ 7,500
Super Profits = Average Profits — Normal Profit
= ¥16,000-7,500 =X 8,500



¥n Goodwill = Super Profits x No. of Years Purchased &
= TE500x4 =T 34,000 2
5. The total capital of the firm of Sakshi, Mehak and Megha is T 1,00,000 4
and the market rate of interest is 15%. The net profits for the last 3 years were T
30,00D; T 36,000 and T 42,000. Goodwill is to be valued at 2 years' purchase of the
last 3 years' super profits, Calculate the goodwill of the firm.

% [30,000 + 36,000+ 42, 000]

ol. (i) Actual Avérage Profit=

3
= 36,000

(#) Normal Profit = € 1,00,000 x (15%)
= ¥ 15,000

(i) Super Profit = ¥ [36,000 - 15,000]
= 21,000

(i) Goodwill = 21,000 x 2 = ¥ 42,000
. 16. The average net profits expected in the future by XYZ firm are ¥ 36,000
per year. Average capital employed in the business by the firm is ¥ 2,00,000. The
normal rate of return from capital invested in this class of business is 10%.
Remuneration of the partners is estimated to be X 6,000 p.a. Find out the value of
ill on the basis of two years’ purchase of super profits.
ol. Actual Profit= ¥ 36,000~-% 6,000 = T 30,000
Expected/Normal Profit= ¥ 2,00,000x10% = ¥ 20,000
Super Profit= Average Profit - Normal Profit
= ¥ 30,000-20,000 =% 10,000
Goodwill = Super profit x No. of Years Purchased
= T 10,000%2 =T 20,000
Q.17. A parinership firm earned net profits during the last three years ended
31st March as follows—
2016~ 17,000; 2017— 20,000; 2018 —T 23,000
e capital investment in the firm throughout the above-mentioned period
has been X 80,000. Having regard to the risk involved, 15% is considered to be a
fair return on the capital. Calculate the value of goodwill on the basis of two
purchase of average super profit earned during the above-mentioned three

years. .

Sol.  Average Profit= (17,000 + 20,000 +23,000)/3
= 60,000/3 =¥ 20,000

Normal Profit= ¥ 80,000 x 15%= ¥ 12,000

Super Profit=_Average Profit - Normal Profit
= ¥ 20,000 -12,000= T 8,000
Goodwill = Super Profit x No. of Years Purchased

= TBO00x2 =%16,000

Q. 18. A partnership firm eamed net profits during the past three years as
follows—




L r—: Year ended 31st March, 2018 | '31st March, 2017 | 31st March, 2016 -
N#t Profit (%) 2,30,000 2,00,000 1,70,000

pital investinent in the firm throughout the above-mentioned period has

been 4,00,000. Having regard to the risk involved, 15% is considered to be a fair
n on the capital. The remuneration of the partner during this period is

estlmated to be ¥1,00,000 p.a.

Calculate value of goodwill on the basis of two years’ purchase of average

super profit earned during the above-mentioned three years.

1,70,000+2,00,000+2,30,000
Sol. Average profits = ( 3 ) 1,00,000

= 2,00,000-1,00,000 =¥ 1,00,000
Normal profits = Capital Employed % Normal rate
= 4,00000%15% =% 60,000
Super profits = Average profit — Normal profit
.= 1,00,000-60,000 =T 40,000
Goowill = Super profit x No. of year purchase
= 40,000 x 2 =T 80,000
Q. 19. A business earned an average profit of T 8,00,000 during the last few
years, The normal rate of profit in the similar type of business is 10%. The total
valué of assets and liabilities of the business were T 22,00,000 and T 5,60,000
respectively. Calculate the value of goodwill of the firm by super profit method
if it is valued at 2% years' purchase of super profits. (Delhi 2014 C)
Sol. Av. Profit (Given) = T 8,00,000

¥ (22,00,000-5,60,000)x10
100

. il

Normal Profit =

10.
= 16,40,000x— —
40 XT00 = 164,000

Super Profit=_Av. Profit - Normal Profit
= 8,00,000-1,64,000 = T 6,36,000
Goodwill = Super Profit x 2.5

= 6,36,000 x 2.5 = ¥ 15,90,000 -
. 20, Capital of the firm of Sharma and Verma is ¥ 2,00,000 and the market
rate of interest is 15%. Annual salary to partners is T 12,000 each. The profits for .
the last three years were ¥ 60,000, T 72,000 and ¥ 84,000. Goodwill is to valued at
2 years’ purchase of last 3 years’ average super profit. Calculate goodwill of the
firm.
Sol. Calculation of Goodwill :

60,000 +72,000 + 84,000

Actual Av. profit =




So, Av. profit =72,000- (2 x 12,000) Salary.
= 48,000 :
Capital Employed x N. Rate
100

2,00,000x15
—— 300
Super profit = 48,000 - 30,000 = ¥ 18,000
So, Goodwill =S5. Pt. x No. of years purchase .
=18,000 x 2
=T 36,000
Q. 21. A and B are equal pariners. They decided to admit C for 1/3rd share.

Normal profit =

= 30,000

Forthe purpose of admission of C, the goodwill of the firm is to be valued at four
years’ purchase of super profit. The average capital employed in the firm is T
1,50,000. Normal rate of return may be taken as 15% p.a. Average profit of the
firm is ¥ 40,000. Calculate the value of goodwill.

Sol.Normal Profit = Capital Employed x Rate/100 = ¥ 1,50,000 = 15/100
: = ¥ 22,500
Super Profits= Average or Actual Profit— Normal Profits = 40,000 22,500
= 17,500
Goodwill = Super Profits x 4 years’ purchase = ¥ 17,500 x 4 = 70,000
Q. 22, On 1st April, 2018, an existing firm had assets of T 75,000 including
cash of T 5,000. Its creditors amounted to ¥ 5,000 on that date. The firm had a

egllerve of T 10,000 while partners’ Capital Accounts showed a balance of ¥ 60,000.

e Normal Rate of Return is 20% and the goodwill of the firm is valued at ¥
0 at four years’ purchase of super profit, find average profit per year of the

existing firm.
Sol. Goodwill = Super Profit x 4 years’ purchase
24,000= Super Profit x 4
24,000
Super Profit= r—i_ 6,000

ung
the

Normal Profit= Capital Employed x Normal Rate of Return

= 20
70,000 700 =14,000

Average Profit=Super Profit + Normal Proflt
= 6,000 + 14,000
Average Profit= 20,000
(Capital Employed = Assets — Creditors)
= 75,000 - 5,000 = 70,000
Q 23. The average pmﬁt eamned by a firm is ¥ 1,00,000 which includes

lervaluation of stock of T 40,000 on an average basis. The capital invested in
business is ¥ 6,30,000 and the normal rate of return is 5%, Calculate goodwill

of I_T\e firm on the basis of 5 times the super profit.



(I') Total Actual Profit of firm = X (1,00,000 + 40,000) = X 1,40,000
{u’) Normal Profit = T (6,30,000 x 5%) = T 31,500
(iif)| Super Profit= ¥ (1,40,000 —31,500) = T 1,08,500
(m) Goodwill = ¥ (1,08,500 x 5) = ¥ 5,42,500
Q. 24, The average profit earned by a firm is ¥ 7,50,000 which ‘includes
o\rerv uation of stock of T 30,000 on an average basis. The capital invested in
the business is T 42,00,000 and the normal rate of return is 15%. Calculate goodwill
of the firm on the basis of 3 times the super profit.
Sol. (i) Total Actual Average Profit of firm = Given Profit-Overvaluation
= ¥ (7,50,000-30,000) = T 7,20,000
(#) Normal Profit = ¥(42,00,000 x 15%) = T 6,30,000
(iif) Super Profit =T (7,20,000 - 6,30,000) = X 90,000
(iv) Goodwill = ¥ (90,000 x3)=T 2,70,000
Q. 25. Ayub and Amit are partners in a firm and they admit Jaspal into
ip w.e.f. 1st April, 2018. The agreed to value goodwill at 3 years purchase
of Super Profit Method for which they decided to average profit of last 5 years.
The profits for the last 5 years were—
YearEnded  Net Profit (%)
31st |‘March, 2014 = 1,50,000
31stMarch, 2015  1,80,000 :
31st }March, 2016 1,00,000 (including abnormal loss of ¥ 1,00,000)
31st March, 2017  2,60,000 (including abnormal gain (profit) of T 40,000)
31st .March, 2018 2,440,000
1e firm has total assets of T 20,00,000 and Outside Liabilities of t 5,00,000
as on that date. Normal Rate of Return in similar business is 10%.
culate value of goodwill.
L. (i) Total Normal Profit of last 5 Year =X [‘1 50,000 +1 8UUDD+(1,00000+
1 00,000) +(2,60,000 — 40,000) + 2,40,000]
= ¥ 9,90,000
(ii) "Actual Average Profit= ¥9,90,000/5 = T:1,98,000
(iif) Normal Profit = T (20,00,000 - 5,00,000) x 10%
IJ = ¥ 1,50,000
(ig) Super Profit = ¥ (1,98,000-1,50,000)
= T 48,000
(v) Goodwill = ¥ 48,000 % 3
= ¥ 1,44,000 |
Q. 26. From the following information, calculate the value of goodwill of the
firm by applying Capitalisation method. Total capital of the firm ¥ 16,00,000,
Normal rate of return 10%. Profit for the year T 2,00,000.
Sol. Value of the firm = Profit x 100/Rate = ¥ 2,00,000 x 100/10 = T 20,00,000
Value of Goodwill = ¥ 20,00,000 - 16,00,000 = ¥ 4,00,000
Q. 27. A business has eamed average profit of ¥ 1,00,000 during the last few
years. Find out the value of goodwill by capitalisation method, given that the



e normal rate of return is 10%.

% 1,00,000x100 =
J G A ¥ 10,00,000

(#) Actual Capital =% [10,00,000 - 1,80,000] = ¥ 8,20,000
(i) Goodwill = ¥ [10,00,000 - 8,20,000] = ¥ 1,80,000
. 28. From the following particulars, calculate the value of goodwill of a
firm by applying capitalisation of Average Profit Method—
() Profits of last five consecutive years ending 31st March are : 2018 - ¥
54,000, 2017 - ¥ 42,000, 2016 — ¥ 39,000, 2015 - ¥ 67,000 and 2014 - T 59,000.
(if) Capitalisation rate 20%.
(iif) Net Assets of the firm T 2,00,000.
ol. Average profit= (54,000 + 42,000 + 39,000 + 67,000 + 59,000)/5 = ¥ 52,200
Value of the firm = Average Profit x 100/Rate = ¥ 52,200 x 100/20= ¥ 2,61,000
Goodwill = Value of the firm — Net Assets = ¥ 2,61,000 — 2,00,000 !
= ¥61,000
. 29, A business has earned average profit of ¥ 4,00,000 during the last few
and the normal rate of return in similar business is 10%. Find value of
ill by
(E Capitalisation of Super Profit Method, and
(i) Super Profit Method if the goodiwll is valued at 3 years’ purchase of
super profits, : 2
ssets of the business were ¥ 40,00,000 and its external liabilities T 7,20,000.
Sol. () Calculation of Goodwill :

Z;%:e of the business are ¥ 10,00,000 and its external liabilities are & Iﬁu,ﬂﬂtij i

ol. (7)) Capitalise Value =

By Capitalisation of Super profit
= Capital Employed x N. Rate
Normal profit = P _p_' na:
- (40,00,000-7,20,000)x10
100
= 32,80,000x—2. = 3,28,000
o ' r IUU - ¢ r
So, Super profit = Actual Av. Profit — Normal Profit
=4,00,000 - 3,28,000
=¥ 72,000
- & = S. profit x 100
5p, Goadwil] = Normal Rate
000x100
= % =¥7,20,000




| (%:') By 3 years purchase of Super profit :
Goodwill = Super profit x 3
=72,000%3
=% 2,16,000
. 30. A firm eams profit of ¥ 5,00,000. Normal Rate of Return in a similar
type of business is 10%. The value of total assets (excluding goodwill) and total
outsiders’ liabilities as on the date of goodwill are T 55.00,000 and ¥ 14,00,000
respectively. Calculate value of gogdwill according to Capitalisation of Super
Profit Method as well as Capitalisation of Average Profit Method.

Sol. Capitalization of Average Profit Method :
Value of Firm = Average Profit x 100/Rate = ¥ 5,00,000 x 100/10 =X 50,00,000
Net Assets = Assets — Liabilities = T 55,00,000 —14,00,000 = ¥ 41,00,000
Goodwill = Value of Firm — Net Assets = ¥ 50,00,000-41,00,000
= 9,00,000
l.ap:tahzahon of Super Profit Method :
Capital Employed = Assets - Liabilities = ¥ 55,00,000 —14,00,000 = ¥ 41,00,000
Normal Profits= Capital Employed x Rate/100 = ¥ 41,00,000 x 10/100
= ¥ 4,10,000 _
Super Profits = Average/Actual Profit - Normal Profits=5.00,000-4,10,000
= ¥ 90,000
Goodwill = Super Profits x 100/Rate = ¥ 90,000 x 100/10 = 9,00,000°
Q. 31, Average profit of the firm is ¥ 2,00,000. Total assets of the firm are ¥
llmﬁ ,000 whereas Partners’ Capita] is T 12,00,000. If normal rate of return in a
ar business is 10% of the capital employed, what is the value of goodwill by
Cap talisation of Super Profit ?
ol. (i) Normal Profit = ¥ (12,00,000 x 10%) = ¥ 1,20,000
if)  Super Profit = Average Profit — Normal Profit
= ¥2,00,000-1,20,000 =¥ 80,000
(fif) Goodwill = (Super Profit x 100)/ Normal Rate
= (80,000 x 100)/10 = X 8,00,000
. 32, Rajan and Rajani are partners in a firm. Their capitals were Rajan X
3 00,000; Rajani ¥ 2,00,000. During the year2017-18, the firm earned a profit of ¥
0,000. Calculate the value of goodwill of the firm by capitalisation of super,
pro t assuming that the normal rate of return is 20%.
Sol. (i) Actual Average Profit= ¥ 1,50,000
ii) Actual Capital = ¥ [3,00,000 + 2,00,000] = ¥ 5,00,000
jif) Normal Profit = T [5,00,000 x 20%] = ¥ 1,00,000

P

(iv) Super Profit = ¥ [1,50,000 —1,00,000] = ¥ 50,000
... SuperProfit x100 '
(7) Goodwill = Normal Rate
¥ 50,000x100
= ——— =¥2,50,000

20%



- Average profit.of GS & Co. is T 50,000 per year. Average capital
loyed in the business is ¥ 3,00,000. If the normal rate of return on capital

ployed is 10%, calculate goodwill of the firm by—
(i Super Profit Method at three years’ purchase; and
(#{) Capitalisation of Super Profit Method.
L (i) Average Profit = T 50,000
(i) Normal Profit = ¥ (3,00,000 x 10%) = ¥ 30,000
(iif) Super Profit = ¥ (50,000 —30,000) = ¥ 20,000
Goodwill by Super Profit =¥ 20,000 x 3
= ¥60,000 -
Goodwill by Capitalisation of Super Profit
"= (X 20,000 x 100)/10 =¥ 2,00,000
ﬁer 34. From the following information, calculate value of goodwill of the
(i) At three years’ purchase of Average Profit.
(i) At three years’ purchase of Super Prorfit.
(iii) On the basis of Capitalistation of Super Profit.
(:’ir; On the basis of Capitalisation of Average Profit.
Informations—
(a) Average Capital Employed is ¥ 6,00,000.
(b) Net Profit/Loss of the firm for the last three years ended are—
31st March, 2018—% 2,00,000, 31st March, 2017—X 1,80,000, and 31st
M 2016—T 1,60,000.
(c) Normal Rate of Return in similar business is 10%.
(d) Remuneration of ¥ 1,00,000 to partners is to be taken as charge against
profi :
(e) Assets of the firm (excluding goodwill, fictitious assets and non-t:ade
investment) is € 7,00,000 whereas Pariners’ Capital is T 6,00,000 and Liabilies ¥
1,00,000,

T (2,00,000+1,80,000+1,60,000)

Sol. Actual Average Profit =

3
= ¥ 1,80,000-1,00,000
= ¥ 80,000
Normal Profit= ¥ (6,00,000 x 10%) = T 60,000

Gpodwill by—
(i) Actual Average Profit = (80,000 x 3) =X 2,40,000
(ig Super Profit = ¥ (80,000 - 60,000) x 3
= ¥ 60,000
(iif) Capitalisation of Super Profit
Goodwill = ¥ (20,000 x 100)/10= ¥ 2,00,000
(iv) Capitalisation of Actual Average Profit
Goodwill = T [(80,000 x 100)/10] - ¥ €,00,000
‘= ¥8,00,000 -6,00,000
= ¥2,00,000




CHAPTER -3

CHANGE IN PROOF-SHARING RATIO
AMONG THE EXISTING PARTNERS

Q
April,

1. A and B are shanng profits and losses equally. With effect from 1st
2018, they agree to share profits in the ratio of 4 : 3. Calculate the individual

pariner’s gain or sacrifice due to the change in ratio.

Q
April,
each p

Q.
April,

Sol. Existing or Old Ratio of A and B =1:1 and their Future or New Ratio=4:3

Sacrifice = Existing Ratio — Future Ratio
Gain = Future or New Ratio — Existing or Old Ratio
A= 1/2-4/7=(7-8)/14=-1/ 14 (Gain)
B=1/2-3/7=(7-6)/14 =1/ 14 (Sacrifice)
2.X, Y and Z are sharing profits and losses 5 : 3 : 2. With effect from 1st
2018, they decide to share profits and losses in the ratio of 5: 2: 3, Calculate
yartner’s gain or sacrifice due to the change in ratio.

Sol. Existing or Old Ratio of X, Y and Z=5:3:2 and their Future or New Ratio
=5:2¢

3
Sacrifice = Existing Ratio — Future Ratio
Gain = Futire or New Ratio — Ex:stmg or Old Ratio
X=5/10-5/10=0 ;
Y= 3/10-2/10=1/10 (Sacrifice)
Z= 2/10-3/10=-1/10 (Gain)
3.X, Y and Z are sharing profits and losses 5 : 3 : 2. With effect from 1st
2018, they decide to share profits and losses equally. Calcu!ate each partner

gain or sacrifice due to the change in ratio.

S

1. Existing or Old Ratio of X, Y and Z =5: 3 : 2 and their Future Ratio=1:1:1
Sacrifice = Existing Ratio — Future Ratio
Gain = Future or New Ratio - Existing or Old Ratio
X = 5/10-1/3=(15-10)/30 = 5/30 (Sacrifice)
Y= 3/10-1/3=(9-10)/30 =-1/30 (Gain)
Z= 2/10-1/3 = (6 —10)/30 == 4/30 (Gain)

Q.

Cal
the f
C

C

4. A, B and C are partners sharing profits and losses in the ratio 0f 5:4: 1.
ate new profit-sharing ratio, sacrificing ratio and gaining ratio in each of
owing cases.
e 1. C acquires 1/5 share from A.
e 2. C acquires 1/5th share equally from A and B.
se 3. A, B and C will share future profits and losses equally.

Crse 4. C acquires 1/10th share of A and 1/2 share of B.
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-

/> SbL Old Ratio of A:B:C=5:4:1
' C.Jase-l : “C” acquires (1/5) share from A
A’s New Share= (5/10) - (1/5)
; = (5-2)/10=3/10
B’s New Share= 4/10
C’s New Share= (1/10) + (1/5) = 3/10
New Ratio= 3/10:4/19:3/10
= 3:4:3
Sacrifice of “A* = 1/5
Gain of “C" = 1/5
ase-II : C acquires 1/5 share equally irom Aand B
A's Sacrifice= 1/5x1,2=1/10
B's Sacrifice= 1/5x1,2=1/10
A’s New Share= (5/10—1/10)=4/10
B's New Share= (4/10-1/10)=3/10
C’s New Share = (1/10+1/10 + 1/10) = 3/10
New Ratio= 4/10:3/10:3/10=4:3:3
Sacrifice RatioA:B= 1/10:1/10=1:1
Gain of “C” = 1/10+1/10=2/10
Case-Ill : A, B and CShare in Future=1:1:1
A’s Scrifice = (5/10) — (1/3) = (15 -10)/30
' = 5/30
B's Sacrifice= (4/10)— (1/3) = (12— 10)/30 = 2/30
C’s Gain= (1/3)=(1/10)=(10—3)/30="7/30
Sacrificeof A:B= 5/30:2/30:5:2
Case-IV : C acquires (1/10) Share of A and (1/2) Share of B
A's Sacrifice=(5/10) x (1/10) = 5/100
B’s Sacrifice= (4/10) x (1/2) = 4/20
Sacrifice Ratioof A: B= 5/100:4/20=5:20
= 1:4
C’s Gain= 5/100 + 4/20 = (5 + 20)/100
= 25/100
A’s New Share= 5/10—5/100 =(50 - 5)/100 = 45/100
B's New Share= 4/10—4/20 = (8 — 4)/20 = 4/20
C’s New Share= 1/10+25/100 = (10 + 25)/100 = 35/100
New Ratioof A:B: C= 45/100: 4/20: 35/100
45:20:35= 9:4:7
Q.5. A, B and C shared profits and losses in the ratio of 3:2: 1 respectively.
With effect from 1st April, 2018, they agreed to share profits equally. The goodwill
of firm was valued at T 18,000. Pass necessary Journal entries when—(a)
Goodwill Account is not opened; and (b) Goodwill Account is opened.

0




'ffso Ol Ratioof : A:B:C=3:2:1

Ratioof :A:B:C=1:1:1

Sac./Gainto A= (3/6)—(1/3)=[(3 - 2)/6] =1/6 Sac.

= (2/6)-(1/3)=[(2 —2)/6] = Nil
C= (1/6)-(1/3)=

[(1-2)/6] =-1/6 Gain

Journal 5
Date Particulars LF| Dr. Cr.
Case (a)
(i) | C's Capital A/c[18,000 x (1;6)] Dr. 3,000
To A's Capital A/c [18,000 = (1/6)] 3,000
(Being adjustment of G/w for change in P/s Ratio)
Case (b)
(1) | Goodwill A/c Dr. 18,000
To A's Capital A/c 9,000
To B's Capital A/c 6,000
To C's Capital A/c 3,000
(Being amount of G/w dist. in old Ratio of 3:2:1)
(i)) | A's Capital A/c Dr. 6,000
B's Capital Afc Dr. 6,000
C's Capital A/c Dr. 6,000
To Goodwill-A/c "| 18,000
(Being goodwill A/c written on in new ratioof 1: 1:1)
Q./6. X, Y and Z are partners sharing profits and losses in the ratioof 5:3: 2.

From-1st April, 2018, they decided to share profits and losses equally. The
partnership deed provides thatin the event of any change in profit-sharing ratio,
dwill should be valued at two years” purchase of the average profit of the
g five years, The profits and losses of the preceding years are :

the go
precedi

Yéar

2013-14 2014-15

2015-16

201617

2017-18

Profit (%)

70,000 85,000

45,000

35,000

10,000 (loss)

Sol.

=2,25,000/5 = T 45,000
G/W =% 45,000 x 2= 90,000

You are required to calculate goodwill and pass journal entry.
Average Profits =70,000 + 85,000 + 45,000 + 35,000 — 10,000/5

Adjustment Table

Goodwill X

Particulars

Dr. Cr. Dr.

Cr.

Cr.

Cr.

G/W raised in
(5:3i2)
G/W wjo equally
Adjustments

90,000

.90,000]| 30,000

15,000

45,000

30,000

27,000

3,000

18,000

30,000
12,000

90,000 | 90,000 | 45,000

45,000 30,000

30,000

30,000 | 30,000




HL . Adjusting Journal Entry ,:‘_"_-‘
V' Date Particulars || Dr. | Cn. 38
Y's Capital A/c ' Dr. . 3,000 “
Z's Capital A/c Dr. 12,000
To X’s Capital Account 15,000
(Being goodwill aujusted due to change in profit
- sharing ratio)
Q. 7. Mandeep, Vinod and Abbas are partners sharing profits and losses in

e tio of 3:2: 1. From 1st April 2018 they decided to share profits equally. The
p Deed provides that in the event of any change in profit-sharing ratio,
goodw:ll shall be valued at three years’ purchase of average proﬁt of last five
years. The profits and losses of past five years are—
fit—Year ended 31st March, 2014—% 1,00,000; 2015—X 1,50,000; 2017—
T z%}mo; 2018—X 2,00,000 Loss— Year ended 31st March, 2016~ T 50,000.
ass the Journal entry showing the working.
Sol. Working Note—
(i) Calculation of Sacrifice/(Gain) to Partner :
Mandeep = 3/6 - 1/3 = (3 - 2)/6 = 1/6 Sacrifice
~ Vinod= 2/6~1/3%(2-2)/6=0"
Abbas= 1/6-1/3 = (1~ 2)/6 =~ 1/6 Gain
i) Average Profit of Firm = ¥ [1,00,000+1,50,000+(50,000) +2,00,000 +2,00000}/5
= T 6,00,000/5 = T 1,20,000
(#0) Goodwx]l T 1,20,000 x 3 = T 3,60,000

Joumal
Date Particulars ' LE| Dr. [ Cr.
Abbas’s Capital A/c [3,60,000 x (1/6)] Dr. 60,000
To Mandeep’s Capital A/c 60,000
(Being value of goodwillad]usbed in sacrifice &
gain ratio)

J 8.X.Y and Z are exuhanngproﬁtsandlmsesintheraﬁoofs 3:2,
ed to share future profits and losses equally with effect from April 1st April,
201 On that date, the goodwill appeared in the books at ¥ 12,000. But it was
ued at ¥ 30,000, Pass Journal entries assuming that goodwill will not appear
books of accounts,
Sol. X = 5/10-1/3 = (15 - 10)/30 = 5/30 (Sacrifice)
Y = 3/10-1/3= (9 - 10)/30 =~1/30 (Gain)
Z = 2/10-1/3 = (6 - 10)/30 = —4/30 (Gain)

Adjusting Journal Entry
Date ‘ Particulars L.E| Dr. Cr.
Y’s Capital Account (5,000 x 1/5) Dr. 1,000
Z’s Capital Account (5,000 x 4/5) Dr. 4,000
To X's Capital Account (30,000 x 5/30) 5,000
(Being goodwill adjusted due to change in profit
sharing ratio)




X’s Capital Account (12,000 x 5/10) Dr. 6,000

Y’s Capital Account (12, 000 x 3/10) Dr. 3,600

Z's Capital Account (12,000 x 2/10) Dr. 2,400
To Goodwill Account 12,000
(Being old goodwill A/c written off )

Q.9. A and B are partners in a firm sharing profits in the ratio of 2: 1. They
decided with effect from 1st April, 2017 that they would share profits in the ratio
of 3; 2. But, this decision was taken after the profit for the year 2017-18 amounting
to '! 90,000 was distributed in the old ratio,

ue of firm’s goodwill was estimated on the basis of aggregate of two years’
pmﬁ preéceeding the date decision became effective,

The profits for 2015-16 and 2016-17 were ¥ 60,000 and T 75,000 respectively.
It was ldecided that Goodwill Account will not be opened in ‘the books of the

firm and necessary adjustment be made through Capital Accounts which, on
31st , 2018 stood, at T 1,50,000 for A and T 90,000 for B.
Pags nessary Journal entries and prepare Capital Accounts.

Sol.G/W = ¥ 60,000 + 75,000 = ¥ 1,35,000
A= 3/5-2/3=-1/15 (Sacrifice) and
B=2/5-1/3=1/15(Gain)
Adjusting Journal Entry
-Date Particulars LF| Dr Cr.
A’s Capital Account (80,000 x 1/15) Dr. 6,000
To B’s CapitabAccount (90,000 x 1/15) 6,000
(Being profits adjusted)
B's Capital Account (135,000 x 1/15) Dr. 9,000
To A’s Capital Account (135,000 x 1/15) 9,000
(Being goodwill adjusted)
Dr. Capital Accounts Cr.
Particulars A B |- Particulars A B
To B's Capital A/c 6,000 — | By Balance b/d 1,50,000 | 90,000
To As Capital A/c —| 9,000 | By A’s Capital A/c - | 6,000
To BT]ance c/d 1,53,000| 87,000 | By B's Capital A/c 9,000 -
1,59,000| 96,000 ' 1,59,000 | 96,000

Q. |1l]. Jai and Raj are pariners sharing profits in the ratio of 3: 2. With effect
from 1st April, 2018, they decided to share profits equally. Goodwill appeared in
the books at T 25,000. As on 1st April, 2018, it was valued at ¥ 1,00,000. They
decided to carry goudmll in the books of the firm.

Pass the Journal entry giving effect to the above.

Sol. (i) Old Ratio of Jai : Raj=3:2

New Ratioof Jai: Raj=1:1

Sac. /Gain to Jai = (3/5) — (1/2) = [(6 - 5)/10] = 1/10 Sac.

toRaj= (2/5) - (1/2) = [(4 - 5)/10] =— 1/10 Gain
(i) Value of New Goodwill = ¥ 1,00,000
Value of Old Goodwill= ¥ _ 25,000

Increase in Value g 75,000

FP =,



T Tﬁ) Share of Jai (Creadited) =  [75,000 x (1/10)] = € 7,500
\ Share of Raj (Debited) =¥ [75,000 x (1/10)] = ¥ 7,500
Journal

.L‘L

Date __ Particulars LF| Dr. | Cr
(1) - | Raj's Capital A/c - Be 7,500
To Jai's Capital A/c , 7,500
(Being adjustment of G/w for change in Ratio) i

Q.11. X and Y are partners in a firm sharing profits and losses in the ratio of
3:2, With effect from 1st April, 2018, they decided to share future Eroﬂts equally.
On the date of change in the profits-sharing ratio, the Profits and Loss Account
ed a credit balance of X 1,50,000. Record the necessary Journal entry for the
distribution of the balance in the Profit and Loss Account immediately before
the change in the profit-sharing ratio.

Sol. Note—Profit should be shared in old ratio i.e. 3:2

Joumal
Date - Particulars : LF| Dr | Cr
(¥) | Profit & Loss A/c Dr. 1,50,000
To x's Capital A/c 90,000
~ Toy's Capital AJc 60,000
(Being Balance of Profit transferred)

0Q.12. A and B are partners in a firm sharing profits in the ratio of 4 : 1. They
decided to share future profits in the ratio of 3 : 2 w.e.f. 1st April, 2018, On that

» Profit and Loss Account showed a debit balance of T 1,00,000. Pass Journal
entry to give effect to the above.
- |Sol. Working Note—
() Calculation of Sacrifice/Gain to Partners

: A’s= (4/5)-(3/5) = (4-3)/5=1/5 Sacrifice
Bs= (1/5) - (2/5)=(1-2)/5=—1/5 Gain

Journal
_Date Particulars LF| Dr. Cr.
. () | A’s Capital A/c [1,00,000 x (4/5)] Dr. 80,000|.
B's Capital A/c [1,00,000 x (1/5)] Dr. 20,000
To Profit & Loss A/c ~|1,00,000
(Being debit balance of P & L A/c transferred
to pariners)

Q. 13. X, Y and Z are sharing profits and losses in the ratio of 5: 3 : 2. They

de to share future profits and losses in the ratio of 2': 3 : 5 with effect from 1st
April 2018. They also decide to record the effect of the following accumulated
'pmlfyls, losses and reserves without affecting their book values by passing a single
entry.

Book Values (¥)
General Reserve 6000
Profit and Loss A/c (credit) 24,000
Advertisement Suspense Alc 12,000.

' | ass an Adjustment Entry.



d Ratio of X, Y and Z =5:3:2, and their New Ratio = 2:3:5

“* X=2/10-5/10 =-3/10 (Sacrifice)
r:- 3/10-3/10=0
+ Z=5/10-2/10 = 3/10 (gain)
Gerle.ral Reserver T 6,000
Profit & Loss A/c T 24,000
Less| : Advertising expenses X 12,000
Total ¥ 18,000
Adjusting journal Entry
Date Particulars LE| Dr. (%) |Cr. ®)
Z's Capital Account (18,000 x 3/10) Dr. 5,400
To X's Capital Account i 5,400
(Being reserve and profits adjusted) i

Q.14. A, B and C who are presently sharing profits and losses in the ratio of

5:3:2

decide to share future profits and losses in the ratio of 2: 3 : 5. Give the

Journallentry to distribute 'Workmen Compensation Reserve' of  1,20,000 at the

time of
(1]
(i)
Sol

change in profit-sharing ratio, when—

no information is given;

there is no claim against it

Note— Amount of (W.C.R.) will distribute in old Ratioi.e.5:3:2
Journal

Date

Particulars LE Dr.R) | Cr.()

()

Workmen Ccmpensation Reserve A/c Dr. 1,20,000
To x's-Capital A/e(1,20,000 x 5/10) 60,000
To y’s Capital A/c (1,20,000 x 3/10) 36,000
To z’s Capital A/c (1,20,000 x 2/10) 24,000
(Being balance of W/C/R distribute)

(i)

Same as (i) above

Q.15.X, Y and Z who are presently sharing and losses in the ratio0f 5:3:2

decide

to share future profits and losses in the ratio of 2: 3 : 5. Give the Journal

entry to distribute "Workmen Compensation Reserve' of ¥ 1,20,000 at the time of

change in profit-sharing ratio, when there is a claim of ¥ 80,000 against it.
Sol, Note—Amount of (W.C.R.) Will distribute in old Ratio i.e. 5: 3 : 2 after
making] claim of ¥ 80,000
- Journal
Date Particulars LE| Dr. () |Cr. D)
(i) | Workmen Compensation Reserve A/c Dr. 1,20,000
To Workmen Compensation Claim A/c 80,000
To x's Capital A/c 20,000
To y's Capital A/c 12,000
To z's Capital Afe 8,000
(Being balance of W/C/R distribute after making claim)




- . .‘ £
" | Q.16.X, Y and Z who are sharing profit in the ratio of 5: 3 : 2, decide to share |
profits in the ratio of 2 : 3 ; 5 with effect from 1st April, 2018. Workmen
Compensation Reserve appears at T 1,20,000 in the Balance Sheet as at 31st"
March, 2018 and Workmen Compensation Claim is estmated at ¥ 1,50,000. Pass
Journal entries for the accounting treatment of Workmen Compensation Reserve.
Sol. Journal '
Date Particulars L.F| Dr.(X) | Cr.(X)

() | Revaliuation A/c Dr. 30,000
W. Comp. Reserve A/c Dr. 1,20,000
" To Provision for W. Comp. Claim A/c ' | 1,50,000
(Being adjust of W. comp. claim made)
(#f) | x’s Capital A/c [30,000 x (5/10)] Dr. 15,000
y's Capital A/c [30,000 x (3/10)] Dr. 9,000
z's Capital A/c [30,000 x (2/10)] Dr. 6,000
To Revaluation A/c 30,000
(Being excess amount of w. comp. charged from
Partners)
Q.17. A, B and C who are presently sharing profits and losses in the ratio of

5.:3:2 decide to share future profits and losses in the ratio of 2: 3 : 5. Give the

mmal entry to distribute 'Investment Fluctuation Reserve' of T 20,000 at the
e of change in profit-sharing ratio, when investment (market value ¥ 95,000)

appears in the books at T 1,00,000

Sol. Note— Amount of (I.F.R) will distribute in old Ratioi.e. 5 : 3 : 2 after making

adjustment of T (1,00,000 - 95,000) = T 5,000

Date Particulars LE|Dr.(D) |Cr. )
(1) | Investment Fluc. Reserve A/c Dr. 20,000
To Investment A/c 5,000
To A's Capital A/c 7,500
To B's Capital A/c 4,500
To C's Capital A/c - 3,000
(Being amount of (LE.R) distribute after
adjustment of fluct. in Price)

Q. 18, Nitin, Tarun and Amar are partners sharing i&roﬁts equally and decide
to share profits in the ratio of 2 : 2 : 1. w.e.f. 1st April, 2018. The extract of their
Balance Sheet as at 31st March, 2018 is as follows—
Liabilities ol Assets [ ¢
Investments Fluctuation Reserve | 60,000 | Investments (At Cost) 4,00,000
Pass the Journal entries in each of the following situations—

(/) When its Market Value is not given;
(i) When its Market Value is given as ¥ 4,00,000;




7 4ith| When its Market Value is given as € 4:26,000;
' (iv) When its Market Value is given as € 3,70,000;
(v) When its Market Value is given as T 3,10,000.
Sal. Journal
Case-I :
Date Particulars - LE|Dr.(®) | Cr. (O
(i) | Investment Fluc. Reserve A/c .Dr. 60,000
To Nitin's Capital A/c 20,000
To Tarun’s Capital A/c 20,000
To Amar’s Capital A/c 20,000
(Being Balance of LF.R. transfeered to Parners)
el
Date Particulars _ LE| Dr. (%) | Cr. (%)
(1) || Investment Fluc. Reserve A/c Dr. | 60,000
To Nitin's Capital A/c 20,000
To Tarun’s Capital A/c 20,000
To Amar’s Capital A/c 20,000
|| (Being:balance of LE.R. is no longernecessary) :
C#ae-l'll
Date Particulars LE[Dr®[Cr.®
(i) || Investment Fluc. Reserve Afc Dr. 60,000
To Nitin's Capital A/c i 20,000
To Tarun’s Capital A/c 20,000
To Amar's Capital A/c 20,000
(Being balance of LER. is no longer necessary)
(if) | Investments A/c Dr. 24,000
To R_evaluation Alc 24,000
(Being market value of investments increases)
(i) Re_valuatidn Alc Dr, 24,000
To Nitins Capital A/c y 8,000
To Tarun's Capital A/c 8,000
To Amar’s Capital A/c 8,000
(Being revaluatun profit transferred to partners)
Case-IV ’ -
Date| » - Particulars LE|[Dr.(® [Cr.(®
(i) || Investment Fluc. Reserve A/c Dr. 30,000
To Investment A/c [4,00,000 - 3,70,000] 30,000
(Being market value of investments decreses)

b,



ﬁﬂ] Investment Fluc. Reserve Afc Dr. 30,000 !
Y . To Nitin’s Capital A/c lﬂ.ﬂﬂﬂi |
Ta Tarun’s Capital A/c 10,000
To Amar’s Capital A/c 10,000
(Being balance of LER. transferred to partners)
CaseV : ‘
Date Particulars | L.E| Dr. (®) | Cr. (¥)
(i) | Investment Fluc. Reserve A/c Dr. 60,000
Revaluation A/c ; Dr. 30,000
To Investments Afc 90,000
(Being market value of investment decreas-)
(i) | Nitin’s Capital A/c Dr. 10,000
Tarun’s Capital A/c Dr. | 10,000
Amar’s Capital A/c’ Dr. 10,000
To Revaluation A/c ! * 30,000
(Being loss on revalution transferred to partners)

Q.19. X and Y are partners sharing profits in the ratio of 2: 1. On 31st March,

2018 [their Balance Sheet showed General Reserve of T 60,000. It was decided

thatin

Jo

entry in each of the following alternative cases: -

future they will share profits and losses in the ratio of 3 : 2. Pass necessary

1) If General Reserve is not to be shown in the new Balance Sheet.
(1) If General Reserve is to be shown in the new Balance Sheet.
L (i) When do not want to show-General Reserve in B/Sheet

Date

Journal 5
Particulars

L.E.

Dr. R)

| Cr. (D)

@

General Reserve A/c Dr.
To x's Capital A/c
To y's'Capital A/c

(Being Balance of G/R transferred)

60,000

40,000
20,000

() When they want to show General Reserve in B/Sheet

Working Notes— (i) Calculation of Sac./Gain to "x" and

for "x" =2/3 - 3/5 = (10 - 9)/15 = 1/15 Sac.
"y = 1/3 - 2[5 = (5 — 6)/15 =-1/15 Gain.
Journal

i i

Date

Particulars

Dr. (X

Ccr.(®

@

|

¥'s Capital A/c [60,000 x (1/15)] Dr.
To x's Capital A/c [60,000 x 1/15]

(Being adjustment of G/R recorded)

4,000

4,000

Hzﬁ 20. X and Y are in partnership sharing pmﬁts in the ratio.of 2 : 3. With
from 1st April 2018, they agreed to share profits in the ratio of 1: 2. For this



| ge the goodwill of the firm is to be valued at two year’s purchase of th; ;'
average profit of last three years, which were T 1,50,000; T 1,60,000 and ¥ 2,00,000
respectively. The reserves appear in the books at T 1,10,000. Partners decide to *
continue showing Reserve in the books. You are required to give effect to the.
e by passing a single Journal entry.
Sol. Journal Entries
Date Particulars LE|Dr.() |Cr.X)
Y’s Capital Account (4,50,000 = 1/15) Dr. 30,000
To X’s Capital Account 30,000
(Being G/W and Reserve adjusted)
X's Sacrifice=2/5-1/3=1/15, Y’s Gain=2/3 - 3/5=1/15

orking Notes: Average Profits = (1,50,000 + 1,60,000 + 2,00,000)/3 = ¥
1,70,000

Goodwill = ¥ 1,70,000 x 2= T 3,40,000
Reserve + Goodwill = ¥ 1,10,000 + 3,40,000 = ¥ 4,50,000
-21. X,Y and Z share profits as 5 : 3 : 2. They decide to share their future

profits as 4 : 3 : 3 with effect from April 1, 2018, On this date the following
revaluations have taken place

Book Value ¥ Revised value T

vestments 22,000 25,000
ant and Machinery 25,000 20,000
d and Building 40,000 50,000
tstanding Expenses 5,600 6,000
undry Debtors 60,000 50,000
rade Creditors 70,000 60,000

ass necessary adjustment entry to be made because of the above changes in
the alues of assets and liabilities. However old values will continue in the books.
Sol. Old Ratio of X, Y and Z =5:3:2, and their New Ratio = 4:3:3
X = 4/10 -5/10 == 1/10 (Sacrifice)
Y= 3/10-3/10=0
Z = 3/10 -2/10 =1/10 (Gain)
Calculations for Net Increase/Decrease

Items Book Value in X | Revised valug in X | Increase/Decrease in X
Investment 22,000 25,000 3,006
Plant and Machinery 25,000 20,000 ~5,000
Land and Building 40,000 50,000 10,000

- O/s Expenses 5600 - 6,000 —400
Sundry Debtors 60,000 50,000 ~10,000
Trade Creditors 70,000 60,000 10,000

Increase = 7,600




il
s Adjusting Journal Entry
Date Particulars _ |LF| Dr Cr.
Z's Capital Account (7,600 x 1/10) Dr | 760
. To X's Capital Account 760
(Being revaluation of assets and liabilities adjusted)
'Q. 22, Ashish, Aakash and Amit are partners sharing Pmﬁts and losses. The
Balance Sheet as at 31st March, 2018 was as follows— .
Liabilities & Assets &
Sundry Creditors 75,000| Cashin Hand 24,000
General Reserve 90,000 | Cash at Bank 1,40,000
Capital A/cs : ¢ Sundry Debtors -80,000
3,00,000 Stock 1,40,000
3,00,000 Land and Building 4,00,000
Amit 275000 | 8,75,000] Machinery 2,50,000
Advertisement Suspense 6,000
10,40,000 10,40,000 .

(

ey also decided that—
Value of stock to be reduced to ¥ 1,25,000.
Value of machinery to be decreased by 10 %

e partners decided to share profits in the ratio of 2 : 2 :1 w.e.f. 1st April,

Land and Building to be appreciated by. ¥ 62,000
(iv) Provision for Doubtful Debts to be made @ 5% on Sundry Debtors
Aakash was to carry out reconstitution of the firm at a remunerationof T

10
Pass neccessary Journal entries to give effect to the above.
Sol. Journal
Date Particulars LEL X T
() | General Reserve A/c Dr. 80,900
To Ashish’s Capital A/c 30,000
To Aakash’s Capital A/c 30,000
To Amit's Capital A/e 30,000
(Being balance of General Reserve transferred
- to partners)
(i) | Ashish’s Capital A/c Dr. 2,000
" | Aakash’s Capital Afc Dr. * 2,000
Amit’s Capital A/c Dr. 2,000
To Adv. Suspence A/c 6,000
(Being balance of adv. susp. transferred to partners)
(fif) | Revaluation A/ec Dr. 44,000
To Stock A/c [1,40,000 - 1,25,000] 15,000
To Machinery A/c [2,50,000 x 10%] 25,000
To P.B.D. A/c [80,000 x,5%] 4,000
(Being value of assets decreased)




v
:;‘(iu) Land and Building A/c Dr. 62,000 g
1 To Revaluation A/c ; 62,00@“
(Being value of land and building appreciated) -
(o) | Revaluation Ajc ' Dr. 10,000
 To Aakash’s Capital Afc- . 10,000
(Being remunaration to partner charged)
(vi) | Revaluation A/c Dr. 8,000
1 |"”. To Ashish’s Capital Afc 2,667
To Aakash'’s Capital A/c 2,667
To Amit’s Capital A/c 2,666
(Being profit on revaluation transferred)

Q. 23. A, B and C are pariners.sharing profits and losses in the ratioof5:3:
2. Their Balance Sheets as at 31st March, 2017 Stood as follows— :

Liabilities (4 Assets - &
Capitals A/cs: . | Land and Building 3,50,000
A 2,50,000 Machinery 2,40,000
B 2,50,000 Computers 70,000
C 2,00.000| 7,00,000 | Investments 1,00,000
(Market Value T 90,000) '
General Reserve 60,000 | Sundry Debtors . 50,000
Inv : ent Fluctuation Reserve| 30,000 | Cash in Hand 10,000
Sundry Creditors 90,000 | Cash at Bank ' 55,000
; Advertisement Suspense 5,000
8,80,000 8,80,000

'll'h_ey decide to share profits equally w.e.f. 15t April, 2017. They also agreed
that ' :
Value of Land and Building be decreased by 5%.

(#) Value of Machinery be increased by 5%. -

(iif) A Provision for Doubtful Debts be created @ 5% on Sundry Debtors,

(ip) A Motor Cycle valued at ¥ 20,000 was unrecorded and is now to be
recotded in the books.- :

(p) Out of Sundry Creditors, T 10,000 is not payable.

(@) Goodwill jsto bevaluedat2 years’ purchase of last 3 years profits. Profits
being for 2016—17—% 50,000 (Loss); 2015—16—% 2,50,000 and 2014—15—%
2,50,000. ' :

(v#i) C was'to carry out the work for reconstituting the firm at a remuneration
(including expenses) of T 5,000. Expenses came to ¥ 3,000.
Tass Journul entries and prepare Revaluation Account.



"/ sal.

Journal
Date Particulars LE| € T
() | General Reserve A/c Dr. 60,000
To A’s Capital A/c 30,000
To B’s Capital A/c 18,000
To C’s Capital A/c 12,000
(Being balance of General reserve transferred)
(i) | Invest. Fluc. Res. A/c Dr. 30,000
' To Investment A/c [1,00,000 - 90,000] 10,000
To A’s Capital A/c [20,000 x 5/10] 10,000
To B’s Capital A/c [20,000 = 3/10) 6,000
To C’s Capital A/c [20,000 x 2/10] 4,000
(Being value of investment decreasés)
(iii) | A’s Capital A/c Dr. 2,500
B’s Capital A/c Dr. 1,500
C’s Capital A/c Dr. 1,000
To Advt. Suspence A/c ' 5,000
(Being balance of Adv. suspence transferred)
(iv) | Machinery A/c [2,40,000 x 5%] Dr. 12,000
Mator Cycle A/c Dr. 20,000
Creditors A/c Dr. 10,000
To Revaluation A/c 42,000
(Being value of assest increases and liab. decreases)
() | Revaluation A/c Dr. 25,000
To Land & Building A/c [3,50,000 x 5%] 17,500
To F.B.D. A/c [50,000 x 5%)] 2,500
To C’s Capital A/c 5,000
(Being value of assets decreases and liabilities
written off) ;
(vi) | Revaluation A/e [42,000-25,000] Dr. 17,000
To A’s Capital A/c [17,000 x (5/10)] 8,500
To B’s Capital A/c [17,000 x (3/10)] 5,100
To C’s Capital A/c [17,000 x (2/10)] 3,400
(Being revaluation profit transferred to partners)
(vii) | B's Capital A/c[3,00,000 x (1/30)] Dr. 10,000
C’s Capital A/c [3,00,000 = (4/30)] Dr. 40,000
To A’s Capital A/c [3,00,000 x (5/30)] 50,000

(Being amount of G/w adjusted in sac./Gain ratio)




-\,’L Revaluation A/c d
Particulars T Particulars T 4
To Land & Buildings A/c 17,500| By Machinery 12,000
ToPB.D.A/c 2,500| By Motor Cycle A/c 20,000
To C’s Capital A/c 5,000| By Creditors A/c 10,000
To Revaluation Profit ¢/d
A 8,500
B 5,100
C 3.400( 17,000
Total 42,000| Total 42,000
Working Note— '

i) Calculation of Sac./Gain to
A= (5/10) - (1/3) = (15 - 10)/30 = 5/30 Sac.
B= (3/10)-(1/3) = (9 -10)/30=-1/30 Gain
C= (2/10)-(1/3) =(6-10)/30=~4/30 Gain

(#7) Goodwill = ¥ [(50,000) +2,50,000 + 2,50,000] = (2/3)

= ¥ 3,00,000 '

Q. 24. A, B and C are sharing profits and losses in the ratio pf.2: 2: 1. They

decuied to share profit w.e.f. 1st April, 2018 in the ratio of 5: 3 : 2. They also
decided not to change the values of assets and liabilities in the books of account.
The book values and revised values of asset and liabilities as on the date of

ge were as follows—

achinery
omputers
undry Creditors

utstanding Expenses

Pass an adjustment entry.

Sol. Working Note—

A =(2/5) - (5/10) = (4 -5)/10=~1/10 Gain

B =(2/5) - (3/10) = (4 - 3)/10 = 1/10 Sac.

C=(1/5)-(2/10) = (2-2)/10=0
Statement Showing Net effect of Revaluation

Book Value (2

2,50,000
2,00,000
90,000
15,000

Revised Value (D

3,00,000
1,75,000
75,000
25,000

Particulars Book Value | Revised Value | Net Change
Machinery 2,50,000 3,00,000 50,000
Computers 2,00,000 1,75,000 (25,000)
Sundry Creditors 90,000 75,000 15,000
O/s Expenses 15,000 25,000 (10,000)

Total Net Change 30,000




' Journal
Date Particulars L.F, [ 4 L
(i) | A’s Capital A/c [30,000 = (1/10)] Dr. 3,000
To B's Capital A/c 3,000
(Being amount of net change transfer in
Sacrifice/Gain
Q.25.X, Y and Z are partners sharing profits and losses in the ratio 0f 7:5: 4.
Their Balance Sheet as at 31st March, 2018 stood as— .
Liabilities 4 Assets (4
Capital A/cs: Sundry Assets 7,00,000
X- 2,10,000
Y 1,50,000
z 1,20,000| 4,80,000
Gen Reserve 65,000
Profit and Loss A/e 25,000
Creditors 1,30,000
" 7,00,000 7,00,000

Partners decided that with effect from 1st April, 2018, they will share profits
and losses in the ratio of 3 : 2 : 1. For this purchase, goodwill of the firm was
valued at ¥ 1,50,000. The partners neither want to record the goodwill nor want

fo dis
P
So
(i)
(i)

(i0)
()

ibute the General Reserve and profits.

. Working Note—(i) Old Ratioof x: y 1 2=7:5:4
New Ratioof x:y:z=3:2:1 :

= ¥ 2,40,000
Share of x (Dr.) = T 2,40,000 x (3/48) = ¥ 15,000
y(Dr)= ¥2,40,000 x (1/48) =¥ 5,000
- z(Cr)= T 2,40,000 x (4/48) = ¥ 20,000

Sac/ Gain to x = (7/16) = (3/6) = [(21 — 24)/48] = - 3/48 Gain
y= (5/16) - (2/6) = [(15 - 16)/48] = - 1/48 Gain
z= (4/16) - (1/6) = [(12 - 8)/48] = 4/48 Sac.

Total Amount of : G/w + G/R+ P & L = ¥ [1,50,000 + 65,000 + 25,000]

a Journal entry to record the change and prepare revised Balance Sheet.

Journal Entry
Date Particulars LF| Dr Cr.
(i) | x's Capital A/c Dr. 15,000 | -
¥'s Capital A/c Dr. 5,000
To Z's Capital A/c. 20,000
(Being amt. of adjust made for change in Rafio)




T Balance Sheet (Revised) Z
. Liabilities 3 " Assets L
Capital Afcs : - Sundry Assets 7,00,000 ~

x [2,10,000= 15,000} 1,95,000,
y [1,50,000 - 5,000] 1,45,000
z [1,20,000 + 20,000] 1,40,000{ 4,80,000

‘General Reserve 65,000
Profit & Loss A/c 25,000
Creditors 1,30,000

7,00,000 7,00,000
Ct. 26. A, B and C were pariners in a firm sharing profits in the ratio 0f3:2:
1. Their Balance Sheet as on 31st March, 2015 was as follows—
Liabilities o | Assets T
Creditors 50,000{ Land 50,000
Bills Payable 20,000| Building 50,000
Gengeral Reserve’ 30,000{ Plant 1,00,000
Capital A/cs Stock 40,000
A 1,00,000 Debtors 30,000
B 50,000 Bank 5,000
C 25,000 | 1,75,000
, : 2,75,000 2,75,000
From 1st April, 2015, A, B and C decided to share profits equally. For this it

was agreed that—

) Goodwill of the firm will be valued at  1,50,000.
(#) Land will be revalued at T 80,000 and building be depreciated by 6%.
(i#) Creditors of T 6,000 were not likely to be claimed and hence should be

written off.
repare Revaluation Account, Partners’ Capital Accounts and Balance Sheet
. of the reconstituted firm. (Deihi 2016)
ol. Revaluation A/c
Particulars & Particulars L 4
To Building 3,000| By Land A/c 30,000
To R'Iv. Profit c/d By Creditors A/c 6,000
A 16,500
B 11,000
C 5500 | - 33,000
" Total 36,000| Total 36,000




r_— Pariners Capital A/c

Y Particulars A B C Particulars A B
TDAiCap. Ae | & - —| 25,000 By Balancb/d | 1,00,000{ 50,000
To Balance c/d 1,56,500| 71,0001 10,500| By Gen. Res. 15,0001 10,000 | 5,000
By Rev. Afc 16,500{ 11,000 | 5,500
By C's Cap. A/c| 25,000 - -
Total 1,556,500 71,000 35500, Total 1,56,500| 71,000 | 35500

Reconstituted Balance Sheet
as on April, 1, 2015

Liabilities f o Assets . L 4

- Creditors 44,000| Land 80,000
Bills Payable 20,000 | Building 47,000
Capital A/cs Plant 1,00,000
A 1,56,500 Stock 40,000

B 71,000 Debtors 30,000

C 10,500 | 2,38,000| Bank 5,000
To 3,02,000| Total 3,02,000

orking Note—

i) Calculation of Sacrifice/Gain to
A =(3/6) - (1/3) = (3 —2)/6 = 1/6 Sacrifice
B=(2/6)-(1/3)=(2-2)/6=0
C=(1/6) - (1/3) = (1-2)/6=-1/6 Gain
Q.27. A and B are pariners sharing profits in the ratio of 4 : 3. Their Balance
Sheet as at 31st March 2018 stood as :
Balance sheet

Liabilities 4 Assets 4
Sundry Creditors 28,000/ Cash 20,000
Reserve 42,000{ Sundry Debtors 1,20,000
itals A/cs:
A Capil:al 2,40,000 Stock 1,40,000
B'd Capital 1,20,000 3,60,000] Fixed Assets 1,50,000
4,30,000 4,30,000

ey decided that with effect from 1st April 2018, they will share profits and
losses in the ratio of 2 : 1. For this purpose they decided that:

i) Fixed assets are to be depreciated by 10%.

i) A Provision for Doubtful Debts of 6% be made on Sundry Debtors.
(ifi) Stock be valued at € 1,90,000.

(iv) An amount of T 3,700 included in Creditors is not likely to be claimed.
artners decided to record the revised values in the books. However, they do
t to disturb the Reserves. You are required to pass the Journal entries,
the Capital Accounts of Partners and the revised Balance Shéet.
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Journal Entries
Date Particulars L.F, Dr. Cr.
Revaluation Account Dr. 22,200
To Fixed Assets A/c (1,50,000 x 10%) 115,000
To Provision for doubtful debts (1,20,000 x 6%) 7,200
(Being assets revalued)
Stock A/c (1,90,000 — 1,40,000) Dr. 50,000
Creditors A/c Dr. 3,700
To Revaluation Account 53,700
(Being asset and liability revalued)
Revaluation Account (53,700 - 22,200) Dr. 31,500
. To A’s Capital Account (31,500 x 4/7) 18,000
To B's Capital Account (31,500 x 3/7) 13,500
(Being revaluation profits adjusted)
A’s Capital Account (42,000 x 2/21) Dr. 4,000 y
To B's Capital Account 4,000
. (Bein& reserves adjusted)
Dr. Capital Accounts Cr.
Particulars A B ~ Particulars A B
To B's Capital A/c 4,000 - By Balance b/d 2,40,000(1,20,000
To Balance ¢/d 2,54,000{1,37,500| By A’s Capital AJe | - 4,000
By Revaluation Profif 18,000| 13,500
2,58,000{1,37,500] - : 2,58,000|1,37,500
Revised Balance sheet
Liabilities T Assets g T
Sundry|Creditors (28,000 -3,700) | 24,300 | Cash 20,000
Reserve 42,000 | Sundry Debtors . 1,20,000
Capital|A/cs; Less: Provision 72001 1,12,800
A 2,54,000 Stock (1,40,000 + 50,000) 1,90,000
B 137,500 3,91,500 | Fixed Assets (1,50,000 —15,000)} 1,35,000
4,57,800 4,57,800
Q. 28. X, Y and Z are partners in a firm sharing profits and losses as 5:4:3.
Their Balance Sheet as at 31st March 2018 was :
Liabilities L Assets T
Sundry Creditors 40,000 | Cash at Bank 40,000
Outstanding Expenses 15,000 | Sundry Debtors 2,10,000
Geneql Reserve . 75,000 | Stock 3,00,000

o



Alcs:-

Furniture 60,000
4,00,000 Plant and Machinery 4,20,03§
3,00,000 '
2.00.000 ( 9,00,000
10,30,000 10,30,000°

) Plant and Machinery be valued at ¥ 4,00,000.
Outstanding Expenses be increased by < 13,000.
ariners agreed that altered values are not to be recorded in the books and

1st April 2018, they agree to alter their profit sharing ratio as 4:3:2, It is

ou are required to pass a single Journal Entry to give effect to the above.

Also prepare Balance Sheet of the new firm.

Sol. Increase in Stock = 3,00,000 x 20% = 60,000
Less : Decrease in Furniture = 60,000 x 20% = 12,000
Decrease in Plant and Machinery =4,20,000 —4,00,000 = 20,000
O/s Expenses = 13,000
Revaluation Profit = 15,000

_ Journal Entries
Date Particulars LF | Dr Cr.
X's Capital Account (90,000 x 1/36) Dr. ' 2,500|
To Z's Capital Account 2,500
(Being reserves and Rev. profit adjusted)

Dr. Capital Accounts Cr.
Particulars X Y Z Particulars X Y Z
ToZ'3 Alc 2,500 - —| By Balance b/d | 4,00,000}3,00,000]2,00,000
ToBalancec/d | 3,97,500|3,00,000 2,02,500 | By X's A/c - - 2500

4,00,000| 3,00,000| 2,02,500 4,00,000] 3,00,000} 2,02,500

Revised Balance sheet '

Liabilities T Assets T
Sundry Creditors 40,000 | Cash at Bank 40,000
Outstanding Expenses 15,000 | Sundry Debtors 2,10,000
General Reserve 75,000 | Stock 3,00,000
X's Capital 3,97,500 : Furniture 60,000
Y’s Capital 3,00,000 Plant and Machinery 4,20,000.

Z’s Capital 2.02,500| 9,00,000

10,30,000 10,30,000




m—:ﬁ. Balance Sheet of X and Y, who share profits and lossesas 5 : 3, as at
‘April 1, 2017, is:
Liabilities T Assets L4
X's Capital 52,000 | Goodwill 8,000
Y's Capital 54,000 | Machinery 38,000
Gen reserve 4,800 | Furniture 15,000
Sundry creditors 5,000 | Sundry debtors 33,000
Employees’ provident fund 1,000 | Stock 7,000
Workmen compensation Bank 25,000
Reserve 10,000 | Advertisement Suspense A/c 800
1,26,800 1,26,800
On the above date, they decided to change their profit sharing to 3 : 5 and
agreed upon the following. -
(a)| Goodwill be valued on the basis of 2 years’ purchase of the average profit
of the last three years. Profits for 2014-15 — ¥ 7,500, 2015-16 — T 4,000 and 2016-
17- € 6,500. ;s
(b)| Machinery and stock be revalued at ¥ 45,000 and ¥ 8,000 respectively.
- (0)| Claim on account of workmen’s compensation is ¥ 6,000.
are Revaluation Account, Pariners’ Capital Accounts and the Balance Sheet
of the new firm. -
Sol, Revaluation Account
. Liabilities L1 Assets T
To Profit on revaluation .| By Machinery (45,000 - 38,000) 7,000
X=8,000x5/8= 5,000 By Stock (8,000 —7,000) 1,000
Y=8000x3/3= 3,000 | 8,000
{ 8,000 8,000
X = 5/8 —3/8 = 2/8 (Sacrifice) and Y = 3/8 - 5/8 = -2/8 (Gain) '
Average profits = (7,500 + 4,000 + 6,500)/3 = ¥ 6,000
Goodwill = T 6,000 =2 =% 12,000
X’s contribution = 12,000 = 2/8 = ¥ 3,000
Y’s share = 12,000 = 2/8= ¥ 3,000
: ' Journal Entries
Date Particulars LE| Drn Cr.
Y’s Capital Account Dr. 30000
To X’s Capital Account 3,000
(Being G/W adjusted)
Dr. | Capital Account Cr.
Particulars X X Particulars X 5 &
To dwill 5,000, 3,000 | By Balance b/d 52,000| 54,000
To Adv. Suspense 500 300 | By General reserve 3,000( 1,800

i



™ "To X’s capital A/c 3,000 | By Work. Comp. Res. | 2,500

Balance c/d 60,000 54,000 | By Revaluation Profit 5,000

By Y’s capital a/c 3,000

65,500, 60,300 65,500

Revised Balance sheet
Liabilities T - Assets g L

X’s|Capital 60,000 | Machinery 45,000
Y’s Capital 54,000 | Furniture 15,000
Sundry creditors : 5,000 | Sundry debtors 33,000
Employees provident fund 1,000 | Stock - 8,000
Warkmen compensationreserve| 6,000 | Bank 25,000
1,26,000 1,26,000

Q. 30. Ram, Mohan, Sohan and Hari were partners in a firm sharing profits
in the ratio of 4:3:2:1. On 1st April, 2016, their Balance Sheet was as follows—
Balance Sheet of Ram, Mohan, Sohan and Hari

as on 1st April, 2016
Liabilities | S e Assets : g
Capital Afes: Fixed Assets 9,00,000
4,00,000 Current Assets 5,20,000
ohan 4,50,000
ohan 2,50,000
ari 2,00,000| 13,00,000
Warkmen Compensation 1,20,000
eserve '
14,20,000] 14,20,000

il’mm the above date, the partners decided to share the fature profits in the
ratio of 1: 2 : 3: 4. For this purchase the goodwill of the firm was valued at T
1,80,000. The partners also agreed for the following—

(@) The claim for workmen compensation has been estimated at ¥ 1,50,000.
(b) Adjust the capitals of the pariners according to new profit-sharing ratio
by opening Partners' Current Accounts.

Prepare Revaluation Account, Partners' Capital Accounts and the Balance
Sheet of the reconstituted firm.

Sol. Revaluation A/c _
Particulars 4 Particulars v
Work. Comp. Reserve 30,000| By RevaluationLoss:[4:3:2:1]
Ram 12,000(.
*Mohan 9,000
Sohan 6,000
Hari 3,000 30,000
30,000 30,000




2 ﬁm‘ ing Note— (i) Old Ratioof R: M:S:H=4:3:2:1
(ii) New Ratioof R:M:5:H=1:2:3:4
(i) Sac./Gain to Ram = (4/10) — (1/10) = 3/10 (Sac.)
to Mohan = -(3/10) - (2/10) = 1/10 (Sac.)
toSohan= (2/10) - (3/10) =-1/10 (Gain)
to Hari= (1/10) - (4/10) = 3/10 (Gain)
(iv) Share of Goodwill to Ram = Z [1,80,000 x (3/10)] = ¥ 54,000 (C.)
to Mohan= % [1,80,000 x (1/10)] = ¥ 18,000 (Cr.)
toSohan= ¥ [1,80,000 x (- 1/10)] = ¥ 18,000 (Dr..)
to Hari= £ [1,80,000 x (- 3/10)] = ¥ 54,000 (Dr.)
() Total New Capital = Old Capital ~ Reserve Loss
= ¥ [13,00,000 - 30,000] = ¥ 12,70,000
Share to Capital to Ram = [¥ 12,70,000 x (1/10)] = ¥ 1,27,000
to Mohan = -[¥ 12,70,000 x (2/10)] = ¥ 2,54,000
to Sohan= [ 12,70,000 x (3/10)] = ¥ 3,81,000
to Hari= [T 12,70,000 x (4/10)] = ¥ 5,08,000
Partners' Capital A/c

Particulars | Ram | Mohas| Sohan| Hari | Particulars | Ram |Mohan| Sohan | Hari
ToReva. Afc | 12,000 9,000| 6000 3,000|ByBal.b/d |400,000| 450,000/250,000{ 200,000
To Current A/c| 315,000{205,000 - —| By Curr. A/c - ~|155,000| 365,000

(Bal. Fig. ) (Bal. Fig.)

To c/d | 127,000/254,000|381,000| 508,000 | By Sohan & | 54,000 18,000 - -
: Hari
ToRam & —| | 18,000 54,000
Mohan :
454,000]468,000{405,000] 565,000 454,000| 468,000{405,000] 565,000
; Balance Sheet (Revised)
Liabilities - T Assets g
Capital Afcs : Fixed Assets 9,00,000

Ram 1,27,000 Current Assets 5,20,000

Mchan 2,54,000 Current Afcs :

Sohan 3,81,000

Hari 5,08,000 12,70,000 Sohan 1,55,000
Current A/cs : y Hari 1,65,000] 5,20,000

Ram -3,15,000

Mohan! 2,05,000] 5,20,000
Workman Camp, Reserve - 1,50,000

| 19,40,000 s '19,40,000
Q. 31. Suresh, Ramesh, Mahesh and Ganesh were partners in a firm sharing
profits in the ratio of 2:2: 3 : 3. On 1st April, 2016, their Balance Sheet was as
follows—




Balance Sheet of Suresh, Ramesh, Mahesh and Ganesh
_ as on 1st April; 2016
Liabilities T, ¢ Assets
Capital A/cs: Fixed Assets 6,00,000
uresh 1,00,000 Current Assets 3,45,000
esh 1,50,000
ahesh 2,00,000
anesh 2,50,000{ 7,00,000
Sundry Creditors 1,70,000
Warkmen Compensation 75,000
eserve
9,45,000 9,45,000

From the above date, the pariners decided to share the future profits equally.

For this purpose the goodwill of the firm was valued at T 90,000. It was also

a

1,0

ed that—

(a) Claim against Workmen Compensation Reserve will be estimated at T

,000 and fixed assets will be depreciated by 10%.

(b) The Capitals of the partners will be adjusted according to the new profit-
ng ratio. For this, necessary cash will be brought or paid by the pariners as

the case may be.
" | Prepare Revaluation Accounts, Pariners' Capital Accounts and the Balance
Sheet of the reconstituted firm.
Sol. Revaluation A/c
Particulars L4 _ Particulars | T
Work. Comp. Reserve 25,000 By Rev.Loss.(2:2:3:3) '
Fixed Assets 60,0001 Suresh 17,000
Ramesh 17,000
Mahesh 25,500
Ganesh 25,500f 85,000
85,000 85,000

Working Note—(i) Old Ratio of S: R: M:G=2:2:3:3
(i) New.Ratioof :5:R:M:G 1:1:1:1
(#i)) Sac./Gain to Suresh = (2/10) - (1/4) = [(4 -~ 5)/20] = (- 1/20) (Gain)
to Ramesh = (2/10) - (1/4) = [(4 - 5)/20] = (- 1/20) (Gain)
to Mahesh = (3/10) - (1/4) = [(6 — 5)/20] = (1/20) (Sac.)
to Ganesh = (3/10) - (1/4) = [(6 - 5)/20] = (1/20) (Sac.)
(fv) Share of Goodwill to Suresh = ¥ [90,000 x (-1/20)] = € 4,500 (Dr.)
to Ramesh= ¥ [90,000 x (~ 1/20)] =¥ 4,500 (Dr.)
to Maheésh = ¥ [90,000 x (1/20)] = ¥ 4,500 (Cr.)
to Ganesh= ¥ [90,000 x (1/20)] = ¥ 4,500 (Cr.)




Total New Capital = Old Capital — Reserve Loss

=_% [(7,00,000 ~ 85,000)] = T 6,15,000

(i) | Capital of each Partner in the firm = T [6,15,000 x (1/4)]
= ¥1,53,750
Partners' Capital A/e
Particulars S R -M G | Particulars S R M G
ToRev. Loss 17,000| 17,000| 25,600( 25,500| By Bal. b/d 100,000| 150,000(200,000( 250,000
'ln.Mahq‘h&: 4,500 45000 - ‘= — | By Suresh & - =| 4,500] - 4500
Gane 2 Cap. Alc Ramesh Cap. Afc
To Cash A/c - —| 25,250( 75,250| By Cash A/c 75,250| 25,250 - -
(Bal. Fig.) : (Bal. Fig))
To Balande c/d | 153,750{153,750(153,750( 153,750
175,250|175,250{204,500( 254,500 175,250| 175,250204,500| 254,500
Balance Sheet (Revised)
Liabilities (4 Assets g
Capital|A/cs : Fixed Assets 6,00,000
Sur 1,53,750 Less : Dep. 60,000{ 5,40,000
Ramesh 1,53,750 Current Assets ] 3,45,000
Mah 1,53,750
Ganesh 1,53,750( 6,15,000
Sundry|Creditors '| 1,70,000
Workmen Camp. Reserve 1,00,000
8,85,000 8,85,000

Q. 32, Following is the Balance Sheet of A and B, who shared Profits and

Losses in the ratio of 2: 1, as at 1st April, 2018—
Balance Sheet of a and B
as on 1st April, 2018
Liabilities X1~ Assets T
Capital A/cs : Land and Buildings 2,90,000
A 3,00,000 Furniture 80,000
B 2,00,000, 5,00,000| Stock 2,40,000
Resewjm 1,50,000| Debtors 1,50,000
‘Credit 2,00,000( Bank 60,000
Cash 30,000
8,50,000 8,50,000
Onithe above date, the pariners changed their profit-sharing ratio to 3: 2. For
this purpose, the goodwill of the firm was valued at ¥ 3,00,000. The partners also
agreed for the following— ,
(@) | The value of Land and Building will be ¥ 5,00,000;
(b) | Reserve is to be maintained at ¥ 3,00,000.

(3]

will be shared by the partners in their new profit-sharing ratio.

The total capital of the pariners in the new firm will be ¥ 6,00,000, which

ol il B



¥>- Prepare Revaluation Account, Pariners' Capital Accounts and the Bal
Sheet of the reconstitued firm.

Sol. (i) Old Ratioof A:B=2:1

(i) NewRatioofA:B =3:2 .

iif) Sac./Gain to A = (2/3) - (3/5) = [(10 - 9)/15] = (1/15) Sac.

toB= [1/3] = (2/5) [(5 - 6)/15] (- 1/15) Gain

(iv) Share of Goodwill to A = ¥ [3,00,000 x (1/15)] = T 20,000 (Cr)
.B= ¥ [3,00,000 x (- 1/15)] = T 20,000 (Dr.)

(v) Total Capital of New firm = ¥ 6,00,000

New Capital of "A"= ¥ [6,00,000 x (3/5)] = T 3,60,000

"B"= ¥ [6,00,000 x (2/5)] = ¥ 2,40,000

Revaluation A/c
Particulars L & Particulars 4
To Rev. Profit:in [2:1] By Land & Building 2,10,000
A 1,40,000
B 70,000 |2,10,000 PRt
2,10,000 2,10,000
Partners' Capital A/c 28
Particulars A B Particulars A B
To A's Capital A/c —| 20,0000 By Balance b/d 3,00,000{2,00,000
To Reserve A/c (in 3 :2)| 180,000( 120,000{ By Rev. Profit 140,000{ 70,000
To Bank A/c (Bal. fig.) | 20,000 By B'sCapital A/c | 20,000 -
By Reserve A/c[in2:1]| 100,000 50,000
To Balance c/d 360,000] 240,000| By Bank A/c (Bal. ﬁg.] ; 40,000
560,000( 380,000 : '560,000] 380,000
Balance Sheet (Re‘_rised)
Particulars T Particulars T

Capital Afcs : Land & Building 5,00,000
A 360,000 Furniture 80,000
B 240,000 6,00,000| Stock 2,40,000
Resﬁves 3,00,000| Debtors 1,50,000
Creditors 2,00.000 Bank [60,000 + 60,000 + 20,000] 1,00,000
Cash 4 30,000
11,00,000 11,00,000




CHAPTER -4
ADMISSION OF A PARTNER

SOLVED PRACTICAL PROBLEMS
X, Y and Z are partners ﬂharmg profits and losses in the ratio of 5: 3: 2.
it A into partnership and give him 1/5th share of pmﬁts Find out the
fit sharing ratio.
Let Total Profit =1 and given A’s share=1/5
efore, Remaining share= 1-1/5=4/5.

X's New Share = 4/5 x 5/10=20/50

Y’s New Share = 4/5 x 3/10=12/ 50

Z's New Share= 4/5x2/10=8 /50

A’s New Share = 1/5x 10/10=10/50

Hence, New ratio=20:12:8:10=10:6:4:5

Ravi and Mukesh are sha.nng profits in the ratio of 7 : 3, They admit
Ashok r 3/7th share in the firm, which he takes 2/7th from Ravi and 1/7th from
Mukesh, calculate new Profit Sharing Ratio.
Sol New Ratio = Old Ratio - Sacrificing Ratio
i =7/10-2/7 =(49-20)/70=29/70

They to admit C, their manager, into partnership who is to get 1/6th share
in the profits. He acquires this share as 1/24th from A and 1/8th from B, Calculate

fit-sharing ratio.

Sol; New Ratio = Old Ratio - Sacrificing Ratio
A =7/12-1/24 = (14 - 1)/24 =13/24
B=5/12-1/8 =(10-3)/24 =7/24
C=1/24+1/8 =(1+3)/24 =4/24
Therefore, New Ratio=13:7:4
Q.4. A, B and C were partners in a firm sharing profits in the ratioof 3:2: 1.
They admitted D as a new parmer for 1/8th share in the profits, which he acquired
.1/16th from B and 1/16th from C. Calculate the new profit-sharing ratioof A, B, C
and D.
Sol} Old Profit Sharing Ratioof A:B:C=3:2:1
D’s admitted for= 1/8
B’s Sacrifice= 1/16
C's Sacrifice= 1/16
So, A’s New share= 3/6
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= 13/48

C’s New share= 1/6 - (1/16) = (8 - 3)/48
= 5/48

D’s New share= 1/8

¥‘ B’s New share= 2/6 - (1/16) = (16 — 3)/48 g

3 1
New Ratioof A:B:C:D= —i—: 13

= 24:13:5:6
5. Bharti and Astha were partners sharing profits in the ratio of 3: 2. They
admifted Dinkar as a new partner for 1/5th share in the future profits of the firm
which he got equally from Bharati and Astha. Calculate the new profit-sharing
ratio of Bharati, Astha and Dinkar, (Delhi 2016 O)

Sol. Old Profit Sharing Ratio of Bharti : Astha=3: 2
Dinkar admitted for= 1/5
Bharti Sacrifice= 1/5x1/2=1/10
Astha Sacrifice= 1/5x1/2=1/10
Bharti New Share= 3/5 - (1/10) = (6 - 1)/10
= 5/10
Astha New Share= 2/5—(1/10) = (4-1)/10
= 3/10
531
,New Ratioof B:A:D = 10105
5:3:2
10
a-§131d
6.Xand Y are partners in a firm sharing profits and losses in the ratio of

is admitted as partner with 1/4 share in profit. Z acquires his share from X
intheratioof2:1.

culate new profit sharing ratio.
'Sol. Calculation of new PS. ratio.
Old ratioof X:Y=3:2
Z's share =1/4
Z's acquire this share from X:Y=2:1
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BoXsnew share = ==5 == —=2

i
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. 1.15 15
Z's new share 4115_60

So,new PS.ratioof X:Y:Z= 26:19:15
Q. 7. R and S are partners sharing profits in the ratio of 5: 3, T joins the firm
anew partner, R gives 1/4 of his share and S gives 1/5th of his share to the new
Find out new Profit-sharing ratio.
Given,R:5=5:3=5/8:3/8
R’s Sacrificing Ratio =5/8 x V4 = 5/32
$'s Sacrificing Ratio =3/8 x 1/5 = 3/40
New Ratio = Old Ratio — Sacrificing Ratio
R’s New Ratio =5/8 - 5/32 = (20 - 5)/32 = 15/32
S's New Ratio =3/8 — 3/40 = (15 - 3)/40 = 12/40
T's New Ratio =5/32 + 3/40 = (25 + 12)/160 = 37/160
Thus New Ratio =15/32 : 12/40 : 37/160
=75/160: 48/160 : 37/160 =75 : 48 : 37
Q. 8. Kabir and Farid are partners in a firm sharing profits and losses in the

Sol.

m his share in favour of Jyoti, the new partner Calculate new profit-sharing

Eﬂ of 7 : 3. Kabir surrenders 2/10th from his share and.Farid surrenders 1/10th

o and sacrificing ratio.
Sol. Old Ratioof K: F=7:3
Jyoti Gets =
Kabir New Share =
Farid New Share=
New Ratioof K:F:J=
‘Sac.Ratioof K:F=

S0,

2/10 +1/10=3/10

7/10 - 2/10 = (7 -2)/10=5/10
3/10-1/10=(3-1)/10=2/10
5/10:2/10:3/10=5:2:3
2/10:1/10=2:1

Q 9. Find New Profit-Sharing Ratio :
() R and T are pariners in a firm sharing profits in the ratio of 3: 2. S joins

tHe firm. R surrenders 1/4th of his share and T 1/5th of his share in favour of S.

between A and B would be 2:1.

. (i) A and B are partners. They admit C for 1/4th share. In future, the ratio

(1ii) A and B are partners sharing profits and losses in the ratio of 3: 2. They

it C for 1/5th share in the profit. C acquires 1/5th of his share from A and 4/

gshare from B.

and 1/6th share respectively.

(iv) X, Y and Z are pariners in the ratio of 3: 2: 1. W joins the firm as a new
partner for 1/6th share in profits. Z would retain his original share.

(v) A and B are equal pariners. They admit C and D as partners with 1/5th



(vi) A and B are partners sharing profits/losses in the ratio of 3 : 2. '
admitted for 1/4th share. A and B decide to share equally in future.
Sol. Case (i) : Old Ratioof Rand T=3:2

After S joining,
R sacrifice for S S,
5a ce for =‘5 4 20
_ 2312
T sacrifice forS = 5x5—25
New Ratio= Old Ratio - Sacrificing Ratio
3 3 12-3_9
R=5"20" 20 20
2 2 10-2 8
T=

1+2 15+8 23
20 25 100 100
9.8 2
2025100
45:32:23

= T=45:32:2_3

Case (i) : Let Total share of profit= 1
C's share= 1/4
Remaining share= 1-1/4 =3/4
A’s New share= 3/1x2/3=2/4
B’s New share= 3/4x1/3=1/4
C’s share= 1/4
New Ratio=2:1:1
Case (iii) :0ld Ratio= 3:2
C’s share= 1/5
C acquires from A= 1/5x1/5=1/25
Cacquires from B = 1/5x 4/5=4/25
New Ratio = Old Ratio - Sacrificing Ratio
15-1 14

A’s New share= 3/5-1/25= 5 25

B's New share = 2/5—4/25 = (10— 4)/25 = 6/25
C’s share= 1/5x5/5=5/25
New Ratio= 14:6:5 '




